P@tre ntiometer
V\Jwe N@ anJ




R

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8mm Size Micro Potentiometers

6mm Size Thin Micro Potentiometers

10mm Size Thin Micro Potentiometers

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 1



L ——

1; TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

11mm Size Metal Shaft, Multi-Ganged Potentiometers Page

2 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



ﬁ

F‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

9mm Size Metal Shaft, Multi-Ganged Potentiometers Page

3 With Insulated Shaft

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 3




ﬁ

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12mm Size Metal Shaft Potentiometers Page

12mm Size Potentiometers

L B G ___ | B N B R § I § 1 N\ "mgen e \ ~ P S W ___ W _

4 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



L

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

10mm Size Molded Case Potentiometers Page

ﬁ LLI Ll

12mm Size Molded Case Potentiometers

% AP

l

I

I L1

16mm Size Insulated Shaft Potentiometers

== o1

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 5



ﬁ

T‘ TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

16mm Size Insulated Shaft Potentiometers Page

16mmSizePotentiometers

- i g —

6 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




S ——

15 TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16mm Size Potentiometers Page

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 7



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24mm Size Potentiometers Page

e 123

27mm Size Metal Shaft Potentiometers

= U= 125

Stick Controller

12mm Size Dimmer SW. Potentiometers

L 4 4 4 4 135

16mm Size Dimmer SW. Potentiometers

8 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



15 TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17mm Size Dimmer SW. Potentiometers Page

Position Sensor / Encoder (15RS Series)

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 9



V‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

8Q Series Code Explanation
-1 F-X-B - Qoo

HHT T

1. Product Lines of 8Q ( 8mm Size Micro Potentiometers, Insulated Shaft )
2. Number of Unit:

8

1

1 —Single Unit
2 —Dual Unit
3. Vertical Type (V)
4. Type of Terminal (See Drawing 1) (Drawing 1)
Terminal Terminal Terminal
C (P.C.B Type) D (P.C.B Type) D1 (P.C.B Type)

2.2
3.4

Vertical f_,—u _
Hﬁﬂ (D) U U 12

Remark: If the terminal is different from standard type, special code will be advised on request.

5. Shaft Length

L Type of Shaft
L
1 A
F L
(Drawing 2)
_Type L
4.5
6. Type of Shaft: (See Drawing 2)
7. Type of Circuit
Single-shaft, single-unit Single-shaft, single-unit Single-shaft, dual-unit Single-shaft, dual-unit
(with tap) resistance taper JIS C
X 3 Y 3 X o3 ©) Y 3 ®
%—@ 2 40—%—@ 2 20% %—@@ ) % % -®
1 1 10@ 1 @
8. Color of Shaft Code B w

Color | Black White

9. Type of Taper (See Taper Chart Page 220)
10. Resistance Value
11. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 15



T

16

T

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

dmm SIZE MICRO POTENTIOMETERS

P.C.B Mounting Hole Detalil

1. 8 mm Vertical Type And Back-To-Back Mounting Type

Single shaft, single unit

Single shaft, single unit

Single shaft, single unit

HOLES

(with tap) (back-to-back mounting type)
3-g1 3-g1 3-g1
Dummy HOLES HOLES Dummy HOLES
90° 90° 90°
Y, Y, Dummy Y,
3 1 3 1 3 1
/?4.7 0 R4.7 4 0 194.4 0
N N Nl =
- — —
X—— X X ~ X X— £ -X
= } > f Ay i
12 Y 12 Y 06 YN
9 9 8 @45
HOLE
Viewed from Viewed from Viewed from
mounting side mounting side shaft side
i i Single shaft, dual unit Single shaft, dual unit
Single shaft, dual unit resistance taper JIS C (back-to-back mounting type)
3-g1
HOLES 3-1

8 24.5
HOLE
Viewed from Viewed from Viewed from
mounting side mounting side shaft side
8mm Size Micro Potentiometers
Applicati 8 mm size
ppiication Single unit | Dual unit
Total rotational angle 200+10°
Mechanical Rotational torque 10~100 gf . cm(reflow type 5~100 gf.cm)
characteristics | Rotation stopper strength 1 kgf.cm
Push pull strength 1 kgf max.
Total resistance 5, 10, 20, 50, 100 (kQ)
Total resistance tolerance +30%
Rated power 0.03W
*1
Max. operating voltage 50VAC 50VAC
20VDC
Electrical Resistance taper A, B, C, D{JIS)
characteristics Nominal total resistance Residual resistance
= .
Residual resistance R =50kQ 0.1% max. of total resistance
50kQ>R >10kQ 30kQ max.
10kQ =R 20k Q max.
Nominal total resistance Attenuation level
Maximum attenuation level R=100kQ 90dB min.
100kQ >R =50kQ 80dB min.
- )
For volume 50kQ >R =10kQ 70dB ml.n.
10kQ >R =5kQ 60dB min.
Druability Rotational life 10,000 cycles

Note:* The 8 mm size single-unit potentiometer with tap does not support DC applications.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




.

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8Q1V-C 8Q1V-D

Outline Drawing Features individual specifications
8Q1V-C
8Q2V-C 25 3-21.0
F A o0 [HOLES
o2 b o | DUMMY
V| ke X
t]j < * - ™ g )
O < Ny | c:' —
. —
8| x-y e« T} X A 4X
1 -] T J ]
0| i 0.6 Y/\
1.2 -
/ Y 3.2 8 4.5
HOLE HOLE
SHAFT SHOWN IN MOUNTING SURFACE P.W.B MOUNTING DETAIL

FULL C. C. W POSITION

8Q1V-D

8Q2V-D L ao 3-@1.0
. 00° OLES

Y Y DUMMY
T ~ fﬁ
'@ 5 T S N e,
§ X ) X = ~ |” | U|>/ . <
CO.15/ 08 s 4 5 S |

DEPTH 3.2

. Y I R
M1.4x0.3 v ' 24 9 ©
TH - 32 N ' 4] -

SHAFT SHOWN IN MOUNTING SURFACE P.W.B MOUNTING DETAIL
FULL C. C. W POSITION

FLAT SHAFT STYLE Unitmm
45
M1.4x0.3
DEPTH 3.2 SHAFT SHOWN IN FULL C.C.W POSITION
SHAFT SHOWN IN FULL C.C.W POSITION

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 17



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8P Series Code Explanation
8P 1 V-D - 16%1.7 B - A 10K - [ [ [
rrer T
1 2 3 4 6 7 8 9

5

1. Product Lines of 8P ( 8mm Size Thin Micro Potentiometers, Insulated Shatft )
2. Number of Unit
1 —Single Unit
2 —Dual Unit
3. Horizontal(H) Type or Vertical (V) Type
4. Type of Terminal ( See Drawing 1) (Drawing 1)
P.C.B Type P.C.B Type
D D1 B Bl
&Y o == #0 (o] T
Vertical i Horizontal
: 6.5
2.5 25
| | |

Remark : If the terminal is different from standand type , special code will be advised on request.

5. Outside Diameter * Thickness ( See Drawing 2-1) ( Drawing 2-1)

@ | 10 12 15 16 20

T 1.7 2.0 0.9 1.7 3.0

]_L.A
(T,

Code D E C B A

S 60-6° | 30-12° [100-3.6°| 120-3°|144-2.5°

6. Axis Teeth Angle : ( See Drawing 2-2) ( Drawing 2-2)

7. Type of Taper ( See Taper chart Page 220 )

8. Resistance Value
9. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8P1V-D 8P1V-D1 8P1H-B1

Outline Drawing
8P1V-D 6.2+0.3

/ﬁﬂ $ﬁ
o g :

%

il
A % e
216.0
T

. 0.3+0.05
74 |5

@}
0.6:0.05 HI.IH ! 5.0_| \a-g1.00”
1.7 22 :
5.0
pyn P .C. B MOUNTING DETAIL
8P1V-D1 S 8.2:0.3
5 7] 25

! Ewi IR
M

] 0.3+0.05
74 |5

I @ 1’
. 0.6:005 | ||
5.0
85 P .C. B MOUNTING DETAIL
8P1 H_B 120-3° 3.2+0.2
6.2
0.7
~r ] o
é ? < +0.2
° ~ IS 5.0 |\3-@1.2 -0
®
P .C. B MOUNTING DETAIL
© 1.7 Tr
»qu ® —’I—L‘ 0.9+0.05
] 0.3+0.05 50
8.5
8P1H-B1 32102 6.2
i ]"’ 0.7 .
i /AN
=
Q 0 ¢
0 ~ IN]
S S g h 50_|\s-g1.26?
S e|||e
1.7 B ] r’ P .C. B MOUNTING DETAIL
0.9:0.05
|l 032005 o
85

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 19



)

20

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

6P, 10P Series Code Explanation
10P 1 SV F-D-J16*2 Y - A 10K - OO0

1 2 3 4 5 6 7 8 9 10 11 12
1. Product Lines of 6P , 10P (6mm ,10mm Size Thin Micro Potentiometers, Insulated Shatft )
2. Number of Unit
1 — Single Unit

2 — Dual Unit
3. Switch : S - With Switch ( Only 10P Dual Unit)

4. Horizontal (H) Type or Veritical (V) Type (See Drawing 1)
5. Type of Frame
F RLatie e aie i
(Standard) 10 v 10 /

6. Type of Terminal (See Drawing 1)

B (P.C.B Type) D(P.C.B Type)
Horizontal Vertical
Single Unit Dual Unit Single Unit Dual Unit

=

1 2 3

123 102239

Remark: If the terminal is different from standard type, special code will be advised on request.
7. Color of Shaft

Code Blank I \Y DG
Blank-Black (Standard Type) Color Black |Dark White| Ivory Dark Gray
8. Outside Diameter * Thickness (See Drawing 2-1) (Drawing 2-1)
(8 TR S R ) No.1|2|3|5|6|4|7 |89
1 %%‘E% Q’@%é _|19P @ | 16|14 | 18 [16.8) 17 [19.5( 20 | 16 | 16
1
© 0 T 0 r 2 T 1, 2, 25, 28 2 | 28
] 4
) ﬂ Q@I $p 2] 105 10.3 9.5
! Z T 1.2 1.4 1.65
9. Axis Teeth Angle (See Drawing 2-2) Codel v X 7
10. Type of Taper (See Taper Chart Page 220) o | 7259 90-4°|30-6°
11. Resistance Value _
12. Serial No. (Drawing 2-2)

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

10P1HF-B 10P1VF-D
%)

5]
@@
|
€
c
8
10

TERMINAL ARRANGEMENT

10P2VF-D

TERMINAL ARRANGEMENT

. O ([ I O
RzZ1 2 3 1 2@ @ 3@
(C Taper)
Mechanical Characteristics:
Total rotational angle 270°+5°
Rotation torque 1~10mN.m (10~100gf.cm)
Push pull strength 10N(1kg)
Rotation stopper strength 5N(0.5kg)
Electrical Characteristics:
Total resistance 5K -250K(2
Total resistance tolerance +20%
Resistance taper A B, C

Rated power

Curve B: 0.03W
Other than B: 0.02W

Max. operating voltage

Curve B: 50V
Other than B: 50V

Residual resistance

Between terminal 1-2:10Q2
Between terminal 2-3:10Q2

Insulation resistance

More than 100M() at DC 100V

Withstand voltage

AC 100V(1 minute)

Gang error

-40dB to 0dB = +3dB

Durability:

Rotational life

10,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

21



N

2 TOP-UP INDUSTRY CORP.
' http://www.top-up.com.tw

6P2HF-B 6P2HF-B(1) 6P2VF-D 6P2VF-D(1)

Outline Drawing
6P2HF-B

Features individual specifications

30°
2
X<
5
S
2

NOILISOd MDD 11N

T 114|165
D [10.3] 95

2.5+0.2 n
T2 E ]
N
o &
a S
< 7.3 z
o - -l» @
= o8 o A; —+— &
= %) T |
5 o
© % I~
e Cc.W 4
1+ -
(=]
N
1.65]
[D 103
C.
-
Z
F ¥
e} [ =
o N CIRCUIT
157 S 73
o 3
(2] @D
= N any
o) © N N
z Q
o
© [~
& =)
T [14[165] £
3-0.7 —— o~ 41 |2 42
0 D [103] 95 | ® >
4.0
6P2VF-D(1) cw.
N
7.3 15 2.5+0.2 I
P o— ANANAN—

f
N
e
N

C0¥L

Sy
\ o'vd
0T
%a
N,
I E%P“W
R T2 o / \
7\
N
NOILISOd MDD 11N

TL

0z

AN
Q
o
— ©o
.
T
=X
(]

FIRET
3.25 2
9.5

T [14]1.65

i
40 [0 [103[ o5] o

R~
hi
2

22 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

F

10P1HF-B

10P2HF-B

10P1VF-D

~
s
-~
~

10P2VF-D-14*1Y

Outline Drawing

Features individual specifications

10P1HF-B P.C.B MOUNTING SURFACE
72x5° 2.5 2.5
1.0
| 3 2_@1‘4*:8'1 10+0.1
~ 123
¢ - €
€ s E ol ® 0
— ] 8 V¢
203 {1t 2 3 3
8.0 @
o ]r W 10.0 s E
o 306 ’ 303 270°ROTATION
1(1)27 : 72 TEETH KNURL -0 P.C.B MOUNTING HOLES DETAIL ~ SINGLE UNIT
10P2HF-B P.C.B MOUNTING SURFACE
—
43125
72x5° 28 |
° 2.01.4°8"  10s01
c = c 10 @ ©® 2 3
ofCc [ N o
€ R 8| L < <L 1 e
<t
2:0.3 ®®f 36 ®
- A S E
o 8.0
© el 50 10 270°ROTATION
107 72 TEETH KNURL | ol 5703 P.C.B MOUNTING HOLES DETAIL DUAL UNIT
10P1VF-D P.C.B_ MOUNTING SURFACE
3.5 2.5 +0.1
72x5° 2 2:01.4 -0 10+0.1
e €
- o 123
o o €
€ © o &
¢ [T T = ol 2
8
% o 2 3,
203 1 2 3||| 306 ~ H
8.0 3-21.09Y | 80.1 s E
£ 10.0 - 270°ROTATION
10.7 72 TEETH KNURL |28 S P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
[$2]
-D.14a%
10P2VF D 14 1Y P.C.B MOUNTING SURFACE
25 -—25 101
79x50 n 2-91.4 9 10+0.1
— T ¢
3 ©
£ o €
[ R AR RRAR RN ] S o 1@ @ @ 2 3
IS I R Y )
203 £ ot 5-0.6 0 ® ﬁ @ )
el ~ 5-01.010Y [ 4] !
8.0 8+0.1 Se==E
40 - 270°ROTATION
72 TEETH KNURL 2.5 E P.C.B MOUNTING HOLES DETAIL DUAL UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

10P2SHF-B 10P2VF-D-16*2.8Z 10P2VF-D16 10P2SVF-D

Outline Drawing

10P2SHF-B 21
19.240.05 s
718
4.7
N
:l' <
. \\/Z }\ 2-1.2 91 _E “:?
0.35
6-0.65 oL>
0.3 1.5
25 4.1:)9'115 10
2.8+0.1
\\ . = +0.2 ! _-l'_- ! _E-
- 2-%1.2.0" Hole 1 F
0 M ! ' ' [}
R Al S | ~
X ' 112121313
2 +0.2 1 49_4} )
4 5-@0.8-0 Hole ‘ | 4 | ‘
| sal .8
10P2VF-D16 ¥ W s 3
n o [ | =00 10
S & =
Z\ T S‘L — ‘2- 2-1.2'§2 Hole —XP SP ATy
\Q o = . . =
4\1&%-:1 0 L g o .1_/\/\/\/\/\/\/\_3.
2} C 1] = 6-30.8 92Hole 2
0 = 1 3 00
L— ~ = —/VVWWWN—
= 11112121313
Li_Hg \ At
R = 2
4 Ll oss gl 2 |.‘8_|
8
10 10
12,6
10P2SVF-D____ = 5
19.2+0.05 E]
@18 1.5
29.8 2 28

| 13],
o1
o2

1
4.75| 4.75
N
= w

.
2 || N . _
o1 | 6-00.857" HOLE
20127 K// : 2 bl
~ PPTeP
o B—"® 112233

104 —HFEE2 _.ll_

24 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




L

T

9PA 1
T
1 2

9P Series Code Explanation

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

_T_

10

A 10K - 1C - O[]

o ow e

1. Product Lines of 9P ( Snap-in Insulated Shaft , 9mm Size ):
Please refer to the Frame Code (LB) shown as Drawing 2
2. Number of Unit
1 — Single Unit 2 — Dual Unit
3. Horizontal (H) Type or Vertical (V) Type (See Drawing 2)

4. Bushing 5
With Bushing - B B Ft (Drawing 1)
rawin
Without Bushing - Blank (Standard) [ g
L._\MQ*OJS
5. Type of Terminal (see Drawing 2)
6. Mounting Height (H) (See Drawing 2) (Drawing 2)
B (P.C.B Type) ﬂ ﬂf D (P.C.B Type) |
Single Unit (Without bushing)
Horizontal Vertical
LB L LB
B Ly L
=y H— =1
f | ¥u_l
T N —
j{ } | 35
LB |08 |16 |50 H | 65| 10 | 125 LB / LB 45 108 |16 |5.0
Code| PC | PB | PA |[|Code| W | X Y Code PN Code | PD |PC | PB | PA
Dual Unit (Without bushing) Single Unit(With bushing)
Horizontal Vertical Vertical Horizontal
L
LB LB
B
T =] —
T
. , ) 1 ) l
i SRS
— = 32 35
LB |45]08 |1.6 |5.0|| H |6.5]10[12.5| LB |45| 08|16 | 50| o 0 H |6.5]10 |12.5
Code| PD|PC |PB| PA ||Code| W | X | Y |Code| PD| PC |PB| PA ' Code| W | X | Y

Remark: If the terminal is different from standard type, special code will be advised on request.
7. Shaft Length "L" (See Drawing 3)
8. Type of Shaft (See Drawing 3)
9. Color of Shaft: B - Blank , G-Dove Gray (See Drawing 3)

25

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



F

26

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9P Series Cod

Explanation

e
9PA 1 H B -B X -20 F O- A 10K -1C - OO0
1 2 3 4 5 6 7 8 9 10 11 12 13
10. Type of Taper (See Taper Chart Page 220)
11. Resistance Value
12. Number of Clicks: Blank-None, 1C-Center Click
13. Serial No. (Drawing 3)
Single Unit
Horizontal Vertical
L L
]
e
=
—b
K - Type KA - Type
T 7
——" @ R ==
KNURL 40 TEETHX SHAFT SHOWN AT KNURL 24 TEETH eI
L 15 20 25 30 35 . 20 - 30 35
T 6 7 7 7 7
Shaft Color || B || Blank Shaft Color || G || Gray
KX - Type F - Type
T rL» V(o '500
- ® -
{ Q S
KNURL 40 TEETHY\ R Y SHAFT SHOWN N
L 9.5 15 20 L 15 20 25 30
T / 6 7 F 6 7 12 12
Shaft Color | B | Blank Shaft Color | B | Blank
Dual Unit
Horizontal Vertical
L L X
— | @1
K- Type F - Type
T F ) 500
t ™
om——— 45
C o -8
MURLAD TEETHY, Seies OSINON BT it o
L 15 20 L 15 20 25 30
T 6 7 F 6 7 12 12
Shaft Color || B || Blank Shaft Color || B || Blank

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9mm, SIZE SNAP-IN INSULATED SHAFT POTENTIOMETERS

Common Specifications
1.Mechanical Characteristics

Application Single-unit block Dual unit
. 280+5°
Total rotational angle 280+5°
300+5°
Rotational torque 10~80 gf. cm
Rotation stopper strength 3 kgf. cm
Pull-push strength 5 kgf max.
Shaft inclination o
Within 0.35mm

Measured at the tip of the shaft

Shaft wobble 0.8xL/20mm p-p max.

2.Electrical Characteristics

Application Single-unit Dual unit
Total rotational angle 500Q~1MQ 50~250KQ
Total resistance to lerance +20% +30%
Resistance taper A B,C,D E K W A, B,C,D
Rated power 0.05W 0.03wW
) 50V AC 50V AC
Max. operating voltage
20V DC For A.C. only
R=1k 30Q max.
Residual resistance
1kQ <R =100kQ 100Q max.
5kQ <R =100kQ 300Q max.
100kQ <R =500k 500Q max.

For volume 500kQ<R =1MQ 1kQ max.
Slide noise Less than 100mV
Gang error Within 3dB at-40 to 0dB

Insulation resistance 100MQ min. at 250V DC

Withstand voltage For 1 minute or more at 250V AC

3.Durability

Rotational life 5,000 cycle 10,000 cycles

Maximum Attenuation Level And Insertion Loss

Resistance range Maximum attenuation level
5Q<R =10k 60dB min.
10kQ<R=50k 70dB min.
50kQ<R =100k 80dB min.
100kQ=R 90dB min.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 27



.

2 TOP-UP INDUSTRY CORP.
' http://www.top-up.com.tw

9PB1H-BW 9PC1H-BX 9PC1H-BY

Outline Drawing Features individual specifications
9PB1H-BW
6.8 1.6 9.8 So
I N b 8.2
i w] TNO & 2-1.8%92
[Te]

45_
6.0
f

3.3

23
3 L N
* P_/
of TH N 321.0'9%/| 5.0 %
ISe) ] ™
2.0 (0.8) S E
24 | = P.C.B MOUNTING HOLES DETAIL

NOTE: AVAILABLE MOUNTING HEIGHTS 280°ROTATION

SHAFT SHOWN IN
MOUNTING HEIGHTS H=6.5 ONLY FULL C.C.W POSITION (H):6.5mm,10mm,12.5mm SINGLE UNIT
9PC1H-BX
L+0.5 o 9.8 N
6.8 0.8 5 so
< wl [O_L O] by 8.2
d— S 5 f]\ Q 2-1.8"32
&J f ] = 23
o c D 9 O o3
—
1 r W w 301.09%/| 5.0 %
H 0 N s E

wl m.t
™ L (32) 0.8
2.0 50 P.C.B MOUNTING HOLES DETAIL

2.6 (0.8) SHAFT SHOWN AT NOTE: AVAILABLE MOUNTING HEIGHTS ~ 280°ROTATION
CENTER POSITION (H) :6.5mm,10mm,12.5mm SINGLE UNIT
9PC1H-BY
L+0.5 «
6.8 0.8 98
(V]
N r Q?
o—h & 0 10 = 82
N\ & 1. 218%2
i KJ —B j 23
o ] D = 5!9 do O O — f‘
S L/ & v | o
o g 3-21.0%02/| 5 %
Sl AUV s €
0.8
2.0 50 P.C.B MOUNTING HOLES DETAIL
' 0.8 '
24 fr8 ©8 SHAFT SHOWN IN NOTE: AVAILABLE MOUNTING HEIGHTS  280°ROTATION

FULL C.C.W POSITION (H):6.5mm,10mm,12.5mm SINGLE UNIT

28 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9PA1V-D-LFFT 9PA1V-D 9P1VB-D 9PB2H-BL]

Outline Drawing Features individual specifications
9PA1V-D-LFT
30.0 10.6
@6.0
68 _ 50 120 |/ 28 18 S
o / 0.8 b =i 3
N = @@ o J
o T 0l . x_pl ﬁ% hx ~ 2
< | [l HR ==y |
S~ 1
1 ST 25 3-91.0
Eg 0| 3 %FF{ 50 | HOLES CIRCUIT
RN 12 3
N\ MOUNTING SURFACE v
P.C.B MOUNTING HOLES DETAIL
9PA1V-D o
38 L+0.5 9.8 -~
5.0 o § N 10.6
| | ~ " @) O 2-1.8 3
3| s E LHEH Tt
o K N
~ ﬂ:lz O O
T 1 ) T J /
35| 68 0.8 5.0 3-21.0 5.0 s E
SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
9P1VB-D

2-2.1

=D

) L+0.5 o0
68 50 10.0 y 10.6
| 218

26.0 H 3-@1.0 / 5.0
35 M9X0.75 5.0

23

D)
[

(7
D

37| 84 SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
9PB2H'B|:| 6.8 1.6 98
2-2.1 @)
d—D! w] XO_LO 5-@1.0 l ®
| S 0 N + HOLES o_m
nt © k o ©) 3
T o 1 8 K = 3l @ 1o )
N (- Y @) O 0| N ol L2 I
© 0 | N
™ L (a2} (1] 0
N
2.0 0.8 | 0.8
2.4 5.9 | 5.0 33 2.5 s E
7.4
w x
280°ROTATION
- H |e5[10[125 SHAFT SHOWN IN
MOUNTING HEIGHTS H=6.5 ONLY [_H_[6.5[10] FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 29



B

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9PD2H-BL] 9PB2V-D 9PA2V-D

Outline Drawing
9PD2H-B[]

L+0.5

Full C.C.W Position
4.5 9.8

2-2.2'92

s

0.0!
@6.0191

|_ 2-1.8%57
YA ’

.

ey

2.53.3

6.8 0
E _29%%10
mﬁ:: wz 3, 8.2
’: 5-@1.05° Hole 20_'

\ 1.2C ) '@'
] __ail
; )
o :l H{ H \< 5.0 °
2.0 25 < 0.8 Il
o
3.3 3 \—5-0
24 o 12,5 ]
- 10.6 2
N
114 & 218 3
38 (6.8) 1.6 9.8
7 t N E 3
s ol ([0 1 O
L' o 0 S 2
ol o | < m 0 O3 ®
©| N —\_LI—.I Q O &J o
2| 1@
O @) .
N T 5-21.0 / : 0
A3 (0.8) L |_| HOLES 5.0 o S E
3.2 MOUNTING SURFACE SHAFT SHOWN AT 280°ROTATION
CENTER POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

9PA2V-D

o
11.4

38 (6.8) 5.0 9.8 d 10.6
N | 218
D _ O |
117 d = H g
S E

N

2-2.1

w

L
5.5

w

7.0

N

6.0
2.0

6.0
[

O =
- O €]
Y o

R REES
| | (0.8) ﬂ%}ﬁ 5-@1.0 2.5

25

HOLES | 59

35 SHAFT SHOWN IN 280°ROTATION
ﬁ MOUNTING SURFACE FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

30 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

7PR1VB-D-HF

9PR1VB-D

9PR1VB-D1 9PM1VF-D

Outline Drawing
7PR1VB-D-HF

4.65

7.0

5.2

3.0

0.4

=Y

4

3.5

o5

FULL C.C.W POSITION

4.0

FULL C.C.W POSITION

10.0

9PR1VB-D
5.0
9 €
9PR1VB-D1
10.0
15.0 5.0
i | . z 8
9PM1VF-D
=lE 1
5 }( 8

Features individual specifications

3-00.85Holes
@2.5Holes N
Vo
L«
- -o—5
—
4.65
1 2 3
CIRCUIT
CODE|BLANK| 1 | 2 | 3

3-@1.0HOLES/. 123

ANGLE| 180° | 200°| 280°| 310°

CENTER

R1

.2'5 29 CIRCUIT

CENTER

L)
&
~

A
~
3-@1.1HOLES 123

2.5[2.5 R1
" CIRCUIT

435 | 435
2-@1.0Hole
ir
3-@0.9Hole i
NS
25|25

6.1

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 31



32

)

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

11PM,12PM Series Code Explanation

1PM1 H B F-B-15 F -A 10K-1C -O0O0O
B e o e R R B
1 2 3 45 6 7 8 9 10 1 12

Product Lines of 11PM, 12PM ( Metal Shaft 11mm, 12mm Size)
Number of Unit: 1 — Single Unit 2 — Dual Unit
Horizontal (H) Type or Vertical (V) Type

P WD

Type of Bushing

B

5
®)

Bl
\M7*0.75

5. Type of Frame "F"

6. Type of Terminal

P.C.B Type
Horizontal - Vertical
B ‘—U D
ﬂ Tj . 32

7. Shaft Length "L"
8. Shaft Type

L
=F-]
Type - l_[

15

9. Type of Taper

10. Resistance Value
11. Number of clicks
12. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

75 TOP-UP INDUSTRY CORP.

. http://www.top-up.com.tw

1T1PM1HBF-D 11PM1VBF-D 11PM2VBF-D

Features individual specifications

Outline Drawing

11PM1HBE-D o
[ 11.0
8
1% 15.0 o 5.4 N : 37'5 MOUNTING
5.0 7.0 | v 8 » < & . SURFACE
M ! Pl o .‘ DUMMY 3
iy o m § o © T | DPUMMY
_ | 91 8 ] \ —02
i m \K il o 0
o ol — ~
S \ \ c1 Bl Jo S 9
(1 ML | ' CIRCUIT
LU . REE 4-31.0 —
o N _E 2-2.1 HOLES
0.8
2.0 , 1.6
: P.W.B(T=1.6) MOUNTING DETAIL
26_6.1_| 9.4
| SHAFT SHOWN IN
FULL C.C.W. POSITION 12.0
11PM1VBF-D
Y 11.0
10.5 15.0 8.0 - 130
5.4
5.0 o —
o — 70 | 2 e M
o Q; © - 3
m S © :J\ﬁ\ i o
o 2 . o .
S H 8 H \E§ 3l o 20 DUMMY S -
B o 0\~ 123
\ 3 Lol I
=1 C1 (o))
| M7%0.75 l Jl 2. poLo 1
I_I_I L[_I L[_I I_I_I 7.5 HOLES CIRCUIT
3.2
MOUNTING SHAET SHOWN IN FULL PW.B MOUNTING DETAIL
35 SURFACE C.C.W POSITION
11PM2VBF-D
& 11.0
10.5 15.0 8.0 : 13.0
5.4
5.0 o — 303
2 — b T =
s I
m © :]\ﬁm I o
o o o >
4 r . . o & .
S t g i &% 1 g 3 20 o @ 5 @ 2
B o N AN @12 3
b c1 p o - OO+
| \M7%0.75 l Jl 25 |\ ABLo 1@
|_]_| L|_| L|_| |_]_| 7.5 HOLES CIRCUIT
3.2 OUTERRID2®B
MOUNTING SHAFT SHOWN IN FULL INNER R21 2 3
35 SURFACE C.C.W POSITION PW.B MOUNTING DETAIL
33

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

1; TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PM2HBF-B 12PM2VBF-D

Outline Drawing
12PM2HBF-B

o2 12.0

10.5 15.0 g'g 33 600

7.5

6.0

2.0

11.0
9.6
8.0
H i I;/ ™
\L
@
=]
6.7
12.2
@D1(23@—
P.0
6.0
10.0

|

[
K 45
=

10.0

ik :
/,_— % \M ﬂr . - OUTEI;R
o :Z—H_:E ﬂl{WW‘ﬂR 21 INNER F

20 06111 P.W.B MOUNTING DETAIL

11.4
145

26_6.1_|

SHAFT SHOWN IN
FULL C.C.W. POSITION

—02

)
@o—'jw—o@
PO—/MWM—O W

CIRCUIT
12PM2VBF-D
S 13.0
—
L
& 11.0 0 o
: i
10.5 15.0 8.0 - .
5 0 54 AD—D--D LD
. 7.0 . ouT
o —
o < o™\ G ] 6.0 INNE
S H © . 0 o @ 10.0 6-¢
8 TT Q &){ [T S
E {J— A\ e P.W.B MOUNTING DETAIL
—
= \ \ Cc1 ) ] S
| M7*0.75 J

J IR IR ® 3
3.2
MOUNTING SHAFT SHOWN IN FULL @o 02
3.5 SURFACE C.C.W POSITION
@ 1

CIRCUIT

34 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

11,12,14P Series Code Explanation
12PLOJ 2 HOBFA-BO -15 F - A 10K -1C -O0O

1 2 3 4 5 6 7 8 9 10 112 12 13 14 15
1. Product Lines of 11P, 12P, 14P ( Snap-in Insulated Shaft , 11mm, 12mm, 14mm Size)

2. With" LED " ( Only 12P Series)
3. LED Color ( Only 12P Series)

Single|Code| B R ) A L w
Color | Color| Blue | Red | Orange |Darkorange | Lawngreen| White

Dual |Code BL RL BO
Color | Color| Blue |Lawngreen | Red |Lawngreen | Blue | Orange

4. Number of Unit: 1— Single Unit 2 — Dual Unit
11mm Size — Only Single Unit

12mm Size — Single and Dual Unit
14mm Size — Only Dual Unit (Drawing 1)

5. Horizontal (H) Type or Vertical (V) Type

Horizontal Vertical

L
LB

Without LED With LED l 1
B B 5B T
- : - ot %} :
@ E A @ Code| F FA |Code| F FA
M9*0.75 PN\ M9*0.75 M9*0.75 H | 10 |125| LB | 8.1 | 115

7. Type of Frame "F" (See Drawing 1)

6. Type of Bushing

T

H

8. Type of Terminal

B ,B1 (P.C.B Type) ﬂ ﬂf D (P.C.BType) — 7 [

11mm Size 12mm Size 14mm Size

Remark: If the terminal is different from standard type, Special Code will be advised on request.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 35



I

V‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

11,12,14P Series Code Explanation
12P L 2 HOBFA-BO - 15 F - A 10K -1C -00O

B e et A

36

10 11 13 14 15
9. Circuit explanation
11mm Size
A Single Unit B For High - Cut Tone
3 3
soFop O B SR B8
Do PR
1 1234 1 Dumm
1 2
14mm Size
E Without Tap For Vol.| F With Tap For Vol. G For Tone
D ® ®® 3
ummy 2 Dummy
EI | (|
205 02 go0boos @0 A -4 E'
®2<§§%L 4C1DZ®3®@ %f?@s@
1 Dummy
T @1
10. Shaft Length "L"
11. Shaft Type
L | L
F
p %:D
I-F_ l.F._
L 12.5| 15 [17.5| 20 |22.5| 25 | 30 L 20 225 | 25 275 | 30
F 7017 (1212|1212 |12 F 7 7 7 7 7
L L
K ! \
KT Type
(Transparent)
L 15 | L] 225 ]
12. Type of Taper (See Taper Chart Page 220)
13. Resistance Value
14. Number of clicks
15. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




I

TOP-UP INDUSTRY CORP.

F

http://www.top-up.com.tw

11mm, 12mm, 14mm, SIZE SNAP-IN INSULATED SHAFT POTENTIOMETERS

Common Specifications
1.Mechanical Characteristics

With bushing

0.7xL/30mm p-p max.

11 mm size 12,14 mm size
Application )
Single-unit For high -cut Dual unit
tone
Total rotational angle | 300+5° 300+5°
Rotational torque 30~200 gf.cm 30~200 gf.cm
Rotation stopper Without bushing 5 kgf.cm
6 kgf.max.

strength with bushing 6 kgf.cm
Pull-push strength 8 kgf max. 8 kgf.max.
Shaft inclination
Measured at the tip Within 0.35mm Within 0.35mm
of the shaft

Without bushing Without bushing

0.7xL/20mm p-p max. 0.7xL/20mm p-p max.
Shaft wobble

With bushing

0.7xL/30mm p-p max.

Bushing nut tighting
strength

10 kgf.cm max.

10 kgf. cm max.

2.Electrical Characteristics

11 mm size 12,14 mm size
Application .
Sine-unit For hight -cut Dual unit
tone
Total rotational angle | 5kQ ~500kQ 5kQ ~500kQ 5kQ~500kQ
Total resistance to
+20% +20% +20%
lerance
Resistance taper A B,C D E K W A B,D A, B,C,D, E K W, M,N

Max.operating current

Rated power 0.05W 0.05wW
1mA.AC

Max. operating 50V AC 50V AC 50V AC

voltage 20V DC For A.C. only For A.C. only

Note:11 mm Size High-cut tone for Total resistance is measured when the shaft is turn fully CW.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

11mm, 12mm, 14mm, SIZE SNAP-IN INSULATED SHAFT POTENTIOMETERS

3.Electrical Characteristics

50kQ <R =500kQ 300Q max.

0.1% max. of

50kQ<R=100kQ 200Q max.

100kQ <R=250kQ

11 mm size 12,14 mm size
Application .
Single-unit For high -cut Dual unit
tone
R=10kQ 20Q max. | *2 R=30kQ 30Q max.
Residual resistance | 10kQ<R =50kQ 30Q max. | 5kQ<R=50kQ  100Q max.

30kQ<R=500kQ 0.1% max.

of total resistance

total resistance 500Q max.
For volume 250kQ <R=500kQ 5Q max (12mm only)
1kQ max.
Slide noise Less than 100mV
For volume control
within 3dB at-40 to 0dB
Gang error

For tone control

within 2dB at center

Insulation resistance | 100MQ min. at 500V DC 100MQ min. at 250V DC

For 1 minute or more
at 500V AC

Withstand voltage For 1 minute or more at 300V AC

4.Durability

Rotational life 15,000 cycles 10,000 cycles 15,000 cycles

Notes:

1.For volume control, measurement is made at max. attenuation and
insertion loss. For specifications, see max. attenuation and insertion loss.

2.Potentiometers of dual -unit type and for high -cut tone use are for the
exclusive use of alternating current. hence avoid using the potentiometer

in the circuit where DC voltage is constantly applied.

Maximum Attenuation Level And Insertion Loss

Maximum attenuation level Insertion loss
Resistance range
11mm Size 12,14mm Size 11, 12, 14, mm size
50 <R=10kQ 60dB min. 60dB min.
10kQ <R =50kQ 70dB min. 70dB min.
50kQ <R =100kQ 80dB min. 80dB min. 0.1dB max.
100kQ =R 90dB min. 90dB min.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

11P1HBF-B 11P1HF-B 11P1VBF-D 11P1VF-D

-

g
)
e
il

Outline Drawing Features individual specifications
11P1HBF-B (1*{5307\
11.0 £,

L
F
+0.1
‘ | 102 20
. N
E o 3 N] &
i | &) | B 5 A
ﬁ . : ] 123
’Jd 5 —— DUMMY s | E
. M9X0.75 gm”“rm”“k 4-21.0*82 25 @
. g | 0.8:0.1 7.5
= .16
26 33
300° ROTATION

SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

302
(12.0) 07
(8.5) 11.0

)
oo
| 7S

L
F
o 10.2 2
I S X S
i a3 -
s I E

(8.0)

10.9

3.5 _10.0
B

11P1HF-B

p ﬁ P '
S . 02 DUMMY
I :F—"— 4-@31.0 .0’ 25 ™
™), L
> i R |||| 0.8:0.1 7.5
N [ 1.6
26 33 © 94
- 300° ROTATION
SHAFT SHOWN IN FULL C.C.W POSITION _P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
302
-
. (120 2 13.0
11.0 0 r\i P
(7.5) |5.0 F 8-0.2 LI A
o 5.4 —= =
8 N — |4L| ;
P oA o ol P |l 123 S
o o 2| - - E
o E g~ 1 S 2 b q \DUMMY
° El e 3 4-91.0%9 25
i - S °
30 7.5
: 300° ROTATION
(3:5) SHAFT SHOWN IN FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL SINGLE _UNIT

11P1VF-D )
° 2 13.0
L S 287
NI =
o 81 _ F =
o o
1 ] 1 o
© 123
:;E 9 © S E
5 oV - ‘o \DUMMY
3 > o 2 4-91.0.g 25
9 i
| I‘n—' =l B 7.5
» 3.2 300° ROTATION
i 33 SHAFT SHOWN IN FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 39



B

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

12P2HF-B 12P2VBF-D

12P2HBF-B

12P2VF-D

Outline Drawing

12P2HBF-B ) AT
(7.5) |5.0 F 11|-0 §H° £
| " To =\ o 12.2+0.1 2-0
g_'—r o 1S o = = “
2112373
M/zx&w 2‘

Il 0.6

3.5_10.0
N
=
—]
3.2)
<
©
-é L
o
9
= “Ef
=€
P

SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

Features individual specifications

i

300° ROTATION
DUAL UNIT

12P2HF-B —-30:
12.1
8.1 F 11,'0 pai
s 4 eyt
| ©
1651 =

== vos 2112 3B m‘

T 680807/ |oxs=10 o
I 0.6

2X5=10

3.5_10.0
- b’t

N
)
=
(3-2)
—

&

2.6 3.3 "
6.0 300° ROTATION
: SHAFT SHOWN IN FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  DUAL UNIT
12P2VBF-D w0
L 12.1 -
2 13.0
o (75|50 _F 11.0 s ’— #91
2o | u oA
0 Af L S E
u q
T—E © ﬁ/ Iee) ;
o E li%—lz ; 3% L 211|233
—
— +0.1
|_“_|f M9X0.75 —%m 6-20.8 .0/ L__]2x5=10
(3.2) 300° ROTATION
(3.5) SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
[ 302
L 12.1 -
< 13.0
o (8.1) E 11.0 +;! 91
E | e = i
N —, /&) = 8 S E
B oo o
5 —H .
° B "174L 211]233
h +0.1,
b | 6-20.8"57 [2x5=10

32

SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

300° ROTATION
DUAL UNIT

3.5

40 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

F

12P2VF-D-LIFT

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PLCIT1H5BF-B

12PLLILI1VFA-D

Outline Drawing

Features individual specifications

12P2VF-D-LIFT
13.0
= o 11.0
8.1 12.0 - (: E
<
5 D /CO-5 ® Gh I o
o m —w S ’ / \ S 2.0 o ® 3
S 7 o X X
= - j( Q \ ) @D1i230 ® )
E m | ) o
N 15 o a8 of o 2.0
6-20.8 1
, o 6.0 HOLES c©c
IRCUIT
J L L L LT 10.0
392 Y P.W.B MOUNTING DETAIL
SHAFT SHOWN IN CENTER
OUTER R1
35 POSITION OR CENTER nedl 2 C?C??
CLICK POSITION
12PLLI1H5BF-B
15 12.0 )
8.0 7.5
7.5 5.0 THE POSITIVE POLE(+) 54 33 5
N oY iy 0
m m «© )
P 2 = % ol = CIRCUIT
N N @ ol = 2RV
b o Z/R of o o 2l ¢l S
o A
S \ - \co.5 i "N a o CODE| COLOR
4 M9*0.75 @3LED v\ el T
] N ( ] DUMMY B |BLUE
=1 |0 H_E D m m WQ 2.1 R__|RED
06 L | LAWNGREEN
2.0 14 P.W.B MOUNTING DETAIL A |DARKORANGE
bd 6 | SHAFT SHOWN IN : W |WHITE
: | FULL C.C.W. POSITION 14.5
LED COLOR
12PLCIOJ1VFA-D
13.0
— 13
(V]
22.5 THE POSITIVE POLE(+) 1
6.6 _ 5.0 =
N © o CIRCUIT
E al S 9y 2.0 - -
= g ®1!23@®
gl ~[Ai E 8 N Lep [ CODEILED COLORT A
. 5-0-010-6
e o bummy,/ ’ \ RL RED +
\\ 7.0 C0.5 6-30.8 LAWNGREEN
@7.1 : 6 HOLES BLUE +
‘ I BL
™ ] 10 LAWNGREEN
O' BLUE +
BO
- PW.B MOUNTING DETAIL ORANGE
' LED COLOR
3.5 coLo

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

41



——

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PLLITHBF-B 12PLLI1VBF-D 12P1VBF-D-LJFHT

Outline Drawing Features individual specifications

12PLJ1HBF-B
15 o 12.4
7 (82) 4
;
7.4 LED COLOR:
CODE | COLOR
= o ORANGE
! g Q§ o o B BLUE =
S ﬁ c & G GREEN = 1 m‘
M9x0.75 S ® 5
o == MOUNTING SURFACE 2 < © h
20 123 LED CIRCUIT DIAGRAM 2.1 5-01.1
. . 10 HOLES
SHAFT SHOWN IN FULL
C.C.W POSITION
12PLCI1VBF-D
80 140
7.4 15.0 12.4
i @ 13.2
. @ ©
70 LED COLOR:
—h— P CODE | COLOR 2 2
] 1 & o ORANGE )
= = -} CEERES SRF
—=- A= __ o O o9 R RED ~ =
-}\ 3' =3 N & i G GREEN N
< ¥
b \ S R X
35 M9X0.75 Al C |B @ —>—0 Ale® 5-01.1
5.0 5.0 HOLES

LED CIRCUIT DIAGRAM

SHAFT SHOWN IN FULL
C.C.W POSITION

12P1VBF-D-LIJFHT
Y !
L 18 14
: , 12.4
7 HBI'ZH 13.2
& 2 | [ 2
\____"IS_ ﬁ‘ g S - o3 ;l'__!______

?
|

\ & ¥-€>-
Mox0.75 228 1
5

MOUNTING SURFACE SHAFT SHOWN IN FULL

" " \ANDNACITINNI

3-91.1
HOLES

42 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

2 TOP-UP INDUSTRY CORP.

' http://www.top-up.com.tw

14P2HBF-B 14P2HF-B 14P2VBF-D 14P2VF-D

Outline Drawing Features individual specifications
14P2HBF-B 30
14’@ o
<
L 8.0t8.2 T
(75150 _F 5.4 2
9 %9
= 5 Z - +0.1
E Na—n ol 5] f 4 @] E o 14.3 2%
I i —
- o S <l h 0 3 = =t
S dT ! b= I 41020 300
B M9X0.75 e ~ S| E
L [32)
a1 I ol [[E| 3
~ 0.7+0.1 7-91.0"%°
y 8.0
2 = 13.5 12.0
2.6 3.3 (16.1) : 300° ROTATION
SHAFT SHOWN IN FULL C.C.W _POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
14P2HF-B . w "
(8.2) F 14.0 X
| ' 2
~ & 3 » .
_l_P © ] q (ZD g0
— —
o B h YL E ~ 14.3 291
) R
S 1® &3 ¢} 3
(| = Bi0:0:00°
2 T 2 ¢
) ~
e 2 0.6 . © S'E
N 2X6=12 7.210%02 | | 4 f"
26 | |62| € 135 21.0-0 8.0
16.0 120 300° ROTATION
SHAFT _SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
14P2VBF-D \ )
L 3 153
14.0 2 01
(7.5)|5.0 F 8.0 ——2
N - M
~ ||:r= e AN - = o
o p— i 4 © o
”5 a ) L:l %% tJ ~ 4102 @ 3R 3
2 e ep 5 ool | AT :
N
M9X0.75 G 7210 . 8.0
(3.2) 12.0
(3.5) 300° ROTATION
SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
14P2VEF-D :
2 153

30°
L L
(8.2) F 14.0

2.1%
_.l_l._
‘
N
|I\)+

9 . 5 5
% ) °
= ’| | N g
. i
3 i L B9 10293 $1E
= Eadl U [N o TTTaT
f P & o 7-21.0 o 8.0
12.0
3.2 300° ROTATION
(3.5) SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 43



)

44

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8M Series Code Explanation

8M 1 RS H[] B7 -B-20K-B 50K-OOO
rFTOUriimNboUonrTnm i\ |
1 2 3 456 7 8 9 10 11 12 13

1. Product Lines of 8M

2. Number of Unit : 1— Single Unit 2— Dual Unit,......
3. Type of Switch

RS__ " Rotary Type "

Horizontal(H) Type or Vertical(V) Type

Bushing Length : Blank -5smm(Standard Type)

With Bushing : "B" (Standard Type)

N o &

Bushing Diameter : Blank-Standard Bushing

5.0 5.0

1
= —n=:
1

Standard m
[[ \M6+0.75 |[ \M7+0.75

Blank 7

8. Type of Terminal

P.C.B Type ( Horizontal )
=

L

0.6

9. Shaft Length
10. Type of Shaft

F - Type S - Type
Q_FL O = u f@

Code 10F [15F7| 15 |Code 10S

L |10 |15 |15 | L | 10

F 4 7 |8

11. Type of Taper (See Taper Chart Page 220)
12. Resistance Value

13. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



.

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

8M1HB-B 8M1RSHB-B 8M2RSHB-B

Outline Drawing Features individual specifications
8M1HB-B
FULL C.C.W. POSITION 38 MOUNTING SURFACE
52405 L+0.3 7.7 " |
3-20.8
5.0 ol R HOLES\_-¢-
g 3 — 3
[T} 1 _ I_.
2 9
- - — - 3 MOUNTING HOLE DETAIL
| &
- F0.1 © 123
M6+0.75 = SHAFT LENGTH: R1
R1 CODE | 10F | 15F CIRCUIT
38 0.8 L 10 | 15
F 4 8
8M1RSHB-B
FULL C.C.W. POSITION
/ 50 _ 38
10£0.5 L+0.3 7.7 / 5-@0.8 : : MOUNTING SURFACE
50 o 3 HOLES
: ol & T : !
T ik T
1 Q| g . P T
A f @ B 2NN i o
. — — [ — [65)
/ @
; o g o 2 MOUNTING HOLE DETAIL AT Fusivgg(l:wggswwrl
i F+0.1 LS =
L | 123
M6*0.75 ! H !‘ = SHAFT LENGTH: 51
SwW R1 )
0.6 | CODE | 15F7 | 15F CIRCUIT
50 |38 0.8 2.0 L 15 | 15
4.0 F 7 8
8M2RSHB-B
FULL C.C.W. POSITION MOUNTING SURFACE
1205 L+0.3 7.7 /8908 Ajirﬁvl
o HOLES\
5.0 ol & ,_]_3%< b - — - - ——
ﬂ‘ ] 1 1
- 8 i o o 3 ;r'*”w“'% 5‘*”“"12
i o I B o o/o i i
- - - [ [65)
2 MOUNTING HOLE DETAIL SW CIRCUIT %ﬂ f %ﬂ f
e} ~ AT FULL CCW POSITION
[te}
! all F0.1 123 123
)l . o SHAFT LENGTH: R1 R2
sw R1l]- R1 Me*0.75 G
CODE | 15F7| 15F CIRCUIT
5.0 Iz 38 0.8 L 15 15
F 7 8

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 45



——

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

8M2HB7-B 8M3HB7-B

Outline Drawing Features individual specifications

8M2HB7-B

4

6-90.8 o
HOLES \_ o

6.85 L+0.5 7.8 |
ey BScs
|
: | 5 2
o B MOUNTING SURFACE
< § o >
235 [0 0 MOUNTING HOLE DETAIL
I: - < L0
T \ysoe T
” M7*0.75 ! u - bt SHAFT LENGTH:
0.2 | 0.5 CODE | 15F | 18F | 20F
2| 3.8 0.8 2.0 L 15 18 20
4.0 F 7 9 12
8M3HB7-B
FULL C.C.W. POSITION
905 10405 / 5 o 38 MOUNTING SURFACE
77/ 9-20.8 /
5.0 7 HOLES\. bbb
|
o l‘ _ :? @ 9 49‘49_ _+ <
o SKWN_ = Y-
‘E' - I - N L_ Q © SN ™
o ® i <) MOUNTING HOLE DETAIL
E ‘ 16 L) s
- T
|] |] |] M7°0.75 - U I s
R3||R2||R1 1 2() 3
0.6+0.1
I 2 | 2 | 3.8_| | 08 2:+0.1
4.0
1 123
1 R3
CIRCUIT

46 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

OM Series Code Explanation

T T T T IRy L
1234|f56|789101112 13 14 15 16 1|7 1é 1|9
1. Product Lines of 9M ( Metal Shaft, 9mm Multi-Ganged Series )
2. Type of Dual Shaft
3. With " LED " Code| O B |R | G
4. LED Color Color|Orange | Blue | Red | Green
5. Number of Unit : 1 — Single Unit 2 — Dual Unit,......
6. Type of Switch
RS— " Rotary Type " MS— " Momentary Push Type "
PS— " Push-Push Type (With Push-Lock)" PPS— " Push on, Push off Type "
NS— " Pull -On Type " Code |MS/PPS|MSD/PPSD
FS " Pull-Off Type " Switch Travel| 1.5mm | 0.5mm

7. Horizontal(H) Type or Vertical(V) Type
8. Bushing Length : Blank -7mm(Standard Type) , 9 - 9mm

9. With Bushing : "B" (Standard Type)

10. Bushing Diameter : Blank-Standard Bushing (See Drawing 1) ( Drawing 1)

Without Bracket Series Without Bracket "PS" Series
7 Standard Other 10 Standard
-2 &~ Type i T 2
(B) u,_- L \M7%0.75
b3 N\ _M7*0.75 3 5.0 _J_L: 0.8 3
_,Jﬂ 10.0 With Bracket Series
. Standard Other (EZ) Standard
(®) Type
'& (B) 4
3 5.0 \mo0.75
— N\ _me+0.75 Sl 10.0 _,]ﬂ

11. With Frame: "F"
12. With Tap: RT -Right Tap, CT -Center Tap ......

13. Type of Terminal ( Drawing 2)
P.C.B Type
Without Bracket With Bracket
Horizontal Vertical Vertical
B B1 B2 D D1
o 1 {
. b Tedofd |
0.9 — S I
0.9 = (INEES L_Ja0

14. Shaft Length (See Drawing 3)

15. Type of Shaft (See Drawing 3)

16. Type of Taper (See Taper Chart Page 220)

17. Resistance Value

18. Number of Clicks : Blank -None, 1C - Center Click , 11C - 11 Clicks
19. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 47



"' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

OM Series Code Explanation

( Drawing 3)

Single Shaft Dimensions and Styles (Without Bracket)

K- Type F - Type
KNURL 18 TEETH SHAFT SLOT IS L Y
5 ¥ T\ OPTIONAL ANGLE | B_. F S
— é |
I_ ] X X
A Te 2
E T—y _ 7
\M7X0.75 T1 ~ \M7X0.75 SHAFT SHOWN IN
L FULL C.C.W POSITION
; = < M L L 15 20 25 30
15 5 5 1 7
e : = : L B 5 7 10 10
25 10 12 2 11
30 10 12 4 14
35 10 12 4 14 F 7 12 12 12
H - Type
o Y
B - S
] 16 8
] [ X L 15 20 25 30
Y
<_M7xo.75 SHAFT SHOWN IN
FULL C.C.W POSITION B 5 7 10 10

Shaft Dimensions and Styles With Push-Lock Mechanism

F - Type
L B A F
25 10 (5.7) 45
| ©
< 30 10 (10.7) 7
SHAFT SHOWN IN
FULL C.C.W POSITION 35 10 (10.7) 12

Dual Shaft Dimensions and Styles (Without Bracket)

K - Type F - Type
L L
1 KNURL 18 TEETH n
ﬂ ! o B T| L
Q=L -
L O| oo |
e s s © B | ——
A ! T N '
7%0.75 Inne-shaft : ¢8.5 Inne-shaft : @6
M9X0.75 - outer-shaft : 96 outer-shaft : @8
L L1 B T T1 L L1 B T T1
15 10 5 8 9 15 10 5 4 7
20 15 7 8 9 20 15 7 5 8
25 20 10 8 9 25 20 10 5 8
30 25 10 8 9 30 25 10 5 8

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

OM Series Code Explanation

( Drawing 3)
Single Shaft Dimensions and Styles (With Frame )
F - Type
L
B L 12.5 15 17.5 20 25
—H——= B 5 5 5 7 7
T
[
7 \M9X0.75
|| os F 7 7 7 | 12 | 12

Configuration Chart

Outer Shaft
Bushing Control Inner Shaft Control Section

A Section

— Single Unit ————— Bal.

Sg;i%rtyShaﬂ { Dual Unit | Tone/Pre Fader
—{ Fader F———— 1.5W, 2.5W, 3.5W
——— single Unit —— Bal

—— Dual Unit ———— Vol./Tone

|| Inner shaft Vol. /Tone

variety —{Push Operation}——
Ba. /Tone
Vol. /Tone

Pull Operation

—[Pull_}———Bal. /Tone

— Rotary Type |
- {Switch  }———{Push-Push Type |

— Momentary Push Type |

—| Pull-Off Type |

—— Pull-On Type |

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 49



50

F

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9mm SERIES (WITH FRAME)

Products Specifications

Mechanical Characteristics
Total rotational angle 300+5°
Rotational torque 20~250gf.cm

Detent torque

Rotational torque +2~20mN . m 20~200 gf -cm

Rotation stopper strength

5kgf.cm

Push pull strength

8kgf max

Electrical Characteristics

Total resistance

5, 10, 20, 50, 100, 250(KQ)

Total resistance tolerance +20%
Rated power 0.05W
Maximum operating voltage 50VAC 5VDC

Resistance taper

A B,C D EK W

Insulation resistance

100MQ min. 250VDC

Withstand voltage

1 minute 100VAC

Durability

Rotational life

| 15,000 cycles

9mm SERIES (WITHOUT FRAME)

Mechanical Characteristic:

Total rotational angle 300°5°
Rotational torque 10~200gf.cm
Shaft stopper strength > 4kgf.cm
Push & pull strength = 10kgf.cm
shaft inclination = 0.35mm

Shaft wobble (mm p-p)

Within (0.7xL/30)mm p-p L=Shaft Length

Switch working angle

=<0.5mm(push on switch)= 50°(rotary power switch)

Switch working torque

=1.2kgf.cm(push on switch)= 500gf.cm(rotary power switch)

Electrical Characteristic:

Total resistance & tolerance

500Q < R<1MQ:+20%, other:+30%

Resistance taper

Refer to Standard Resistance Taper

Power rating = 0.05W
Max. operating voltage 50V AC 10V DC
Rotational noise =100mV

Insulation resistance

=100mQ at DC 250V

Withstanding voltage

1 minute at AC 250V

Tracking error For volume control

Within 4.5dB at -40~0dB

(Stereo)

For tone control

Within 2dB at 50% position

Durability:

Rotation life

=10,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

TOP-UP INDUSTRY CORP.

F
J

http://www.

9MP1HB-B

top-up.com.tw

9MP2HB-B

9MP4HB-B

9MP6HB-B

Outline Drawing
9MP1HB-B

FULL C.C.W POSITION

7.05 L+0.5 95
5.0 7.0 30°
2 g exas [/
| [ 2s 3! | 3
1H} o3 <
23
. S S 11§ i S—_ X X
8
n
@ o
0 \M7XP0.75 |18 TEETH KNURL h !
wn
|| osz02 J o
Y
5.0 08+0.1 |||
5
9MP2HB-B FULL C.C.W POSITION
9.55 L+05 95
5.0 7.0 30°
' 2105 0.8X45° IY\//
| ) 2
1| <
B o - —- 2 X+H{= X
©
8
0 \_M7XPO75 |16 TEETH KNURL
R2
R 0.8£0.2
03 J_|
5
25

9MP4HB-B

FULL C.C.W POSITION

17 L+0.5 95
5.0 7.0 30°
, 2105 0.8X45° ly
- 0
I )
1| STI <
I —— — °3 X X
©
8
1 U] { ‘
\ ©
0 \_M7XPO.75 |18 TEETH KNURL -~ . |
wn
R e R 0.8:0.2 Al 20 3 -
25| 50 |25| 50 osror ||| |
5
FULL C.C.W POSITION
24.55 L20.5 9.5
5.0 7.0
2.0 .
1 20 | 0.8x45
1| ST
-— - - N = o X
8
:,\ M7XP0.75
. s vl s RZ(1| 9 0802 L1BTEETHKNURL
25 50 |25 50 |25 50

Features individual specifications

0.8+0.2

i
|

6.0+0.2%

|.__.|

6.0+0.2%
[

x
0.8+0.2

2.0+0.1

pz )

Mounting Surface

{e-—!-

.\ 3-81.0°9 Hole

123
25 50 :

——l Mountin

_4)1 Surfa(:eg
o 1 - -

{Je—e—-T

0 _¢_ ! 1'2'3' 123
6-210% HOLES R2 RL

25 50 25 5.0

Mounting Surface
or b

&
S
12-91.0%8" Holes

123 123 123 123
R4 R3 R2 R1
25 50 25 50

'O
H__L

\ 18-21.08 Holes

123 123 123 123 123
R5 R4 R3 R2 R1

Mounting Surface

D

<
0

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

51




B

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9MLLI1H5B9-B

OMLLICITH5B9-B

9MLL] 1RSH5B9-B

O9MLLICI1RSH5B9-B

Outline Drawing

9MLL11H5B9-B
17.05 16.0:05
5.0 7.0 E}
S
fl [
1—] ;ngojs \CL-5
1" YLED RL 0
9.0 _|34| _.1l. 0801
OMLLIL1TH5B9-B
17.05 16.0:0.5
5.0 7.0 §
o
S|

\C0.5

-
M9x0.75
1" JLED R1

9.0 _[34]

9MLLI1RSH5B9-B

16.0:0.5

5.0 7.0

m:

@6.0:0.1

[ | ‘—-]_Y_

LED sSwW R1 0
3.4| _.ll.08-01
9.0 63 [T~
O9MLLICIT1RSH5B9-B
16.0:05

@6.0:0.1

m:

[ | ‘—-]T_

\C0.5

LED SwW R1

08701

9.0 6.3 [T~

Features individual specifications

9.0
10.5+0.5 3 o S
v o By 2 0
9 { 321.070"
o . %f\ XE LED COLOR: HOLES
o J o CODE | LED COLOR
Iﬁ Ie) ORANGE P.W.B MOUNTING DETAIL
© B BLUE TOLERANCES#0.1
R RED VIEWED FROM MOUNTING SIDE
G GREEN o
LED CIRCUIT DIAGRAM
9.0
10.5:0.5 3" 3 o
2" 2
Y LED COLOR: 1
w0 CODE| COLOR: | TERMINAL t 310"
o ©
%9 « 7N xS O | ORANGE | @ @ HOLES
2 B 5 SLUE ® o P.W.B MOUNTING DETAIL
;| TOLERANCES*0.1
S R RED VIEWED FROM MOUNTING SIDE
G GREEN
N ®
S @
o ©
LED CIRCUIT DIAGRAW
10550 9.0 6.3
\% o i 4 @
= LED COLOR: ) A P
[V} "
oS % o CODE | LED COLOR g & @
+3I? fan x— 0 ORANGE on
@ 2 5 1.0°0
3 B BLUE HOLES
b R RED P.C.B MOUNTING HOLES DETAIL
G GREEN
“!' 2"
o
LED CIRCUIT DIAGRAM
<!
10.5:0.5 2 20 83
\4 @ =« 0O
? 8 coLo @ or
| LED LOR: @
2 <~ ©
*gI: f\ b CODE| COLOR: | TERMINAL 3 551091
& O | ORANGE | © @ o HOLES
b B BLUE ® @ P.C.B MOUNTING HOLES DETAIL
R RED
q G GREEN @
0.9:+0.1 3 @
o (8}

LED CIRCUIT DIAGRAW

52 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9M1HB-B

9M2HB-B

9M3HB-B

9M4HB-B

Outline Drawing

OM1HB-B L
7.05 B T1
T o
— TEES
=] 1"
N \c1.0
M7x0.75

KNURL 18 TEETH

| os

SHAFT SHOWN IN
FULL C.C.W POSITION

MOUNTING SURFACE

Features individual specifications
5.0
-
34—
K —+

123
3-01.0

HOLES S E

P.C.B MOUNTING HOLES DETAIL ~ 300°ROTATION SINGLE UNIT

SHAFT SHOWN IN

FULL C.C.W POSITION

MOUNTING SURFACE
25 5.0
b —
ol b 123 123
5 oo— (R2)  (R1)
b —t
\6-01.0 H
HOLES I
S E

P.C.B MOUNTING HOLES DETAIL 300°ROTATION DUAL UNIT

SHAFT SLOT IS OPTIONAL ANGLE

9M2HB-B L
9.55 B T1
T o
I=0E
S 8
N \C1.0
M7x0.75 ~ \KNURL 18 TEETH
R2RT || 44
9M3HB-B
14.55:05 L
B T1
=
o
I—| o
— - e g
\ \ c1.0
M \M7x075 \KNURL 18 TEETH

|l 0802

R3 R2R1
9M4HB-B
17.05 L
B T1
T o
u =
f | o
_ |- - - —4 [p— ©
=) I ®
C1.0
- :'\M7x0.75 KNURL 18 TEETH
R4 R3 R2 Rf
0.8

9.5

@
| 4.85

|3.5]6.5:05

SHAFT SHOWN IN
FULL C.C.W POSITION

MOUNTING SURFACE

5.0 I2.5 5.0
- 123 123 123
: R3 R2 R1
8 & —-d; (R3)  (R2) (R1)
-
+0.1 g%
6-1.0-0
HOLES S E

300°ROTATION

P.C.B MOUNTING DETAIL
TOLERANCES #0.1
VIEWED FROM MOUNTING SIDE

SHAFT SHOWN IN

MOUNTING SURFACE

5.0

S E
300°ROTATION

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 53



I

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9M6HB-B 9M1PSHB-B 9M2PSHB-B 9M4PSHB-B

Outline Drawing Features individual specifications
9M6HB-B L
5 T SHAFT SLOT IS OPTIONAL ANGLE
1.0 5
24.55 Y 9
| 1.0 3 MOUNTING SURFACE
1 - 25 50_25 5.0 2.5 50_ y
A | - I | N === F f 1
1 S &-—- @ S R & 8 &
T1 { Nc1.o 3| o+ b--4 b - —-
- 7 \M7x0.75 S 9o —- o —F €¥}
KNURL 18 TEETH, 18-051 O+8.1
-0 - S E
R6R5 R4R3 R2RI
_ 1l 08402 HOLES 300°ROTATION
P.C.B MOUNTING DETAIL
SHAFT SHOWN IN TOLERANCES+0.1
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE
9M1PSHB-B PUSH STROKE
20.75 L
7 PUSH LOCK STROKE SHAFT SLOT IS MOUNTING SURFACE
5£0.5 OPTIONAL ANGLE 5.0 ~
10 _ 51205 | 7| KNURL 18 TEETH o7 il ~ 2
o 95_ 8§ = $ 3 !
05 2 & g[ T [V S
] B P s X_I_X_
‘ e 7
4— — —— XHE %-x 3-21.0-0 i
il HOLES vl
(32}
T \M7X0.75 70|\c10 S i P.C.B MOUNTING DETAIL 2.0:0.1
Ry & M35 TOLERANCES=0.1
0.8£0.2 (10.7) VAN VIEWED FROM MOUNTING SIDE LOCATING LUG DETAIL
0.90.1 o
9M2PSH B-B PUSH STROKE
23.25 L
PUSH LOCK_STROKE
$£05 /| SR 30
10 _ S1%05 o
T’/ KNURL 18 TEETH o5 /o MOUNTING SURFACE o 3
05 | — o Y & 25 & ©
T . Ié Al < S| XX
=1 ® 0
K . of 44
™ @ I
T ‘\wmxors | |zol\cto g 621091 2.040.1
R2R1 s HOLES
08:02 | (10.7) LOCATING LUG DETAIL
P.C.B MOUNTING DETAIL
SHAFT SHOWN IN TOLERANCES=0.1
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE
PUSH LOCK STROKE PUSH STROKE PUSH LOCK STRCKE
o g
39541 D / 1.5:0.5 SHAFT SLOT IS MOUNTING SURFACE 3 S
S+05 OPTIONAL ANGLE / pad
2.5 8.75 2.56.25 ol X X
, st105 N KNURL 18 TEETH -

=~ | T o 9.5 : lg %3 -3 /
05 3 & ”’[ 2.040.1
T f EL B 2{ P & 4 PP .00.
l o —— 5
) =
= (9]

+0.1
X X g +
i;j \ N 15!()@I:|E()S g LOCATING LUG DETAIL
a — —h
OIS LT4) N0 e P.C.B MOUNTING DETAIL

RAR3  R2RT 0.8:0.2 | (8.7) 123 TOLERANCES:#0.1
09401 9 VIEWED FROM MOUNTING SIDE

0

26

54 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

F
J

9M1HBF-B

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9M2HBF-B

9M1V5BBF-D

9M1VBF-D

Outline Drawing

9M1HBF-B

10.7

L

7.45 ! B

1
M9X0.75

1

o
==

45-0
+0
@6.0 0.1

3.5

i/

I—1

! F_|
+0
R1_ |l 0802

1.0+0.1

9M2HBF-B

12.4

L

9.15 !
2.5

_._|__/

|
B_ M9X0.75 o
° ¥

4.5-0.1
26.0-0.1

9M1V5BBF-D

3.5¢0.5 10+0.5

L+0.5

7.25 5 P

2.9

7.5

3.540.5 |

T

1
— g

M
al
_I \_M7XP0.75

0.8+0.2

Mounting Surface

9M1VBF-D

3.5+0.5

10+0.5 L

7.

45_| B M9X0.75 ¢

4.5-0.1
+0
©6.0.91

===

4 |

I

T
T S R1
o =

[ &
N

i
lE_
L 0894

MOUNTING SURFACE

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

6.5+0.5
4.85

12.1
10.7+0.3

YT

3.510.5

IR

1] 273
0.9:0.1 Y

L=

SHAFT SHOWN IN
CENTER POSITION

12.1
10.7£0.3

3.5+0.5

IR

1|l 273
0.9:0.1 Y

__6.5+0.5

SHAFT SHOWN IN
CENTER POSITION

FULL C.C.W POSITION

12.1+0.5

10.7+0.3
9.5

30¢

=

4.85

6.5

7.65+0.5

SHAFT SHOWN IN
CENTER POSITION

Y
SHAFT SHOWN IN

FULL C.C.W POSITION
N
o
(-'g Y +
XX S
P.C.B MOUNTING DETAIL or M
VIEWED FROM MOUNTING SIDE =
(TOLERANCE 0.1) LOCATING LUG DETAIL
&
/{P
MOUNTING SURFACE x@x
33 2850 ¥
Se 1l SHAFT SHOWN IN
o T i S FULL C.C.W POSITION
b=/ “"l N
H o
o +0.2 & v %
6-@1.0 -0 L X—+-X @
+0.1 HOLES =
1.1-0
P.C.B MOUNTING DETAIL sion M
VIEWED FROM MOUNTING SIDE =
(TOLERANCE £0.1) LOCATING LUG DETAIL
o 11.3
2-1.8%"
oyt S
o ik
~ | | | :
1
S 123
3-01.09 %oe /| 5.0
“5) &
X X
11.3 =
ol = =3 Y
18102 q < SHAFT SHOWN IN
—-]‘ g FULL C.C.W POSITION
- == = o~
5 o
93 —6-9- +0.2 & Y il
< 5.0 \3-21.0-0 oy @
o
HOLES

P.C.B. MOUNTING DETAIL
VIEWED FROM MOUNTING SIDE
(TOLERANCE £0.1)

2+0.1

LOCATING LUG DETAIL

55



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9M2VBF-D 9M2V5BB-D 9M1PPSHB-B 9M1RSHB-B

Outline Drawing Features individual specifications

9M2VBF-D 45
+0.2 e=3 %x
35505 10:05 L 180 _ ==

— o
[ = g9 ) 2l @ Y
9.15 | B_MOX075 P "2 © 12.1:05_ o - == 5 3 @ SHAFT SHOWN IN
| 4 = 2 e 9 o FULL C.C.W POSITION
© ~ -~ o~
=1 N
e +0.2 ‘BI Y 0%
- S 50| \6-21.0"% X=X &3
g — HOLES
o g P.C.B MOUNTING DETAIL 2501 II
SHAFT SHOWN IN VIEWED FROM MOUNTING SIDE =t
CENTER POSITION  (TOLERANCE £0.1) LOCATING LUG DETAIL
9M2V5BB-D FULL C.C.W POSITION
12.1+0.5
35£05  10+0.5 15+0.5 11.3 02
2-1.8-0"
9.15 5.0 7 _I_‘—
. -+ Hh
o = =
- ] . _
— s ~
, 43
0 w0
~ B 123 123
1 \LM7XP0.75  \ 0.5C o .
w5 Reflrt || 0802 6-1.0 5 %hole 5.0
N
3.50.5 ™\ 520
Mounting Surface -
9M1 PPSHB B PUSHLOCK STROKE
PUSH STROKE °
22,05 29.0 S 95 o MOUNTING SURFACE o
A\ i
100 oo < ; 4.0 4.0 5.25 5.0 g v g
| 0 Cl B ]
™ © | @ X=X
g 8.0 co5 X X 31 °
9 | ﬁ_@g A CB 9-@1.0 7"
] RN B I ___Ea__ - , TOLES 20401
o o)
) f ™ L5_5, ~ g 1m2w3|l_“°l P.W.B MOUNTING DETAIL LOCATING LUG DETAIL
' H ' 7°0.75 g M TOLERANCES:0.1
.h - 2 SHAFT SHOWN IN
14 0.8 | 0.8402 i FULL C.C.wW POSITION
SWITCH R1
9M1RSHB-B L
13.3 B T1 MOUNTING SURFACE B
| T o 6.25 5.0 |
I 2 3 s
=) 1o < —9—— OFF ON 123
TUT T T8 X 3 +——o-— W) RY
=) © J i
c1.0 o K—* +Oj
= © 5-1.0-0°
M7x0.75 \KNURL 18 TEETH - HOLES Il
™)
SW R1 [ S E
0.8:0-2 P.C.B MOUNTING DETAIL
SHAFT SHOWN IN TOLERANCES#0.1 300°ROTATION SINGLE UNIT
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE~ WITH SWITCH S.P.S.T.12VDC 3A

56 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



V.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9M1MSHB-B 9MTMRSDHB-B 9M2RSHB-B

Outline Drawing

L
133 B T MOUNTING SURFACE P
T o . .
: Yol
i = @
’E\ o < 123
T8 X W (RY)

?
\c1 o
[}

7 \M7x0.75 \KNURL 18 TEETH 1 o {:l;
[sp]

SW  Ri 3 ' s E

0.8+02 0.940.1 P.C.B MOUNTING DETAIL
SHAFT SHOWN IN TOLERANCES:0.1 300°ROTATION SINGLE UNIT
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE  WITH SWITCH S.P.S.T.12VDC 3A
FULL C.C.W POSITION
18.3 L+0.5 95 50 . 6.25
B E 05 30° | Mounting Surface
. 0503 W
‘ I sw sTROKE o
©) 9 w
u I - _Jf © ‘
] e X /F Zix \ 7-91.0°
ARG i ® 8 & % - T Hole
@ <
1 ( Ll \_M7xP0.75 C

T T | £
&l oss0 || " s /\ 1%5

3.5

50 | 625 | 5.0 Code | 5 | Blank | 10 5 OFF_

9M2RSHB-B

L SHAFT SLOT IS OPTIONAL ANGLE

15.8 B T1 9.5
T Y MOUNTING SURFACE ) p
I B ' & 6.25 25 50 /
]

1.0

b

| 4.85

o x « OFF ON 123 123
g o P Tt W) R (RY)
E!, -+ - —0 O - —+
\ s G I AN S
M7x0.75 \KNURL 18 TEETH 0 +01 @
5 8-91.0-0 |
SW  R2 RI . HOLES s E
1. 08202 - P.C.B MOUNTING DETAIL

SHAFT SHOWN IN TOLERANCES+0.1 300°ROTATION DUAL UNIT
FULL C.C.W POSITION  VIEWED FROM MOUNTING SIDE WITH SWITCH S.P.S.T.12VDC 3A

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 57




R

TOP-UP INDUSTRY CORP.

F

http://www.top-up.com.tw

9MM2HLB-B

9MM3HLB-B

9MM4HLB-B

Outline Drawing

Features individual specifications

300° rotation,single unit

300° rotation,single unit

300°rotation,single unit

300°rotation,single unit

300°rotation,single unit

300°rotation,single unit

5.0, 50

5.0
b

Mounting Surface

O - —@- - —+ -~
'

25

\8-21.0 ¥ Hole

5.0, 5.0

i Mounting Surface

<
)

9-91.0%Y*Hole

i

25

)
PN N Lo
@,

5.0 2. 5.0

Mounting Surface

]

e

9-@1.0 9 Hole

A

]

]
w

_12.05 L+0.8 FULC.C.W POSITION
L1 Fl o L
= - S
= ' o
s 2l el | fg Wi
N &~ @ @ 2
R I N ) A | B el e = N ﬁ ~
Tl E’I UO7
o Tl
b Lwrxpo.7s o “ '
R2 R1] g
_|l_0.8#0.2 :
5.0| 5.0 0.80.1
Code | 5 | Blank | 10
B |5 7 |10
L0.8 FULL C.C.W POSITION
L1 F . 9\}5
- L $° o
S mARREL 7
= e @] 3
I M- \NEN
ﬁ ) u %
n L:ZM7XPO.75 ,[\0.5x45° \0.5x45° ol
() 0
R3\|R2 Rlﬁ *a P~
_|l.08102 ®
2.5 5.o| 5.0
Code | 5 | Blank | 10
B |5 7 |10
FULL C.C.W POSITION
L+0.8 Ee—
- 9.5
L1 F o
3 %8 Y30¢
P8+~ e =~
] IJ ] o NS %) 2
X~ ~1x
) 3
o b/ M7xP0.75 _\0.5x45 \0.5x45° _ot
ra{ral] r2{r ‘33 3
* _}|-0.820.2 S 0.820.1 ||,
2.5 5.0 |2. 5.0 v
5.0
Code | 5 | Blank | 10
B |5 7 |10
58 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




——

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

9MM6HB-B 9MM2RSHB-B

Outline Drawing

9MM6HB-B - ]
15.0 ©
0 =
B 5.0 F - 03 %
9, 1w ©
0 52 ASY
N S
R e R
1
” ” “ ” M7X0.75 Co.5
R6 R5R4 R3 R2RI1 0.8:0.2
- 0.9:0.1 Y
MOUNTING SURFACE
INNER,OUTER SHOWN IN
50 25 50 50 25 50 FULL C.C.W POSITION
] e i Y
o N
m]: P - 7 XX
N & N ~ ! | 0
+0.1 g i ©
18-71.0%9 < :
HOLES iy
P.C.B MOUNTING DETAIL 2 040.1
TOLERANCES #0.1
VIEWED FROM MOUNTING SIDE LOCATING LUG DETAIL
9MM2RSHB-B
18.3+1 L .
- v 60
B 12.0 F 8 99 o2 9.5
= 9%, 2| *o
I
4 <
e —— - — X ﬁi@“% x—o
7 k H
[5 s
—
M7X0.75 0.5 j e
NA
SW R2 R1 0.8+0.2 2 3
- 0.910.1 Y
MOUNTING SURFACE
6.5 5.0 5.0 INNER,OUTER SHOWN IN
| FULL C.C.W POSITION
V' \r'_'_L
o L 4 Y o
0 r T XX S
S, —-—-— ! [Se}
[ o
0.1
8-21.079 3]7
HOLES ’
Y
P.C.B MOUNTING DETAIL 2.040.1
TOLERANCES 0.1
VIEWED FROM MOUNTING SIDE LOCATING LUG DETAIL

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 59



60

V‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

11M Series Code Explanation

11IM 1 MS -20 F - S0K -OOO
TTTTTTTTTTTTT
1 2 3 11 12 14 15
1. Product Lines of 11M ( 11mm Metal Shaft Series)
2. Number of Unit: 1— Single Unit
3. Type of Switch: MS—"Momentary push type"
4. Swtich Travel (Drawing 1)
Code D E
ﬁg Switch Trg.vsel ﬁ Switch T;eg/el
Travel [ [—
ﬁ” \_mr+0.75 ﬁn N\ mr0.75
5. Horizontal Type (H) or Vertical Type (V)
6. Bushing Length : Blank- 7mm (Standard Type)
7. Type of Bushing ( Drawing 2 )

7

(With Screw) (Without Screw) 7
®) ®)
s 2| NB ]
(Standard) B \_M7#0.75 (Standard) 270
»U 08 ©) ©)
8. With Frame: "F"
. . -
9. Frame Size ( See Drawing 3) side -93 T (Drawing 3)
m il m
Code X z
10. Type of Terminal (Drawing 4)
P.C.B Type
% Horizontal Vertical
Y z S
Y 12 p 4.4 |
CTTER S Em: s :ﬁ
11. Shaft Length ( See Drawing 5) L (Drawing 5)
F
12. Type of Shaft ( See Drawing 5) ﬁ H—r
F-
13. Type of Taper Type SE
14. Resistance Value L | 26.8| 15 | 20 | 25
15. Serial No. F 10 S 10 | 10

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



)

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw
11M1HBFZ-B 11M1MSDHBFZ-B

Outline Drawing

1T1TM1HBFZ-B

MOUNTING SURFACE
L

11.7

54

R1 |_—_

T T =3-¢1 HOLES

Mounting Surface

10—/\/\/IV\/\/—O3
2

Circuit Diagram

©

SHAFT SHOW IN FULL
C.C.W POSITION

1T1TM1MSDHBFZ-B

MOUNTING SURFACE SWITCH TRAVEL 135
6.5 L 5 ~
. 1.8 ]‘_’[ o
of [ !
L7 - A A
= _{: ‘i’__l_“-iF _
% Y \
i © ___‘i__ S—5-p1 HOLES
i I N S P e O
L:l © o Mounting Surface
W \ @7 orM7x05 0 1 3
3.2 R0.2 max.
SHAFT SHOW IN FULL 2
Circuit Diagram

C.C.W POSITION

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

61



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

T1IM1VNBFX-D

T1TMTMSDVBFX-D

Outline Drawing
T1TM1VNBFX-D

MOUNTING SURFACE . 1.8
75.4/ L

Vo mk . i A m ]

P — 0l ©

0
\ 1 3

==g \ \@7 or M7X0.5 \CO.5

SHAFT SHOW IN FULL 2
R0.2 max. C.C.W POSITION

Circuit Diagram

1T1TMT1MSDVBFX-D

11.1
5
MOUNTING SURFACE
SWITCH TRAVEL
1.8 b

6.5 L -AFL | -

/ 0.5 .
3.5 {

W r—'tu{j F

© | 0

N | 1 | N~
1

gg 1'_2 3 .

t Lij\s—m HOLES
N \ \@7 or M7x0.5 V05

1 1 3
. 0.3 RO0.2 max.
SHAFT SHOW IN FULL
C.C.W POSITION

2

Circuit Diagram

Lol

ol

62

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M Series Code Explanation

12M 1 S H 67 GB A-A-20 K-A 10K - 1C - OJ0J[]
UH-UH INDUS ITR]Y COUH
1 2 3 4 6 7 8 9 10 11 12 13 14

-_—

. Product lines of 12M (12mm Size Metal Shaft)
2. Number of Unit

1— Single Unit
2— Dual Unit
3. Switch : Blank - Without Switch ( Standard Type ), S-With Switch
4. Horizontal (H) Type of Vertical (V) Type
5. Bushing Length : Blank-Standard ( See Drawing 1)
6. Type of Bushing
With Screw ( 37) ® 5|75
Other Type
B — - — - = S
1 , g (K)|75| 6 | 6
(Standard) N4 o el
_,]J | Bushing Code | 5B |BK |5BK
With Screw é ( Drawing 1)
J (B)
GB - = —i | Other Type
g B .
2 (Standard) i \u70.75 - © ®) 6.7
o e
7. Bushing Material : Blank-Zinc Alloy ( Standard type) , A- Aluminum Alloy

C-Copper Alloy , P-Plastic
8. Type of Terminal ( See Drawing 2 )

9. Shaft Length " L " ( See Drawing 2 )

10. Type of Shaft ( See Drawing 2)

11. Type of Taper ( See Taper Chart Page 220)

12. Resistance Value

13. Number of Clicks : ( Blank-None , 1C- Center Click )

14. Serial No.
A (Solder Lug Type) B (P.C.B Type)
m Single Unit Single Unit
2 3 L L
';) A _E (Drawing 2)
£ c __E_____ =l O 1 ==}
c X
m

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 63



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M Series Code Explanation

S e i s 1 1 O S il e S
1 2 3 4 6 7 8 9 10 11 12 13 14
Dual Unit Dual Unit
L
m
g 3 1
=g | HEIE
(@)] N
E 5 = 0 i
sz { o i
g |8 g
H 10 [12.5 (145
Terminal B B1 B2
B (P.C.B Type)
Single Unit Dual Unit
L L
0
e 1= @-—L—l-—-— =
0 A (Solder Lug Type) B (P.C.B Type) ( Drawing 2 )
3 = Single Unit Single Unit
e 9
s 5 L - L
2 I
£ £ | =)
R
m
Dual Unit
L
I
F - Type S - Type
1.5
S
: 1 & 3 |6
ks
(0]
S | L |15 120]2 | |15 |20 | 25
= T|6 |8 [12 L [15 | 20 | 25
M 1 2 4 F 7 12 | 12

64

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M1THLB-A 12M1THCB-] 12M1THLCBP-A 12M2HLB-L]

Outline Drawing Features individual specifications
1 2M1 HDB'A Eull C.C.;Vl:osition
10 L+0.5 30°+10;

s Pl
]

2

9 ] 3 s KJ o
Q —=1 2 @2.1§2Hole ~
T8 o
S| 0 ¥ N
M ™~ o \\%
_+\ . - 1 |2 g8 123
H M7XP0.75 \ 18 TEETH KNURL S5 _t ENENEN
m' H 3022920 T T T
= Lo Code| 5 |Blank — 75
8.5 - H1 5 7 9
75
Full C.C.W Position
10 L+0.5 @13
30°+107
H1 _F
75
| o2 1 12 13
3 L o3 ﬁ 3-@1.235“Hole
s 3 @ Mtg Surf °
g Surface
L8 \\
\_M7X0.75
’ '_" Code | B B1 123
3'10 Code 5 |Blank H 10 | 125
- H1 5 7

1 2M1 HDBP'A Full C.C.W Position

L+0.5 @13
H1 b 30°+109

10
7 T

@7.5

ans

2 = @K | NS
S kj -0 Hole ™~
=) '8 Y ., 2% T | o
\ . ™l N
- ol N, - 12
| \_M7X0.75 = IS S
0 02 VAN VAN
H' [1 3-@2.25 " Hole
1.0 Codel 5 |Blank .2 i
8.5 H1 5 7 hd
75
1 2M2 HDB-D Full C.C.W Position
sz [
12 L+0.5 @13
B - 2010 6-01.2%5 Hole 75

T

=)

1_| T
——‘»\ M7xo.7§ 18 TEETH KNURL
2|
—
R2j R 1.0 Codd 5 |[BlanK
5 5

H1 5 7

6.0,

Mtg Surface

123 123

L

AT LAN|

N H 10 | 125

g
[=}

@

I e ——

(&

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 65



R

1; TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M2HLCB-A 12M2SHLB-[] 12M1THGB-[] 12M1HGB-A

Outline Drawing Features individual specifications
12M2HB-A Full C.C.W Position
12 L+0.5 213 / 575
5 P 30°+109 :
FL - f\(
0 g =T ; (S ¢2-1$°'2Holekj’g 9
v ] 1§ \&y 0 D - 123 123
o = ) D60 woow
j M7X0.75 4 1 302,297 ho1e T
1.0 Codg 5 |Blank '

8.5
13.7

T
=
o
~
un lo

1 ZMZSHDB-D Full C.C.W Position
17.1 L+0.5 213 75
s 30°+10) 20109%Hole [ |

HL F D S S

ID:D_B? J - 6-01.292Hole b 3: /\ {'\'\“[’”‘j[} i\'\i}
:'f\m N - r2

0 OFF ON 123 123
¥ R1
'F' o 28 1]l
sw R2 R1 Codel 5 |Blank

45
@6.0°%,

M

LN

i
AT AN |

Mtg Surface SW

| H1 | 5 | 7 1.0 H | 10 |125
5 5 5 2.0
F T 7.5
- Full C.C.W Position
6.2 L+0.5 30°210°
7 P o5
J ' a° ﬁ 3-81.05%ole 7.5
_I § 1 2 3
e O w
- M 5
R\ urxos > TrpFe . Mtg Surface N 123
1.35 o
[¢2]
5.8 Codg B B1
H 10 | 125
12M1HGB-A 126
300
6.3 L+05 =<0 27532
7.0 /(
) (E 314
i == . ?K%ﬁ’ 9 /
= = ® P 7 N i = \\J 7
N
1 i 9. Ty
M7X0.75 75 /\\ slEe
= 12.2
1.5 +0.2
SHAFT SHOWN IN @2.0%0 300° ROTATION
FULL C.C.W POSITION SINGLE UNIT

66 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

T.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M2HGB-[] 12M2HGB-A 12M1SHGB-[] 12M2SHGB-[]

Outline Drawing Features individual specifications
1 ZMZHGB'D Full C.C.W Position
11.7 L+0.5 212.5
7 P 30°+10;
{53 6-01.0*Hole 75
ol -8 7, N,
] ] 0
L |1 | . 1 32 3%
] Ml “lz
- \ @ 123" 123
}F:( ;ﬂ]:t:l:i:}\MOﬁ Mg Surface w0 R1 R2
|| 135 o
55 | 58 Code B | Bl
H | 10 [125
1 ZMZHGB'A Full C.C.W Position
11.7 L+0.5 @12.5
] - . 30°+109 5
Iof | T8 {
M il n=l 2.2:3Hole ; { o
] = > B 123 123
N DO v
-4 - — M7X0.75
3-02.85 *Hole b

1.35

TR

1 2M1 SHGB-I:I Full C.C.W Position

12.4 L+0.5 @125
2 b . 0°+10
T o 13 2-@1.2+02 7
2 2.0 "Hole
?1.6 J | S f
+0.2
4n K 3-@1.0% " Hole

<
) | *&% - 1 2 |3 A\ ﬁ ?
M €l ° OFF ON 123
3 |_\__:F.a M7XP0.75 N Mtg Surface SwW R
J 1.35 H\”} L 7.5
0
o™
Lo 08 l”
4158 Codel B B1 2.0

155 H 10 | 125

12M2SHGB-J —

18 L+0.5 @12.5

[ 30°+109
7 p - Ty\/ 40.2
o3 2-91.2" 7
T 0_16 0 Hole|__.I
1.6 1 |:| J = —
uill il ‘ K 1 2 3y
= +0.2
L ] “&>j - 6-@1.0 5’ Hole o
M Sl L 1 |2 [3%
- e
= j#wS\mTEETH KNURL © OFFON 123 123
J o SW R1 R2
—] 1.35 ol Mtg Surface
o
75
0 0.8
4 | 55| 538 Cod¢ B | B1 2.0
21 H | 10 [ 125 75

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 67



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12M2NSHGB-BL] 12M1SHGB-A 12M2SHGB-A 12M2HGB-A(1)

Outline Drawing Features individual specifications
12M2NSHGB-B[] EuLeCW eosion,
18.2 L+0.5 ,i'ooily
0.5+0.1

2-31.2°9%Hole 7

6

*
|
L
L|_I_I_
[
|
| —
i
|
1
:
| —
1
1.051
I

] = 3 ezm(f_?: A\ 1 &l
[ J}ﬂ:qjlztﬁ_\_ R il IREREEEE
- ]

Mtg Surface
1.35 0.8

Code| B | Bl 2.0

1-0; = H |10 [125
12M1SHGB-A

Full C.C.W Position
12.4 L+0.5 2125

[ . 30°410
7 23
T 8 2-01.2%8Hole |——
21.6 \
3-@3.013*Hole ¢
d | — 2

o

5 |

1 3
AVAAVARN
J N M &%’? 3 NPANPANF/ drron s
— <
_'_]:tj:t‘_i M7X0.75 < kel e Mtg Surface SW R
1 1 1ss - ‘LIIJ— ‘Eg‘ 75
D) D) @
= 1.8 2
5 4.5 >8
15.5 7.5

1 ZMZSHGB'A Full C.C.W Position

18 L+0.5 @125

| = 30°£10°
7 P o2
WK | T °|§ % = 2.01.28%ole T
1.6 H [ - w02 —
r: il :¥: (§ . %f% f% ’
Iy ) =] %&%g 0 NPANPAN .
1k ] I N\ o 12 8w OFFON 123 123
._1:[(][ = %L. M7X0.75 < %#\/J ()()()m W Ri R2
1.35 ) @ Mtg Surface i_
1.0 T BT 7.5
| 55 | 45 21_'§
21 45
1 2M2HGB'A(1 ) Full C.C.W Position
11.7 L£05 p125
. S . 30°%10
- I o f 60308 Hoe [
| o R
1k S DD
s Sk BB R
ol 123 123
R b Ty woswel | | % o N
G .
&) @
55| 45 NN 5
2.8
7.5

68 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



I

V‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

12PR, 12PQ, 12MR Series Code Explanation

%TQW?YTFTTT'T”TK%DT@

1. Product Lines of 12PR, 12PQ, 12MR
( Snap-in Insulated Shaft , 12mm Size, 12PR and 12PQ Series)

( Metal Shaft, 12mm Size, 12MR Series)

2. Number of Unit:  1— Single Unit 2— Dual Unit
3. Horizontal (H) Type or Vertical (V) Type ( Drawing 3)
4. With Bushing (Only 12MR Series) (Drawing 2)
5. Type of Frame (See Drawing 1) (Drawing 1)
Horizontal Vertical
F - Type YF - Type F - Type NF - Type

6.5

o0 sonee| = | = | Ty | T
g RS o

125

6. Type of Terminal (See Drawing 3)
7. Shaft Length "L" (See Drawing 3)
'—n

8. Type of Type (See Drawing 3) B } I

a1
o

With Screw

9. Type of Taper (See Taper Chart Page 220) | (Standard) =\ X075
10. Resistance Value '

11. Number of Clicks : Blank - None, 1C -Center Click (Drawing 2)
12. Serial No. ( Drawing 3)
12PR Series
p(PcBY |_Jl&] __gm| B @PCcBY) ESJ] H ﬁ
Vertical Horizontal
Single Unit Dual Unit Single Unit Dual Unit
—
2.6 j =

To Be Continued

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 69



T

70

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PR, 12PQ, 12MR Series Code Explanation

( Drawing 3)
12MR Series
D (P.C.B Type)
L Dual Unit

Single Unit

Vertical i — —tﬁ
.35 °l°
12PQ Series
D (P.C.B Type) _J O B (P.C.B Type) H %
Vertical Horizontal
Single Unit Single Unit

3.5

40 TEETH
Model L |15]17 (20| 25| 30 | 41 Model L|10[12[15]| 20| 25| 36
12PR2VF-D | F [4.85| 7 |7|8] 12| 12 12PR1VE-D | F 485 7 |7]8| 12|12
12PQ1VNF-D| T | 5 7 (1212 12painFs LT |5 10 [ 12 | 12
12PQ1VF-D | T1 7 110 | 12| 12 T1 7 |10 (12| 12

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12mm SIZE SNAP-IN INSULATED SHAFT POTENTIOMETERS

Mechanical Characteristic

Total rotational angle

300°+5°

Rotational torque

20 ~ 200gf.cm

Detent position

Center detent only

Detent slip out force

Rotational torque + 30 ~ 100gf.cm

Shaft stopper strength = 4kgf.cm
Push& pull strength = 5kgf.cm
Shaft inclination = 0.35mm

Shaft wobble (mm p-p)

Within(0.7xL/20)mm p-p Max. L=Shaft Length

Electrical Characteristic

Total resistance & tolerance

5000 <R <1MQ : +20%, other : +30%

Resistance taper

Refer to Standard Resistance Taper

Power rating < 0.05W
Max. operating voltage 50V AC 20V DC
Rotational noise < 47 mV

Insulation resistance

> 100MQ at DC 250V

Withstanding voltage

1 minute at AC 250V

Tracking error

For volume control

Within 3dB at -40 ~ 0dB

(Stereo) For tone control Within 2dB at 50% position
Durability
Rotation life = 10,000 cycles(special : 100,000 cycles.)

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

71




e

V‘ TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

12PR1HF-B 12PR1VF2-D 12PR2HF-B 12PR2HEF-B

Outline Drawing
12PR1HF-B

L+0.5
3.4 F
- 1.8
4o T Igee o 75 3-81.0%5 *Hole
JL IEE oy
o D
S & IERERE] j
| AR
2 | _I_ 22092
w| | | :!: |20
A
4.5 |
6 | 45
1 2PR1 VF2'D Full C.C.W Position
L20.5 212.4
8.8 F 30°+5°,

95
26 ‘
T
45
0
0.

2651

10

1 2PR2HF'B L+0.5 BJJ.I_Q.IQSML&EH}M

10
J T
1
al
T
45
2678
O?
S
o
g° 2-2.8792
E N l
g
N
N
O =
2]
N Og ¥
—3
,I_L;
N
a5
"
e
Re

Li j gtk '
7o) ™ |
N 1 1
26 4
26 0.6

6 4.5 10
' 17

1 2PR2HEF'B . Full C.El.élv P?fiti?n

o124
10.2 F 0°559 .
’Iﬂ_ = 10.8
i s )
M o~ 0.2
- /ﬁ[ Q| 2-20%
IRy I .
=8 Y ’ 3
10 B <
B D » 6-20.8 0 %ole 12111121373 >
| -20.8%5' Fiole,
/ [ 2 123 123
L L 20892 || 6 o R2 RL
g W ~“’ 90‘
14 =
2.0 15 071 W |2 &
4.1 37 T ‘
1.3

72 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

1; TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PR2VF-D 12PR1H-B 12PR1VCF-D 12PR1HEF-B

Features individual specifications

o~
Nt 12.60.1
™~ +0.2
B 2.5-0
T

Outline Drawing
12PR2VF-D

2124

9.8

o | ] - ' ,.2, ' 6-2 1.0% i Q
. Y e A3ra
@01 230 s 'E

L 13.2
4.0£0.5 300° ROTATION

SHAFT SHOWN IN
FULL C.C.W POSITION P.C.B_ MOUNTING HOLES DETAIL DUAL UNIT

1 2PR1 H'B Eull C.C.W Position
6.3 L+0.5 T opa 7
F 30°+5°,
Poma (@) e
© : K 102 | | |
g - :FI— S-S b 3010, Hole | 75 |
I 1
I 173
75
1 2PR1 VCF-D Full C.C.W Position
34 F 30°+5
R3 R
L 7/[
dLL\T oes ﬁ S
| d= N
S| RLs A\ RO.25 993
) /] [T 3-21.0:9?Hole 75 123
LU IpAiRging)
9.5 75
12.5
12PR1HEF-B
L+0.5 N
10.2 F %
N
’Iﬂ_ N 10.8
N o 2-2.2%9
AT =S L—FF as
BRIl ST g
< I & 1] 2] 3| ~
= I I:'l‘ i 123
(— 20 g(p.zlr 7.5 [3-81.09 %101
N - 14

4.1[37
11.3

73

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



.

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12PQ1HYF-B 12PQ1VF-D 12PQ1HF-B 12PQ1VF-A

Outline Drawing Features individual specifications
12PQ1HYF-B
L+0.5
25 +0.2
75 _ 3-21.0%
] 0
9 - _éjh 123
p—— b h o |
[ H S go -'J M I
9 H +2 1_6+:8.2 —'—i—'
R 14.4 .
slE
P.C.B MOUNTING HOLES DETAIL 300° ROTATION
SHAFT SHOWN IN SINGLE UNIT
FULL C.C.W_POSITION
12PQ1VF-D
L+0.5
75
] 1256 o2
1.6 -0°
) | 1.6 123
g 653 : < " |
o A —E———1 9 8 - |
= ﬁj i N 39109 o VY.
[N | | .
/ S
— .Q.._Q)._
la5 75 12 3
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
12PQ1HF-B
L+0.5
25
75 _ 3.21.0%° $53
b |
R |
o = ., =)
9| ! 1687 !
N 14.4 S | E
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
1 2PQ1 VF'A 35 L+0.5 Full C.Cl.\é\.laPosition o
= ’—F oSy o 122
1N ?zl— N N
tg $ ] 1 — f -I- I‘I'
Lol I HEH T wof e BCJE 2-1.692 i t
- <t =L.0- ©
_ NPy :
—
3 - LN AN 123
N (N (N NNV
SEARSZIAS ) 3-03.0 2 Hote 7.5
1.81
4.5 et

7.5

74 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

T

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12MR1HBF-B

12MR2HBF-B

Outline Drawing

12MR1HBF-B

L+0.5

10
n_—
UA—

I

©
<

L\ M7xP0.75

NEl +| _|l_os
B
| 4.6]
6 45
12MR2HBF-B
L+0.5
1 5

]

10

»JLL

2.6

6 4.5

P \__M7xP0.75

| 0.8

El

AT

o

12MR2HBEF-B

10.2

L+0.5

5 F

L H

0.6C

N
15

AL\ M7xP0.75

0.8

{
0
9 )
[
o
al T
AN
2.0
4137
1.3

Full C.C.W Position

14

@12.4

30°+59

%
el

0.5

Full C.C.W Position

o |

7.5

=

15

212.4

~

30°+59

12MR2HBEF-B

0.5

0.6]

N
—F

Full C.C.W Position
15 /

@12.4

/

)

30°+59

b

)

|
m‘ o i il o o [
o
07| 2
6
10
14

@29

p

29

29

2
6-20.89% e /

6-20.829 %00 |2

Features individual specifications

)

11.8
3-31.0%92 e 15
| |
NG b
Y1 Y2 Y3 o
.  *
L|_I L|_I 123
do 22097
©
N
[V}
So 16.2
N 220597
Y22t e oy
I‘I‘I [
Ll L4
| |2' 3|3 f 1'2'3
R2

1
2l
6

10

A
Q| | 220w
i i
b
101 I jm

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

[N
N

HW"_h‘w

75



F

12MR1VBF-D

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12MR2VBF-D

Outline Drawing

Features individual specifications

- Full C.C.W Position
12MR1VBF-D , Lios o .
- co
50 9 @12.4 o
o ] 12.2
1.0 . +8 303520 N
| 8 |
1T | |_l_ 123
| o CIRCUIT
STt — It @ . 2-1.8'42 - =
o | -
2 | G 2.0 i
— =1 \M7XP0.75 ‘ =TT ] 301 0+o_2 7 1"$5_ 3 ™| © 1
o _ 0-0 .4
) 75 =
L3_‘l 0.8 o J‘L :"L Holes 3.7
: 75 -
4.6
Full C.C.W Position
1.0 o3 2’12-34 N 13.4
5.0, _F o %, “ o
[{e) !
| S [
o +0.2 o 12" 3 123
g —{——FF = : : L8 g R
R Q <~ 5 %% 2111233 CIRCUIT
: i 2.0
o | -
S = \M7XP0.75 ' 6-20.8'92 2.0
0.8 MATERIAL:COPPER ALLOY 2‘ i_u“u_l JLJLL HOLES 6.0 | —=—-
3.9 2.0 10.0 w|©
4.4 6.0 =
10.0

12mm SIZE METAL SHAFT POTENTIOMETERS

Mechanical Characteristics:

Total rotational angle

300°£10°

Rotational torque

2~20mN.m (20~204gf.cm)

Rotation stopper strength

0.3N.m (3kgf.cm)

Push pull strength

80N (8kgf) max.

Click torque

5~30mN.m (51~305gf.cm)

Electrical Characteristics:

Total resistance B:5KQ ~1KQother than B:5KQ ~5000Q
Total resistance tolerance +20% more than 1MQ%30%
Rated power B:0.08W other than B:0.04W
Max. operating voltage B:150 AC other than B:100 AC
Resistance taper A, B, C
R= 250KQ 0.1% max. of total resistance
Residual resistance 250KO>R>10K Q 2000 max.
10KO=R 1000 max.

Insulation resistance

More than 50MQ) at DC 500V

Gang error

-40dB to 0dB 3dB max.

Durability:

Rotational life

15,000 cycles

76

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




I

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

13M Series Code Explanation

1SM 1 V7 BM -D4A - 10 T - A 10K - 0O
rrrr-r b
1 2 3 4 5 6 7 8 9 10 11

1. Product lines of 13M (13mm Size Metal Shaft)
2. Number of Unit
1— Single Unit
3. Vertical (V) Type
4. Bushing Length : Blank-Standard ( See Drawing 1)

5. Type of Bushing ( Drawing 1)
Without Screw 3.0 .
(B) Bushing Length 1 3.0
B H (B)
(Standard) —] ]J_HJ—V
LD Bushing Code | 1B B
With Screw (Sﬁ) Bushing Length
| 55 | 5.0
MB I — (BM)
(Standard) - J{—u
i M6XP0.75 Bushing Code |5.5BM| BM

6. Type of Terminal ( See Drawing 2 )

( Drawing 2) ( Drawing 3)
D (P.C.B Type) =
F - Type g »
/U\ b I ©
2 il

i
&

T - Type

Code | DA |D1A|D3A|[D4A| D | D1 | D2 | D3
H 48|48|48(48|54|54|54|54
L [85/83(19.7/6.6 (85|20 | 10 |19.4

7. Shaft Length
8. Type of Shaft ( See Drawing 3)

9. Type of Taper (See Taper Chart Page 220)
10. Resistance Value

11. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 77



.

T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

13M1VB-DA 13M1V-D3A 13M1VBM-D4A 13M1V1BN-DA

Outline Drawing Features individual specifications
1 3M1 VB-DA 8.5+0.2 L+0.5 .
el 10 _[29-H 5.5 5 Q| S| 32109l
0.5 o3 03| @80l
p 2
/( j\ 8 | £ %
! In R, 4.8
-® e < AEE
Res 7z — |
K¢/Ez vk L] & p
48 ° 50| 2 220 2055
Q 123
13M1V-D3A 19.740.2 A .
213.0 sp_| j o o J G 3-@L09Hole
05 s
%

-@ AN
_rl
‘:<> @
- ZEE I
48
13M1VBM-D4A
6.60.2 15£0.5
@13.0
50_1.55 3-91.0 *"%?Hole
1.0 3
[ 05 50| i
[s2]
I B 1 24}3
' K ‘% R = 48
]

‘: h \.C0.5
<
© M6XP0.75

i

13M1V1BN-DA

0 8.5+0.5_, 7.1+0.5

213 o5
1.0 8.0
/( 3.5 1.0
o1 HE
_$, 7 1—
4.8 T - 50

78 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

2.9

uonisod M'O"D N4

2.9
@3.0%1

0.4

@5.090°



R

V‘ TOP-UP INDUSTRY CORP.

http [lwww.top-up.com.tw

100Q ,120Q, 16Q Series Code Explanation

];‘ZQl S -D-22 F-A 10K -O00 0
| TTT
1 2 3

|

10 11

1. Product Lines of 10Q ,12Q & 16Q( 10mm, 12mm, 16mm Size Molded Case Potentiometers )
2. Number of Unit (1 Single Unit)

3. Switch: S -With Switch, Blank -Without Switch
4. Horizontal (H) Type or Vertical (V) Type

5. With Pillar

6. Type of Terminal ( See Drawing 1)

7. Shaft Length "L" ( See Drawing 2 )

8

. Type of Shaft ( See Drawing 2) (Drawing 2)
10Q Series
R-Type F-Type S-Type
L 0.2 A L 0.2 A M1.7XP0.35 L +0.2 A
DEEP 3.5
1M IS R N
o Ol E‘ [a)]
| | | 2 ‘N
3.0
L A D L A D L A D
1.0~5.0 2.2 ?3.5 1.0~5.0 2.2 ?3.5 3.0~5.0 2.2 ?3.5
12Q Series
R-Type F-Type S-Type
L+0.1 A L+0.1 A M1.7XP0.35 L+0.1 A
DEEP 3.5
3 f’x 3 %‘ﬁé AN
[a) (& i E [a]
|1 W | | & SP
3.0
L A D L A D L A D
1.0~7.0 2.2 ?3.5 1.0~7.0 2.2 ?3.5 3.0~5.0 2.2 ?3.5
16Q Series (F - Type)
L+0.1 A M1.7XP0.35
r DEEP 3.5
D u
L S
L A D
1.0~5.0 2.4 4.0

9. Type of Taper ( See Taper Chart Page 220 )
10. Resistance value
11. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

79



N

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

Q

100Q ,12Q, 16Q Series Code Explanation
2

B s et R
1 2 3 4 5 6 7 8 9 10 11 )
( Drawing 1)
10Q Series
D (P.C.B Type)
210
6.4 1.6 4.6 L
0.7
R [
@ =
@3.0 ¥ ~ g
7 T N
08 | || ﬁ_‘ i
Code| D | D1| D2 0.8 S W)
W |46]46]43 6 6.2
H |6.2]/95]92 )
Horizontal Vertical
12Q Series
Without Switch With Switch Without Switch With Switch
A ( Solder Lug Type) B (P.C.B Type) D (P.C.B Type) D (P.C.B Type)

|

@12.4
=)

15 L 15 33 L
35
i (H) 33 (H) 7
% o ,_:J 5
| s = }
1.65 i - ;

=

e
6.2

5.1

6.5

(W)

5 Sz
3.6 ) 7.1

6| [Code]l D [ D1[ D2] D3 [ D4 |Codd D[D1[D2[D3[D4 | D5[ D6

7 H |15 [12.1]13.5[13.4[135 [ H [15[12.6(17[12.513.5[13.516.4
W [65]65] 7 | 65(6.75| w6765 9]6.6[6.75 7 |65

16Q Series

Without Switch With Switch Without Switch With Switch
A (' Solder Lug Type ) B (P.C.B Type) D (P.C.B Type) D (P.C.B Type)

21.8

21

5
115

o1 | s
] o3 | oo

22

5

80 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

10Q1VP-D 10Q1VP-D1 10Q1V-D1 10Q1VP-D2

11

)

e™g

] :

Outline Drawing Features individual specifications
10Q1VP-D =
1.6 4.6 L @ 107 Full c.c.W Position
0.7 & | I.L.I =)
iy ¢ &t
an S I
— _[é’l N | o
2 g g 2 3P
| © _’| s A 123
‘ 4.6 :
o
S 6.2 7T
=
2
20 46 L 3 __10° Full c.c.w Position
0.7 | & 6.4 o
- w

'S

0D
?
N
L
ZS :
p
010
—
-
00-G'egy

10Q1V-D1
10 4.6 L 3
. 07 | | G
PN Y j[ﬂ 61?
\\PY A et
8 ¢ E 1| °
° 0.8 4.9

1 0Q1 VP-D2 20, 43 24, 6.8
210 IS
84 0.7 B §+
e ] g
7PNz )
7/ < ] =+
o = =
8 N »~ lo § o
o ¢©$ 8
o8| || H 49| s
0.8
6 - 9.2

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 81



V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12Q1H-A 12Q1SH-A

12Q1V-D3 12Q1V-C
14 1

Outline Drawing
12Q1H-A

7o)

11 37 L+0.2

I
7
L4_|
|
=
9125

25 25° )
_ .03 &
3.7
3.3 L+0.2
41,
i
Q
VAN
- @
\ c
25¢ 25° —-03

13.4 L+0.1

Features individual specifications

%Oi
12 3

&

S| E
SHAFT SHOWN IN 230° ROTATION
FULL C.C.W POSITION SINGLE UNIT

£y
S
&

230° ROTATION
SINGLE UNIT
WITH SWITCH
S.P.S.T.12VDC.0.5 A

SHAFT SHOWN IN
FULL C.C.W POSITION

&41%)
[
4

8'S
13.4

o
\Tl
|

1.

;

;

|
T

12Q1V-C
Q s[5
3.5 |

i

123

~ +0.2 l \r
3-01.05 woe /| 8 |

230°__ M1.7XP0.35 6.7

13.4
2-1.0397
O
7.5

=
2-2.2:92 |

82 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12Q1V-J 12Q1SH-A(1) 12Q1SV-C1 12Q1V-C1

Outline Drawing
1ZQ1V'|:| L+0.1 ,,7.1%0.2 3.4

230°__ M1.7XP0.35

>

9
~))
.

¢ \j'Q g 2 ‘#
[ &
[$)]
2 9 ||
<M 24
2.5
7 Code| D D1
A | 15 [ 121
12Q1SH-A(1) &
230°__M17XP0.35 T
16 1.2+0.1_ 3.4, s, A N _’f ~ |
| 0% IS
-
O
SN 3 g Q 16
~ |00 - EAIN
© 2 S, % ?
Z 2| X _|25p3
- 25 OFF ON 123
sw R1
12Q1SV-C1
17.4 L+0.1 3.5
!\JN
2 o
S 170 4 =Y,
A\ AN\ N
N -t
o o || 7 OFF ON 123
% = sw Ri
% ﬂ 0.8 L4_

2.5
12Q1V-C1
17.6 1.2+0.1 , , 3.4 17.6
2-1.097
¥ Q
I N - 1
N ~ |0
> o1
123

3-91.08 %ok -

ég
1=
o
[ee]
> ]

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 83



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12Q1H-A(1) 12Q1H-A(2) 12Q1SV-D6 12Q1SH-B
Outline Drawing Features individual specifications
12Q1H-A(1)
17.6 34 jl+ Lj‘ w02
© ] . $ £
NS $ R — ~e 5‘1 f
~N|® 123
: ]
ZZSLI:ZSOX
12Q1H-A(2)

1.2+0.1 3.4

Rl
N~ A
é Y
o)
i AN}
=

=)
~ N
%
L
¥'8
L
g

12Q1SV-D6

16.4

2
MYAN\YZ
90
os || LI
8
12Q1SH-B
14 1.240.1 3.4i
f@ M % 3-81.29 %o
:jéw @ E a '
' o ] o 2-01.529? 0
() © JN = > 4 x;lj“ 0 Hol i .
/ 14 &
— 1.2
1
T8 - 1.65
4.2
6
7

84 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



B

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12Q1SH-B(1) 16Q1H-A 16Q1SH-A 16Q1V-D3

X

Outline Drawing Features individual specifications
12Q1SH-B(1)

230°__ M1.7XP0.35

- N%
2-31.5% %0k OFF ON 12 3

8 SW R1
135

A0
L+0.2 )
\ ¢ ;%) IS ;
© 123
|
S
L) 4€%7
W M1.7X0.35 S| E
DEEP 4.0
SHAFT SHOWN IN 260° ROTATION
FULL C.C.W POSITION SINGLE UNIT
+0.2

=N
216

SW 123
slE
ML1.7X0.35 260° ROTATION

l & N\
DEEP 4.0 SINGLE UNIT

B o o3 —
0 .3°/> SHAFT SHOWN IN g’ggf\l"gggm
FULL C.C.W POSITION S.PS.T12VDC.1A

5.5

16Q1V-D3

L+0.1 43, 5 3.5 M1.7XP0.35

[)4%]
e
|

H

2.5

9.5

85

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16Q1V-D1 16Q1SV-D2 16Q1SV-C

16Q1SV-D1

Outline Drawing Features individual specifications

1.2:0.1 ,,4.3, 3 M1.7XP0.35
17.2 I. _ o
g 17.2
°S | 2-1.0%2
9 4
[} ' [e¢]
s | ) 123
e,f 3-31.70 %0 /T —&—
NTES 2
2.5
9
+0.1
M1.7XP0.35
n
N
5 16.5
°S | 2-1.0%7
— )
~|oo
e g OFF ON 123
3-@1.475 “Hole / SwW R1
8.5
M1.7XP0.35
40°‘|
N
N7 R
Y 0 N 205
‘H;im ‘S_I 2-1.092
04 | T
— [ t @ [
©o |°© ©o |©
P 1 3 w OFF ON 1 2 3
l S-Ql.ofg'zHole 2 SwW R1
11 0.8
g o 24 10.3
@] 103
| L [1.2[3.0[6.07.2
22.5 L+0.1 , 43 o
i M1.7XP0.35 R
40°'| 5 22.5
S+
®) | 2-1.087? ‘
—H
) & Q L
1 o 3 A : .
~ oo lIJ
98 N ~ oo
Q 08 L — OFF ON 1 2 3
1125 23|3 3-01.08%0./ | g QY Rl
30°_|._30°

86

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16Q1VP-D1 16Q1H-B 16Q1SH-B 16Q1VP-D1(1)

Outline Drawing Features individual specifications
16Q1VP-D1

11 43 4
L+0.1

0.2
2'Q:I--ZTO Hole

1.0

11

| |
T
L% 1 | 123
2 0.8 L= M
+W_ 2.&& 533 o
T 3-31.0-0 Hole

T ot@

L
8
919
ke
I

30° _|-_30
16Q1H-B
218
21 1.2+¢0.1,,4.3 4 M1.7XP0.35
70 | "
& 21
2 2 - 5
ofids 1 = ‘E‘ S|, 2-21%
YUY 3 i
[6;]
- ]U =
! 123
& 1 3-31.5°9% 0 10
1.2 o I_
12| —H= 3
10 4.1
22 |44
16Q1SH-B
21.8
21 L+0.1

S€
9T1d
] N
EES = T

ST
€T

ON%

o

| FFE ON 12 3
SW R1

4.1
22
7.6
16Q1VP-D1(1) 14.3:015 4
7.1#0.15 8
1.7 1.0 'L—I
Il | RIS — %_
o~
g el :
8 - —1 12 3
5 3-31.029% 11016
2o
P I——5'3 il 281.2%02 0

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 87



N

2 TOP-UP INDUSTRY CORP.
' http://www.top-up.com.tw

16PR Series Code Explanation

16PR 1 H B DF LT-B -15 K-B 50K -1C - OO

QR-VPINDUSIRY ¢

11 12 13

1. Product Lines of 16PR ( 16mm Size Insulated Shaft Potentiometers )
2. Number of Unit: 1— Single Unit 2 — Dual Unit
3. Horizontal (H) Type or Vertical (V) Type (See Drawing 3)
4. Bushing Type
With Screw L With Screw !
B i i == | (Prawing 1
BN
fpiartandy 2 \M9*0.75 \M9*0.75
5. Type of Frame: "F", "DF", "EF", "GF" (See Drawing 2) (Drawing 2)
Horizontal| Vertical Horizontal Horizontal| Vertical Horizontal
F- DF- EF- GF-
Type Type Type Type
6. With Tap: LT -Left Tap
7. Type of Terminal (See Drawing 3)
8. Shaft Length (See Drawing 3)
9. Type of Shaft (See Drawing 3)
10. Type of Taper (See Taper Chart Page 220)
11. Resistance Value
12. Number of Clicks: Blank - None, 1C - Center Click
13. Serial No. (Drawing 3)
B (P.C.B Type) ? ﬁ D (P.C.B Type) [o] =]
With Bushing
Horizontal Vertical
Single Unit Dual Unit Single Unit Dual Unit

4

l—~—

To Be Continued

88 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



B

T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16PR Series Code Explanation

(Drawing 3)
Without Bushing
Horizontal Vertical
L
C (P.C.B Type) EL= B (P.C.B Type)
With Bushing Without Bushing
Vertical Horizontal
Dual Unit Single Unit
I
I
AT
F - Type
L L
T T
I C0.8 C0.8
K-Tyee | LS (@rd {-—- = 0D
= =
A8 TEETH 116 A8 TEETH 1X1.6
Model 16PR1HF-B
Size 16PR1H-B 16PR2HF-B 16PR1HDF-B
L 10|15 | 20 | 25 | 30 |18.5|23.6|28.5|33.5|38.5(13.6|18.6(23.6|28.6|33.6|18.8
F 7112121212 | 7 |12 12| 12|12 | 7 | 12| 12| 12|12 | 9
T 8|12 12|12 |12 | 8 | 12| 12| 1212 | 8 | 12| 12| 12|12
Model 16PR1VF-D 16PR1HBF-B 16PR1VBF-D
Size 16PR2VF-D 16PR2HBF-B 16PR2VBF-D 16PR2VB-C
L 20|25 | 30| 35 | 40 15 20 25 30
F 7112|1212 |12 8 12 12 12
T 8112|1212 |12 12 12 12

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 89



90

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16mm SIZE SNAP-IN INSULATED SHAFT POTENTIOMETERS

1. Mechanical Characteristics

Measured at the tip of the shaft

Total rotational angle 300 £5°
Rotational torque 20 ~ 200 gf -cm
Rotation stopper strength 6 kgf -cm
Push-pull strength 8 kgf -cm
Shaft inclination Within 0.35mm

Shaft wobble

0.7 XL/30mm P-P max. with 500 gf -cm

Bushing nut tighting strength

10 kgf -cm max.

2. Electrical Characteristics

Total resistance

5,10, 0, 50, 100, 200, 250, 500 (K )

Total resistance tolerance 120%

Resistance taper A B, C D, E K M N, W
Rated power 0.05W

Max. operating voltage 50V AC

Residual resistance
* For volume control

R= 30 KQ
300k() < R= 500k(

40Q) max.
0.1% max. to total resistance

Insulation resistance

100MQ) min. at 250V DC

Withstand voltage

300V AC

Gang error

For volume
-40dB to 0dB 3dB max.

For tone
20dB max. at 50% rotation angle

For volume control, measurement is made at max. attenuation and insertion loss.

3. Electrical Characteristics

Resistance range Maximum attenuation level Insertion loss
5kQ =R < 10kQ 60dB Min.
10kQ =R < 50kQ 70dB Min.
0.1dB Max.
50kQ =R < 100kQ 80dB Min.
100kQ =R 90dB Min.
4. Durability
Rotational life 15,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16PR1HBF-B 16PR2HBF-B 16PR1VBF-D 16PR2VBF-D

Outline Drawing Features individual specifications
16PR1HBF-B 8.3 L 03 90
2.0 o
MR
e
o i 123
o g J 216X4 5 5 3012
9 _Ui] 7 Nwv9x0.75 i/
< T '
: wliE 123 | S
3. 20 N X ! X
6.5 |5
8.5 SHAFT SHOWN IN 280°ROTATION
P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
16PR2HBF-B 8.3 L
2.0
© EJ“ 2-1.6X4 6-21.0
S - (2 11'2'3'3 m
w | . 444 211 2 3 3
25
S Tg] 7 _N\M9X0.75 '7—'5 ~
< | J !
3 § 12.5 |
o 20 e
6.5 |5 s tE
B SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
16PR1VBF-D
45 10 L .
2.0
15 2-2.5X3
123
_o E&_ :.__E_ "EH_"!_'_EI
- “ | 0
LO)! ' o 1
i N —
= 7 \M9X0.75 112 3 A
I e o |
5 3-21.2/| 5|5 S E
SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
16PR2VBF-D
15 2-2.5X3
0.3
- _ i
gt m
9 I . 0 211 2 3 3
R1.5/’E I Y
0 N 21112'3'3
o 7 olo-o ¢ !
w 6-31.0 T 2.5 _J____
4] L5 |
. 12.5 S ' E
SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 91



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16PR2VB-C 16PR1VF-D 16PR2VF-D 16PR1H-B

Outline Drawing

16PR2VB-C
o 211253
S 6-21.0/ [1[2s ? 3
@ - 7.5| |
—
12.5
SHAFT SHOWN IN P.C.B MOUNTING HOLES DETAIL  280°ROTATION
FULL C.C.W POSITION  TERMINAL HEIGHTS (H): 7mm,11mm. DUAL UNIT
16PR1VF-D
4.5 L
(8.9)
L]
N i
§ o Eft——— -
o I
P
—
_Is[
SHAFT SHOWN IN 280°ROTATION
FULL C.CW POSITION  P.C.B MOUNTING HOLES DETAIL ~ SINGLE UNIT
4.5 L
(8.9) 2-2.5X3 15
L
o I—--—
N o | | 0 2 '3
i 3
g 2111233
S HL 41040
6210/ ||| [25
E 7.5 |
4l 125 s E
SHAFT SHOWN IN 280°ROTATION

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

16PR1H-B

123

SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL ~ SINGLE UNIT

92 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16PR1HF-B 16PR2HF-B 16PR1HDF-B 16PR2VFLT-D

Outline Drawing

16PR1HF-B
8.3
o - -
2 b1 i_ 3012 5_5 2-1.6X4 S
J -\ t/ 123
@ H [H]
— =]
ﬂ 1 2 3 ©
T w | ¥ -
N
2.4 S ! E
3.8 |
|.6.5_|5.0 SHAET SHOWN IN 280°ROTATION
L FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
16PR2HF-B
8.3
6-@1.0 2-1.6X4
211233
W™ | [T
| {25 59
75 2 1 1 2 3 3
125
20 —) =
| S ! E
SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
16PR1HDF-B
3-@1.2 10 2.1.6X4 ; i ;
% 123
[HEEE g

16.5

2.5

N

o

l_w
o xTN
- T
mA\I/

|

SHAFT SHOWN IN 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

4.5

(8:9)

0T

™
125

@
¢ o

—& N
N
3]

[, Sy

2-2.5x3\ 15
« 3_-+- E m
; O
G4 2 1 1 2 3 3
7-21.0 i
s E

N
~
=
Y
o

SHAFT SHOWN IN . 280°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 93



" TOP-UP INDUSTRY CORP.

http /lwww.top-up.com.tw

16M Series Code Explanation
MD 16M 1 KS H 5 B P 9 F RT-B-20 K-B 50K-1C-000O
[RATRR RS

12 13 14 15 16 17 18

1. With Moter-Driven
2. Product Lines of 16M & 16P
16M— Metal Shaft, 16mm Size Series
16P — Insulated Shaft, 16mm Size Series
3. Number of Unit
1— Single Unit

2 — Dual Unit,,...... .
4. Type of Switch ( Drawing 1)
S AS BS
STOPPER PLATE LEAD TERMINAL

LEAD TERMINAL

LEAD TERMINAL

(sw)

LS

i

m_\
[y

f— 1 — 171

(sw)

(SW) (SW)(SwW) (sw)

5. Horizontal (H) Type or Veritical (V) Type
6. Bushing Length
7. Bushing Type (See Drawing 2)
8. Bushing Material : Blank -Zinc Alloy (Standard Type)
A -Aluminum Alloy , P -Plastic Alloy, C -Copper Alloy
9. Bushing Diameter ( Drawing 2)
1.4 6.5
5 | (®) B)| 7| 5|10 26
| — Other type
1| (With Screw) i J
>N M7:0.75 (D) M7*0.75 |M9*0.75
85 With Motor-Driven Series
NB | !
N 3 B
2 | (Without Screw T . l:: —
TN gos (with Screw) [ )
2 ' 2 Hl N\ wmrr075

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16M Series Code Explanation
MD 16M 1 KS H 5§ B P 9 F RT-B -20 K-B 50K-1C-O00
I e e R e e e
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 1

6 17 18

10. With Frame : "F"
11. With Tap

UT —Up Tap, RT — Right Tap
12. Type of Terminal

P.C.B Type
Horizontal Vertical

Code| B | B1/B2| B3| B4| B5| B6 S Code| D | D1|D2| D3| D4|D5|D6 |D7 [ D8 Code| D [D1 | D2 | D3 | D4|D5|D6
ingle
_fr2s| 822 [1asf 10 | 22 rag et e e alon) el el
P 35 35 35 40 40 40 35 P 5 5| 4 |45(45(35(34(85 P |5 4 3.5
Solder Lug Type P.C.B Type
Horizontal Vertical
A C

C3
Single|C00€| C |C1|C2|C3|C4| py
O Onit | H_[10.9/11.5] 13 [12.5
H [10.9/11.5 13 [11.7] 12 b 130120 20130
13. Shaft Length "L" (See Drawing 4) ( Drawing 3)

14. Type of Shaft (See Drawing 4)
15. Type of Taper (See Taper Chart Page 220)

16. Resistance Value

17. Number of Clicks : Blank -None
1C -Center Click 11C -11 Position Click

21C -21 Position Click 41C -41 Position Click
18. Serial No.

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 95



N

V‘ TOP-UP INDUSTRY CORP.

http [lwww.top-up.com.tw

16M Series Code Explanation
MD 16M 1 KS H 5 B F RT-B-20 K-B 50K-1C-0O00O

| \T\TIITTTTT”VTT\ ]

1 2 3 4 16 17 18
( Drawing 4)
KM - Type ( Zinc Alloy ) K - Type (Aluminum Alloy)
L L
B 1 B T
2 T °
= IR A S Ean
8 < CHEe==d
\18 TEETH M \18 TEETH
F - Type FD - Type
L L
B F 30° B F

\

ij]
(&
ij]
D

S - Type R - Type
L
L B
B
o
- o
—3 D i
PR | S —= © e
s ./
B:5m/m B:6.5m/m
Shaft-Type | L [10 |15 |20 [25 [30 |35 | 40 | Shaft-Type | L [10 [15 |20 |25 |30 | 35 |40
T1(35[65|11 |14 |14 (14 | 14 T1|24(65 |11 [14 [14 |14 [14
K T|32] 6 [10 [12 [12 |12 |12 K(M) T|22(6 [10 [12 [12 |12 |12
M|05(1 |2 |4 |4] 4|4 M|05(1 |2 |4 |4 |4 |4
F F 4|7 |12|14 [14 |14 |14 F F 257 |12 |14 [14 |14 |14
R.S L [10 [15 |20 |25 |30 |35 | 40 R.S L [10 |15 |20 |25 |30 |35 |40

96 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



)

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16mm SIZE METAL SHAFT POTENT IOMETERS

Mechanical Characteristic:

Total rotational angle

300°+5°

Rotational torque

20~200gf.cm

Detent position

Center detent or 11, 24, 41 position clicks

Detent slip out force

Rotational torque +30~100gf.cm

Shaft stopper strength

= Bkgf.cm

Shaft wobble(mm p-p)

Within (0.7XL/30)mm p-p Max.L=Shaft Length

Electrical Characteristic:

Total resistance & tolerance

5000 < R<AMC) : +20%, other : +30%

Resistance taper

Refer to Standard Resistance Taper

Power rating

Linear taper 0.2W; Other taper 0.1W

Max. operating voltage

Linear taper 200V; Other taper 150V

Rotational noise

=47mV

Insulation resistance

=100M() at DC 500V

Withstanding voltage

1 minute at AC 500V

) For volume control
Tracking error

Within 3dB at -40 ~ 0dB

(Stereo) For tone control

Within 2dB at 50% Position

Tracking error

(Multi gangs) For volume control

Within 3dB at -40~0dB
(Special= Within 1.5dB at -60 ~ 0dB)

Durability:

Rotational life

=10,000 cycles (special: 1,000K cycles)

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

97




I

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16mm SIZE ROTARY MOTOR-DRIVEN POTENTIOMETERS

Common Specifications
1. Mechanical Characteristics

Series (16mm size)

ltems Dual shaft

300+5°

Single shaft
300+3°

Total rotation angle
Rotational torque

30 to 250 gf . cm

Center detent Rotational torque + (30 to 300) gf.cm
Detent 11 detent _
torque 21 detent 100 to 500 —
31 detent gf. cm —_—
41 detent
Stop strength 9kgf . cm 6kgf . cm

Push pull strength 10kgf max.

The shaft wobble at the position of 5mm from the top when a load of a ¢f is
applied to said position after mounting the bushing shall be B mm P-P max.

98

Shaft wobble Shaft length (mm) 15 | 20 | 25 | 30 | 35 | 40 | 45
Thrust A (gf) 1000|670 | 500 | 400 | 340 | 290 | 250
Single and outer shafts B (mm P-P)|0.14| 0.2 |0.27|0.34| 0.4 |0.47|0.54
Inner shaft B (mm P-P) — | —|04]|05|06|07]| 08
Bushing nut tighting strength 12kgf max.
| No.of detents|Center-detent| 11 detents 21 detents | 31 detents 41 detents
Detent angle Angle 150+3° 302° 1543° 10£2° 7.5:2°
Both ends £3°
2. Electrical Characteristics
ltems Series 16mm size
Total resistance range(kQ) 1,5, 10, 20, 50, 100, 200, 250, 500, 1000, 2000
Total resistance tolerance +20%
Resistance taper A B,C, D, E, K, W, RD, M, N
Power rating B taper: 0.1W Other than B taper: 0.05W
Max_operating For AC use 150V AC
voltage For DC use *20V DC
For general residual resistance use 100 max.

Maximum attenuation level for volume
control

5kQ=R<10kQ 70dB min.

10kQ = R<50kQ 80dB min.
50kQ=R<100kQ 90dB min.
100kQ=R 100dB  min.

Insertion loss for volume control

0.1dB max.

For volume -40dB to 0dB 3dB max.
Gang error

For tone 2dB max. at 50% rotation angle
Slider noise 47mV max. according to JIS-C6443

Insulation resistance

100MQ min. at 500V DC

Withstand voltage

1 minute at 500V AC

3. Durabitity Characteristics

Rotational life

15,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




R

F

16M1HB-A

TOP-UP INDUSTRY CORP.

. http://www.top-up.com.tw

16M1HB-B

16M1VB-C

16M1VB-D

Outline Drawing

16M1HB-A

9.5

L+0.5

216.5
1
T

16M1HB-B

L+0.5

6.5

216.5
f
|
|

.}_._ ]

16M1VB-C

9.5

\M7X0.75

L+0.5

6.5

P &

=f

=

\M7X0.75

—

s

L+0.5

6.5

16M1VB-D
9.5
i

|

\M7X0.75

5 10.7

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

Features individual specifications

12
27597
78
’—“ 723
o |
!
23.09° s |E
5|5
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION SINGLE UNIT
217
18 _
12 e
3-21.2%0% 38
Iy Er*l
D J | 723
@ % H—i-
oot {1 |
; : 9 AR
! o !
3-1.0 ud s |E
5.5 |
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
12
i
i 723
()]
= ! 3-21.2'8% [
o l |
N o [ ) —
M |
5 |5 :
s |E
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B. MOUNTING HOLES DETAIL SINGLE UNIT
217
7.8
1.2 30“ -——-—--L-— _
pail |
o !
S ~ 3 | 723
! 3.091.2°3* |
© |
2 @& o 9—o— 4
5.5 |
slE
lLs_|_5

SHAFT SHOWN IN
FULL C.C.W POSITION

P.C.B MOUNTING HOLES DETAIL

300° ROTATION
SINGLE UNIT

ke



.

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16M1HB-B2 16M1VB-D1 16M1H5.5BCFA-B3 16M1VBF-D

Outline Drawing

16M1HB-B2
9.5 L+0.5
2 1.2
82 38
MZ_\ 1 123
) |
5 -+l S 3 |
® a ) i !
\ M7X0.75 4 : —@-—
|
6.5 S | E
300° ROTATION
13.8| SHAFT _SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
16M1VB-D1
95 ®17
7.8 _ 3pe
1.2 .
| 123
© / o
= = ° !
S !
co. o \ —-é | -}—
M7X0.75 o & g > g ‘:‘
+02/| 5| 5 i
391.2-0 S | E
5|5 300° ROTATION
SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
1 6M1 H5o5 BCFA'B3 Full C.C.W Position
18.5
13.5 L+0.5

30°+10°

=
L 47] 55 F °g
©o
NI
0.2
40130 Hole | 18
.u,_l
< +0.2 -
3-31.2-0 Hole 5 5
0
< h t | =~
B
1 Tz 3'T' I
©
b I T B BN
~ Mtg Surface L1 | [

123
16M1VBF-D = 017 y
7.8 300
e -5:5. 1.2 ﬁ}l s g B
g 3.8 2 N N
— i ;2¢3+-3'2 123
[{e]
r— 1L =% ¢ ™~ N L N |
— — S| p ; .
= & + ¢ i
© J. M7X0.75 o ‘@9 +02/| 5 5 - | 7
9 E_EH_E 30120 / s |k
LS_LL 5.].5 300° ROTATION

SHAFT SHOWN IN FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

100 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



.

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

1T6M1THBUT-A 16M1HBRT-B 16M1VBUT-C 16M1VBUT-D2

Outline Drawing

16MTHBUT-A
95 L105
6.5
w0
g L. g% il HI= = o |
s S —=
33.082 SiE
\M7X0.75
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION SINGLE UNIT
16M1HBRT-B B,
9.5 L+0.5 ; 1.2
6.5 -
2 i
1 4: .2
p o o T E
9 e e o g —tf—& |
s 5515 i
\M7X0.75 N
© SIE
™
SHAFT SHOWN IN 300° ROTATION
3.8 FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
16M1VBUT-C 217 102
7.8 30- 4915
95 L1005 12 S
6.5
— 2 o 78
2 f - =
NEES Jw g\ N
E ----- = 9 3 o) \‘hoz; +0.2 |
= — CACRCIEN & 03047130 |
\ s s ¢ ¢ 2k
M7X0.75 i
L 15 5.5 SIE
135 SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
16M1VBUT-D2 52—
R 30
1.2 B
9.5 L+0.5
6.5
2 0 +0.2
T o
)
2] [ I = S N | ———— '} |
s — 5 & & |
\M7x0.75 SN
515 SIE
5| 111 SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 101



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16M2HB-A 16M2HB-B 16M2VB-C 16M2VB-D

Outline Drawing
16M2HB'A 115 L+0.5

| | 217

i

0.2
12 738 07.5%

)

13.5

\M7X0.75 @& ° $3.070°
i

5.5
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION DUAL UNIT

16M2HB-B 115 . L:«05

=
2 MOUNTING SURFACE
3.8
B R = 4 b
[Te]
M7X0.75 0 !
- 29 &
Ls.lsel 621287 I
SHAFT SHOWN IN 300° ROTATION

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

16M2VB-C 115 Li0s

‘ 83087
601207 '
—d& 4
0| 1 1
. b
o 0| ' I |
= ' .
5] 27507 -
0 16 I
L SiE
5_|.5_
SHAFT SHOWN IN 300° ROTATION

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

16M2VB-D 2

5 111
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

102 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16M2VBF-D 16M2HBRT-B 16M4HB-B3 16M6HB-B3

Outline Drawing

16M2VBF-D
13.1 _
s 6.5
|. 2 123 123
3 JG - !
Yot
© ] !
-~ -+ 'l S | E
o — 515 5 | 5 | \621.2-0
N SHAFT SHOWN IN 300° ROTATION
: FULL C.C.W_POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT
16M2HBRT-B
15 L+05
| 6.5
|2
8012792 1234 1234
S
iE=F .
oS TTITEY |
M7X0.75 b-—bd—-& BV
5] 5|5 S | E
w0
|s | | 38 SHAFT SHOWN IN 300° ROTATION
FULL C.C.W _POSITION P.C.B MOUNTING HOLES DETAIL DUAL UNIT

16M4HB-B3
e T,
| /

16
L
1
1
|
1
|
1
|
1
T

SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL MULTI- GANGED

42.7 L 123 123 123 123 123 123
B F MOUNTING SURFACE
L 75 75 75 75 __75_38
© [ I [ I [ 1
5 = - B 4 — b —b——b—--0- !
bbb it s
| | | | | | | I T
S —— —— R — T — |
1801.2 S I E
SHAFT SHOWN IN HOLES 300° ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL MULTI— GANGED

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 103



R

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

16M1KSVB-D1 16M1KSVBP-D2

16M1KSHB-A

16M1KSHB-B3

Outline Drawing Features individual specifications

16M1KSHB-A
11.5 i%:
< 2:0.7X3.5 OFF ON 123
e
©l % [T} . l \
< s ~ :
T - © L
M7X0.75 ~ { ! }
= siE
SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
16M1KSHB-B3 .
115 L0.5 = Y 1
‘ 1.2 ' 2
; 361.50°2 3.8 f\? g }
] . "N”":r : OFF ON 123
© = i ©
- o9 ¢ i
5 o — - e
3-1.0 Y sS'E
5 |5
_I__ﬁ SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
16M1KSVB-D1 & 5.0.7X3.5
115 L0.5 7.8_ _3p-
6.5 1.2
2 / ©
‘ <
of S <~ g !
e jEY T M e
o 1 Eh S| © s'E
o M7X0.75 RS e
|5.]5.]
| 5|5
SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT
16M1KSVBP-D2
115 L+0.5 5-0.7X3.5
‘ 6.5 1.2
2 _
| I iy !
i = : yeoS
i — £ g T |
<1 © © S'E
o M7X0.75 -
Te] .
: HIHIH I
‘ 515 |5| 5]
SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL  SINGLE UNIT

104

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16P1KSVBP-D2 16M1SHB-A 16M1SHB-B3 16M1ASH7B-A

Outline Drawing

16P1KSVBP-D2
3.5 13.0 13.040.5 74 50832

o 6.3 3 1.2 :

o N - 0.5 § L@V J _

o \S24 29|

= H-m8E g S
el | B0 +1

— \cos

M7X0.75 =~

Wy DU

15.5
0.6
15.5
N
aiy
ml .
]
E’
\\
N

— o)
155 = x| SHAFT SHOWN IN
© 20150 Eh1| c.ow POSITION MOUNTING HOLES DETAIL ~ WASHER 1PCt=04
TERMINAL DETAIL
16M1SHB-A
115 L+0.5
‘ 6.5
» ) __{E&}
5.5 a';x
OFF ON 123
= G-
[P !
2 H
\M7X0.75 E}Q{: '—:—'
SiE
5.5
SHAFT SHOWN IN 300° ROTATION
FULL C.C.W POSITION SINGLE UNIT
16M1SHB'B3 11.5 L+0.5 ®17
6.5
2 1.2 ﬁ\—{%}
y
5 3.8 OFF ON 123
O] o]
- =K = + 4
[Ie)
\M7X0.75 , © :
= o i
- ._.+._. -
5-1.0 T 501287 !
5_13.8 5 S E
SHAFT SHOWN IN 300° ROTATION

FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

16M1ASH7B-A

20.9+1 L @0“‘03 LEAD TERMINAL  g1g+1 _ STOPPER PLATE
7.5+0.3
& F S 1.3 /Y
+ .
: 7
= R,
=l
G b
o 0
M7X0.75 \C1.0 2 60 0 2
5 dE]
1 2y 3
2.0 55| SHAFT SHOWN IN
" FULL C.C.W POSITION

NOTE: WITHSTAND VOLTAGE, DC 30V 3A

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 105



S ——

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16M1BSH7B-B 16M1LSH7BF-B3 16M1SH26B-A

Outline Drawing Features individual specifications

P\ T P - SHAFT7 ;ZL?; IS OPTIONAL ANGLE
20.9 L _1.0%0.2
1.5 LEAD TERMINAL ?16+1 LEAD TERMINAL
70 T 03 M ) )
1
° 2 MOUNTING SURFACE
7 — s XX X 3.8
- - .
\ g g -+
M7X0.75  \C1.0 p & @ o 2 of Vo
ASY Y T ~ -
ot
I Ot
2.0 1 2y 3 +0.2
5.0|5.0 \3% 1.2-0
15.0

NOTE: WITHSTAND VOLTAGE, DC 30V 3A

16M1LSH7BF-B3

KNURL 18 TEETH

25.2 T | ] SHAFTSLOTIS OPTIONAL ANGLE MOUNTING SURFACE
5 70 .o T/ 15202 2 35 4 410 38 /
© 1.0 Y
= —|_ /10 : ?% 4 S
o SR cSaa:
ol L SO (= ] x| & \ﬁ’ <
o - QIG, 7015 \3p12732
& \M7x0.75 HOLES HOLES
© SW CIRCUIT
i (LOOK FROM DIRECTION P.C.B MOUNTING DETAIL
I 2.0 NOT SHORT CIRCUIT ~ TOLERANCES 0.1
INDICATE PULL STATE)  VIEWED FROM MOUNTING SIDE
Full C.C.W Position
15 L+0.5
26.3 P g
o 13
T Sg z 29.5
- ©
) 3 £ y
- I | == T a d}_m 6/
T -— —_— OFF ON 12 3
- | o sSw R1
& M ( 2'_'
+0.2
3-@3.2 -0 Hole
| L | 41] 48]50F|
7.7
14.3

106 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

MMD16M1HBRT-B3 MMD16M2HBRT-B3 MD16M1HB-B3 MD16M2HB-B3

Outline Drawing Features individual specifications
MMD16M1HBRT-B3 MOUNTING SURFACE
SHAFT SLOT IS OPTIONAL ANGLE 0.2
KNURL 18 TEETH. 12__ 185 491.2.0
7.5:0.2 17 HOLES
(52.4) L
1.5 125 —218 38
35 23.2 14.41_ 11.6 7.0 0.3 4
B | |
3] = ! o)
& ° d N_' 2 o 1T o
. - V[N NS
i T S @ +0.2
o ?g =3 P e @ﬁd o 2-2.6X1.2 0
2 2 ot - SQUARE HOLES
- i © 1 23 4lU—' P.W.B MOUNTING DETAIL
1.0:0.15 TOLERANCES $0.1
— VIEWED FROM MOUNTING SIDE
MMD16M2HBRT-B3 MOUNTING SURFACE
SHAFT SLOT IS OPTIONAL ANGLE i 7
KNURL 18 TEETH N b5 881.2%0"
52.4 7.5:0.2 17 FIRLES /
(52.4) L 15 125 16.8:0.1 5 3.8
35 23.2 14.1_ 11.6|7. R jpar) /
# o | =
_ ' © I 7
n = )
i T b= @ 2-2.6x1.2*82
3 =) o
=] ©— *o foRege) - SQUARE HOLES
< — g u | — P.W.B MOUNTING DETAIL
R TOLERANCES 0.1
sl VIEWED FROM MOUNTING SIDE
MD16M1HB-B3 . MOUNTING SURFACE
SE ] 12_|_ 227
(48.35) L 1.540. 17
3.55 184 _ 151 _ 11.6 (7.0 o 03
F < S [to]
™) 3] e g ©| = 0
e 0 : e g N < 0|
i S -—t - ~
§ {‘_ PR | I - == oo 0| );ﬂ
- T2 3 N \ +0.2
- 2 Leee i 2-2,6X1.2-0
Hes 2 ] M7X0.75 \C1.0 s Uy S| SQUARE HOLES
B P4
R 20 —ll. 1.0:015 P.W.B MOUNTING DETAIL
MOTOR BACK VIEW SHAFT SHOWN IN TOLERANCES #0.1
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE
MD16M2HB-B3 &S MOUNTING SURFACE
& 12 227 6012732
(48.35) L 7.5:0.2 17 HOLES |
1.5 168 5 3.8
3.55 181 _ 151 _ 11.6|7.0 . 03 § /
Fl - § o
K ET 2 < ©| s o
S 0 < S % § N o o)
< 2 ~N
S B L N — S S o /s %
= ° )
M S 4 |Teee & \_2-26x1.2%8°
L S it M7X0.75 \C1.0 g 1E <] SQUARE HOLES
664 ~ < — 2'3
LT — 102015 P.W.B MOUNTING DETAIL
MOTOR BRCKR/IEW) SHAFT SHOWN IN TOLERANCES 0.1
FULL C.C.W POSITION VIEWED FROM MOUNTING SIDE

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 107



R

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

F
J

MD16M4HB-B3

MD16M6HB-B3

Outline Drawing

Features individual specifications

MD16M4HB-B3 SHAFT SLOT IS OPTIONAL ANGLE
63.25 L 12 22.7
7.5:0.2 17
3.55 18.1 15.1 26.5:2 7.0 1 Sg
T -
g .
o S
S| © ) ©|
~| Q E i a ~
<
3 — — e |
S g S—
& o]
B) )
= wao 75 \KNURL 18 TEETH 5 o @ 5 .
o L o Illl!ll
2.0 H—uﬂ m b ( S
R4 R3 R2 RI V23 hs0s
MOUNTING SURFACE
- 143 _ 75 75 7.5 38 / SHAFT SHOWN IN FULL C.C.W POSITIO
T
= | b-—— —-
o b bbb / o o
o T-_- R S te) IN @
N b — b i
+0.2 J(-’j

MD16M6HB-B3

2-2.6x1.2f8'2 12012 -0
SQUARE HOLES HOLES
P.W.B MOUNTING DETAIL
TOLERANCES 0.1
VIEWED FROM MOUNTING SIDE

(78.15)

3.55

41.4+2

?24.4

(1.9)

11.5

7.0

108

M7X0.75 \KNURL 18 TEETH

26.0

MOTOR BACK VIEW

SHAFT SLOT IS OPTIONAL ANGLE

2.0

R6 R5 R4 R3 R2 RI
MOUNTING SURFACE
- 143 ‘ 7.5 | 75_75_ 75_ 75_38
| bbb — b
. AR S SRS A VA
G b4
' ' ' ' ' ' fe)
; bbb — G0
+0.2 +0.2
\__2-2.6X1.2-0 8-91.2-0
SQUARE HOLES HOLES

P.W.B MOUNTING DETAIL
TOLERANCES #0.1
VIEWED FROM MOUNTING SIDE

| 12 22.7
7.5+0.2 17
1.5
0.3
29 . g
S
[s2] [(e]
s |E g -
0
Bles o3/ ¢
ll-:‘ull'lllllll
U T 2
A & 1.0+0.15

SHAFT SHOWN IN FULL C.C.W POSITION

18.2 206
o N
P | o
panN
4 g | R |
&1
. <
p6.4
MOTOR BACK VIEW

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




I

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17M Series Code Explanation

1I7M 1 S H[] B A[] F -B-20 K-B 50K -0O0O
[ e e e I s
1 2 3 4 5§ 6 7 8 9 10 11 12 13 14 15
1. Product Lines of 17M ( 17mm Size Metal Shaft Potentiometer )
2. Number of Unit: 1 — Single Unit
3. Switch Type : "S"
4. Horizonta(H) Type or Vertical(V) Type
5. Bushing Length: Blank -5mm (Standard Type)
6. Bushing Type (See Drawing 1)
5
; [
(Standard) % ( Drawing 1)
L \_M7*0.75
7. Bushing Material :  Blank -Znic Alloy , A -Aluminum Alloy
8. Bushing Diameter ( Standard M7)
9. With Frame : "F" ( Only without Switch Series )
10. Type of Terminal (See Drawing 3)
11. Shaft Length "L" (See Drawing 2)
12. Type of Shaft (See Drawing 2)
13. Type of Taper (See Taper Chart Page 220)
14. Resistance Value
15. Serial No. ( Drawing 2)
K- Type KM - Type
L NOT SPECIFIED L NOT SPECIFIED
B -1 SLOTTING ANGLE B - SLOTTING ANGLE
T .| -
e | e A
L =] G L —— 1%
\ M7%0.75 \ 18 TEETH \ M7*0.75 \18 TEETH

B: 5m/m
Shaft-Type L 10| 15| 20| 25

713565 11| 14

Shaft-Type L 15| 20

K T [32| 6|10 |12
05| 1 2| 4

KM T| 8|13

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 109



N

T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17M Series Code Explanation

( Drawing 2)
F - Type
L i;O;LNRGTﬁ'EGLE Flowing Drawing:
5 F FLOWING DRAWING | F(standard) FD FG FH
[ .
/ N\, ~ Z %
T O |5 D | ED
o © ([ ) \
L 5 @ @ %, %
\ M7*0.75

L 15 20 25
F-type
F 7 12 12
Type of Terminal ( Drawing 3)
Without Switch
Solder Lug Type P.C.B Type
Horizontal Vertical
F

F

o
I
o

T NUEaT ==t
: i 1t LR

Terminal-Type | A Terminal-Type| C [ C1| D | D1 | D2 | D3| D4
H 13.5 10 H 11111.5/10.5| 8.0 | 7.8 7.5
F 8| 8|12 [125|11.2 12.5
Terminal Detail
@ Terminal Detail@ m D [[] @ H}
With Switch
Solder Lug type P.C.B Type
Horizontal Vertical
L

]
NTT [
@!

ool | okl

O
@ ‘ »
I
[Te]
L oA

o\
4.7]
B1

4.7
Terminal-Type A B Terminal-Type| ¢ |C1| D | D1| D2 | D3| D4 | D5| D6| D7
L 20.5 20.5 L 21.5(22.1/20.5 16 |16.5(15.3[16.5|  [21.4/19.5
H 13.5 10 H 11 [11.5/10.5/7.8|7.8 | 7.8 |75 8.65/11.5
F(similar above) 8 |7.5(12.5(12.511.2[11.2[12.5| [12.7]155

T(similar above) 4 |[4.5

110

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17mm SIZE METAL SHAFT POTENTIOMETERS

Mechanical Characteristic:

Total rotational angle 260°+5°
Rotational torque 20 ~ 200gf.cm
Shaft stopper strength = 4kgf.cm

Shaft wobble (mm p-p)

Within (0.7xL/30)mm p-p Max.
L=Shaft Length

Switch working angle

40°£5°

Switch working torque

70~400gf.cm

Electrical Characteristic:

Total resistance & tolerance

500Q < R<1MQ : £20%, other : +£30%

Resistance taper

Refer to Standard Resistance Taper

Power rating

Linear taper 0.1W ; Other taper 0.05W

Max. operating voltage

Linear taper 200V ; Other taper 150V

Rotaional noise

=47mV

Insulation resistance

= 50MQ at DC 500V

Withstanding voltage

12VIDC, 1A

Switch power rating

1 minute at AC 500V

Switch contact resistance <100mQ
Durability:
Rotation life = 10,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

111



N

F

17M1HB-A

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17M1HB-B

17M1VB-C

17M1VB-D

Outline Drawing

17M1HB-A

17M1HB-B

10

4.7

17M1VB-D |
OTO
—{oldHo
1.5
2.5,
60°
112

0.4

Features individual specifications

‘ \M7X0.75

\M7X0.75

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

L+0.5 _ 7.5 500
‘ 04 [T T
7
Q0O
= o I
H w0
K
15 o g e
817

SHAFT SHOWN IN
FULL C.C.W POSITION

R

301 .4f8'2} Mjﬁ_

HOLES

123

S E
260°ROTATION
SINGLE UNIT

123

S E
260°ROTATION
SINGLE UNIT

15
I
217
SHAFT SHOWN IN
8.0 L+0.5
5 75
15 0.4 0
t__ D
= o @-
M7X0.75 i g
L

a|

8.0

1.2
2.4

®17
SHAFT SHOWN IN

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

123

s I E
260°ROTATION
SINGLE UNIT

7.5

0.4

?17

SHAFT SHOWN IN

260°ROTATION

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17M1SHB-A 17M1SHB-B 17M1SVB-C 17M1SVB-D

Outline Drawing Features individual specifications
17M1SHB-A
12 1%0.5 75 . $pe 7?; T
5 04 1
T SW 123
a
! & = Ay o
2 \ o i
- M7X0.75 o S| E
IR
03 1.5 3913 217 260° ROTATION
SINGLE UNIT
SHAFT SHOWN IN WITH SWITCH
FULL C.C.W POSITION S.P.S.T. 12VDC,1A
17M1SHB-B 12___ 1:05 & %ﬁz
205 =20 T
5 /
| 5_ 04 | X
n 4
47.%\ F? SW 123
{h & = | _EK SN MOUNTING SURFACE
4 S X
= oeded ; jJ F oo‘ N 391 4"_8'2\
R AR 1ze1e \ozs S HOLES "\ o
o ! S| E
25
4.7|4.7 03 1.5 517 4747 260° ROTATION
SINGLE UNIT
SHAFT SHOWN IN WITH SWITCH
FULL C.C.W POSITION  P.C.B MOUNTING HOLES DETAIL S.P.S.T. 12VDC,1A
17M1SVB-C 8 1205 _ 21 % }
5 75 AN
215 =2 5. 5po X
N - 04 - ‘sw® 55
V—A\ I
FOFO T
e he =€
3 = \M7X0.75 o f
&, T ML 1.2 S| E
4 2.4
60° — 217 260° ROTATION
SINGLE UNIT
SHAFT SHOWN IN WITH SWITCH
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL S.P.S.T. 12VDC,1A
17M1SVB-D
125 L£05 _ 75 —
2?.5 3 - 04 | i X g0 20.5 /
. oS .
04 | _@ Ve N +0.2 SW 123
e N Y _|. 2060
- ] e @
\2 LJ . S |
Ye) . [sp] TN
= S S Y @ . R
| I\ M7x0.75 . AR sl E
- »
1.5 [ 2 "7% '8 15 917 301732 1 >, 260° ROTATION
HOLES SINGLE UNIT
60t SHAFT SHOWN IN WITH SWITCH

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL S.P.S.T. 12VDC,1A

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 113



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

20MD, 22M, 24M, 24MJ, 24MD & 24P Series Code Explanation
24M 1 DS H[] B P - B-20 K-B 50K -0J00

TITIT T T EOT

4 13 14
1. Product Lines of 20MD, 22M, 24M, 24MJ, 24MD, 24P
20MD,22M,24M, 24MJ,24MD — Metal Shaft
24P — Insulated Shaft
2. Number of Unit: 1 Single Unit, 2  Dual Unit
3. Type of Switch ( Drawing 1)
S DS
S.PST 5.0 SPDT .,
; AX 38 @21 N A\@ s 21
© w 8_ =
& o /(5\4;[ o o A
3= lc X 3 le 15l
o O N

Horizontal (H) Type or Vertical (V) Type

Bushing Length : Blank - 6.5mm (Standard Type)

With Bushing (See Drawing 2)

Bushing Material: Blank -Zinc Alloy , A - Alumunum Alloy, P - Plastic Alloy
C - Copper Alloy

No oA

8. Bushing Diameter: Blank - M8 (Standard Type) , 9 - M9
With Screw 6.5 ( Drawing 2)
: e
(Standard) \ li R oz

9. Type of Terminal (See Drawing 3)

10. Shaft Length (See Drawing 4)

11. Type of Shaft (See Drawing 4)

12. Type of Taper (See Taper Chart Page 220)
13. Resistance Value

14. Serial No.

114 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



B

T‘ TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

20MD, 22M, 24M, 24MJ, 24MD & 24P Series Code Explanation

Type of Terminal ( Drawing 3)
Horizontal Vertical
Solder Lug Type (A) | P.C.B Type (B) P.C.B Type (C) P.C.B Type (D)
Terminal C D
-Type A
Terminal %P
Detail
Type of Shaft (Drawing 4)
K - Type R - Type S - Type
L NOT SPECIFIED L L
5.5 T1 SLOTTING ANGLE 6.5 65 15
T — -
T | © f\ T &) T _ 1 ©
L— 1 ° N L— S L 71°
M \K(KNURL 18 TEETH ) - -
Shaft-Type| L | 10| 15| 20| 25|30 |35 |40
T1|2.4|6.5/11 |14 |14 |14 |14 RdS = o s/ 20735 4750 B2 65
K Tl22| 6 [10]12]12|12|12
M|O5|1|2|4|4]|4]4
F - Type
F(Standard) FD FG FH
L
6.5 F SLOTING AN}GE ff\,\% | e%o
" L — 2 o, @
s 18 & =3 )
[ o L |10 |15 |20 | 25 | 30 | 35 | 40
F - Type
F|25| 7 |12 | 14 |14 | 14 | 14

Carbon Element Printed Circuit Style

No Printed Circuit Type

Printed Circuit A Type

Printed Circuit B Type

;é © ©

D
leid

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

115



)

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24M1SHB-A 24M1DSHB-A

24MJ1DSH10B9-A 24P1SVB-D

24P1DSVB-D

ot

8X0.75

o,

W

S.PS.T 5.0 S.PD.T 2.0,5.0
m_— X @2.1 LD_— 3.8
; A 5 A
1 s 5 ~ A5 5 R
uoi c o 3_ C V\Jﬂ
O ®
Mechanical characteristics:
Total rotational angle 300°+5°

Potational torque

2~20mN.m (20~200gf.cm)

Rotation stopper strength

0.6N.m(6kgf.cm)

Switch working angle 50°+10°

Electrical characteristics:

Total resistance 10KQ ~1MQ
+20%

Total resistance tolerance

(more than 1MQ £30%)

Rated power

Curve B:0.5W
Other than B:0.25W

Max. operating voltage

Curve B:500V
Other than B:250V

Resistance taper

A, B

Residual resistance

R= 250KQ 0.1% max. of total resistance

250KQ >R >10KQ

max.

10KQ =R 10Q max.

Insulation resistance

More than 100MQ at DC 500V

Withstand voltage

1 minute at AC 500V

Switch contact resistance

Less than 300MQ

Durability:

Rotational life

10,000 cycles

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

20MD1H10B9-A

20MD1H10BP9-A

22M1V7B10-D

22M1V7BP10-D

Outline Drawing
20MD1H10B9-A
L

10.5 10.0
0
1.0 8.5 $
Q
—_ [ N S | GR—— ﬁ‘
\M9x0.75 co5
4.5
20MD1H10BP9-A
10.5 10.0
Yol
1.0 8.5 g
Q
— PR N SN | Ga—— L g‘

4.5

22M1V7B10-D

\M9x0.75 €05

30.5
20.0
3.8
7.0 11.85
2.5
4_15 — 3
o B B
g — a =
\M
22M1V7BP10-D .
20.0
3.8
7.0 11.85
2.5
w BE———1— I
Q
= = e
M10x0.75

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

099

8.1 _

8.1

Features individual specifications

@:}

314
300° ROTATION
SINGLE UNIT

il

12 3
CIRCUIT

MODEL
SHAFT SHOWN IN 15F | 20F | 25F | 30F

FULL C.C.W POSITION L 15 | 20 | 25 | 30

| @

12 3
CIRCUIT

360° ROTATION
SINGLE UNIT

SHAFT SHOWN IN MODEL | 15F | 20F |25F | 30F

FULL C.C.W POSITION L 15 | 20 | 25 | 30

WASHER 1PC t=0.6

WASHER 1PC t=0.6

117



R

G TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24M1HB-A 24M1HB-B 24M1VB-C 24M1VB-D

Outline Drawing
24M1HB-A |, .

6.5, -
= 23
0| ©
= &
S - H - e e
Sy
M8X0.75
25
SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION SINGLE UNIT
12 30°
24M1HB-B _ns.__ L _ 2 e
6.5 _ — =
S
[Te} ©
ER | b
! o~
< 1 T
e == e B(()E i
] =
- M8X0.75 ‘ N
vl w
L @@@ N M
) 2.5 N| & 25 tf i
L I ()
3-1.5 i
05 20 15.4 s E
25 SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
24M1 VB'C CLEARANCE HOLE
115 L
6.5 _ 2-1.60.1
. o3
[Te} ©
= &
3 e [E
8
s M8X0.75 1
i 25 ’*T'”
g s E
SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT
o5
©
Ay
<
N
& T
\
=+
i
] s &
54
23.1 SHAFT SHOWN IN 300°ROTATION
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL SINGLE UNIT

118 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24M1HBP-A

24M1H11.7NBC-A

24M1H9.55BC3-A

24M1H10B9-A3

Outline Drawing

24M1HBP-A
15 L+0.5
6.5
112 I F oo
g L1
-
M8XP0.75
9.5
24M1H11.7NBC-A
11.1 L+0.5
11.7
ﬁ: 1.5 ®2
| 8
J | dre
8 J
5l 8
24M1H9.55BC3-A
11 L+0.5
9.55 _F ?E
12 ‘ $
I :
7=
1.0 |
2 2.5
3/8"-32NEF

24M1H10B9-A3

2.5

S.'0dX6N
250

541}
(e
|

4.5|| 0.5
10

11.5 L+l

The drawing and specification are for reference only. For further detail

5007
£00+5¢®

Features individual specifications

Full C.C.W Position
11.2 30410

+0.2
@2.8.0" Hole

+0.2
93.3.0 “ Hole

+02
3-04.2 5" Hole

25° 25°

R18

1.2 g0

]
Dx

+0.2
3-94.3.0 " Hole

I:?Jis 7T 4'018'3@

5:0.9 | |

A
2-23.3 -+(§)'2 Hole ~V -V

, please contact Top-Up head office.

123

A\
29.3 f'é)'2> ‘J S
D

A
3.5 f’d)'z/‘

Recommended
Pane Mounting Holes

=)

119



B

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24M1SHB-A

24M1DSHB-A

24P1SVB-D

24P1DSVB-D

Outline Drawing
24M1 S4I:IB-A

20.3 L

115 _| 6.5

®24
|

ﬂ__

24M1DSHB-A
4.5

.5 20.3 L

263 1

1—- | =
\M8X0.75
25

#6791

Features individual specifications

115 |65
= )
R R lh R =2
\M8X0.75
2.5
24P1SVB-D
4.5 20.3 L
6.5
[ee]
7‘ -
@ N D‘]E:_
< =
e I—“ \3/8"-32NEF
N I 2.5
24.3

BUSHING: 3/8"-32NEF ONLY

24P1DSVB-D
4.5 20.3

18.5

—
24.3

BUSHING: 3/8"-32NEF ONLY

2.5

120

3/8"-32NEF

3.8
CLEARANCE HOLE -
24+0.1 0‘%
2-1.6£0.1 e
N
SHAFT SHOWN IN
FULL C.C.W POSITION
CLEARANCE HOLE
2410.1 gj
‘ 2-1.6£0.1 %
N
SHAFT SHOWN IN
FULL C.C.W POSITION
5 2-1.0X3.2

[ e
31.0x22/ . . '
25° 25

SHAFT SHOWN IN
FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

8.5

SHAFT SHOWN IN

FULL C.C.W POSITION P.C.B MOUNTING HOLES DETAIL

®2.1

slE
300°ROTATION
SINGLE UNIT
WITH ROTARY SW.
S.P.S.T.125VAC.1A

SlE
300°ROTATION

SINGLE UNIT
WITH ROTARY SW.
S.P.D.T.125VAC.1A

2
%
7
/

SW 123

300°ROTATION
SINGLE UNIT
WITH ROTARY SW.
S.P.S.T.125VAC.1A

7
/
7
/

SW 123

;’|3
s E

300°ROTATION
SINGLE UNIT
WITH ROTARY SW.
S.P.D.T.125VAC.1A

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




N

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24P1PSHF-A 24P1PDSHF-A 24P1PSHNBF-A

24P1PDSHNBF-A

Outline Drawing
24P1PSHF-A

Features individual specifications

Full C.C.W Position

10.41+0.08 ) | 10.41#0.08
|
1.9 11.4 L+0.8 |
.42 9.4 ]
F10.4 j—\
N
:#;L /‘/"\\ A 2-1.57+0.08
__,J—
[l
4 | o) :
0 |t | 8
o
e I3
: g |2
o o
1.93X3.15(2) /U s | ow
SWITCH TERMINAL HOLES 20.5 SPDT
| L [259 | 238|184 125VAC 6A 123
| F |111|n1]| 8 R
24P1 PDSHF A 10.41+0.08 ! | 10.41#0.08
|
11.9 11.4 L40.8 m
N N
| 4.2 9.4 O ]
F£0.4 Zilm N W
2 N IS 2-1.57+0.08
o
[l
S |8 b g
® |t \< E [¢]
o I
w
z 2 2
o I+
1.93X3.15(3) /U 2 § SSF\,Aé,T
SWITCH TERMINAL HOLES 20.5 125;\}A(£6A 1 2 3
10.41+0.08 N 10.41+0.08
11.9 14.5 22.810.8 |
1 VAR
6 9.4 ]
~ 111104 . I \.l,/
Z\ E 2-1.57+0.08
\,> E
8 ' o E
© [0 ] i\/ o
s 2P
g /U 2 g ff o
f g o SPD.T
1.93X3.15(2) e & |& 125VAC 6A 123
SWITCH TERMINAL HOLES 20.5 R
10.41+0.08 | ) | 10.41+0.08
11.9 14.5 22.8+0.8 | ! |
3.1
9.4
16
11.1+0.4 ]
- 2 2-1.5740.08
o
s & il g
o [o (¢ =
_— ©
© s o e / o
3 © g ola »
(2]
=i 2 5 |2 aa |
1.93X3.15(3) 7.7 3 |2 &S & & 1 sw
SWITCH TERMINAL HOLES o 1 2 20.5 S.PD.T
125VAC 6A 12 3

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

121



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

24MJ1H10B9-A 24MJ2H10B9-A 24MJ1DSH10B9-A

Outline Drawing Features individual specifications
24MJ1H10B9-A

SHAFT SHOWN IN
L+13.7

FULL C.C.W.POSITION
L
10
2 15
< | — Jd N~ 7y TS
g B} _ = - %}
123
| C0.5 c0.3
R
r1/ © MOX0.75 R)
235 | |

24MJ2H10B9-A

27.4 L¥0-05
13.7 10 15
<
8 - i 1%
- 123 123
= = \M9X0.75 (R2) (R1)
(o]
13.7 2.35
24MJ1DSH10B9-A
6
5.3 19.3 | '
10 1.5 ]
<
’\..
- S g &
s ! N \ SW 123
N ™
Seh = \M9X0.75 10.8
[(e]
2.35
122

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T‘ TOP-UP INDUSTRY CORP.
‘ http://www.top-up.com.tw

24MD1H10B9-A 24MD1H10BP9-A

Outline Drawing Features individual specifications
24MD1H10B9-A

115 _|_10.0 Zo
2.0 &
[
8
|
T8t 1 S'E
| s 360° ROTATION 123
s SINGLE UNIT CIRCUIT
\M9x0.75
~—] n

M9x0.75

Lé i ql_ y _ O'
10 \ eb } N
N\ .

SHAFT SHOWN IN
FULL C.C.W POSITION

MODEL | 155 | 20s | 21S | 25S | 30S

t=2.0
L |15 |20 | 21|25 ]30 NUt 1PC
24MD1H10BP9-A
L
115 _|_ 100 Zo
2.0 3
8 |
[ ]
5 s E
| T 18 300° ROTATION 123
\ SINGLE UNIT CIRCUIT
| —
' [ M9x0.75
AN —
LS BTN} y \ o
10 \ /A
\ J —_— 1

MODEL SHAFT SHOWN IN
15S | 20S | 21S | 25S | 30S FULL C.C.W POSITION t=2.0
L 15 | 20 | 21 | 25 | 30 Nut 1PC

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 123



)

124

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

27TM Series Code Explanation

27M
BB

1

N —i
w — T
» —m

Horizontal(H) Typ
Type of Bushing

HwN PR

e

Product Lines of 27M
Number of Unit :1 — Single Unit

B (Standard)

7

AN

\ M8x0.75

5. Type of Terminal

B (P.C.B Type)

o

oS

(€]

L T

|

6. Shaft Length
7. Type of Shaft

2 — Dual Unit,

F- B
T T
7 8

-1C - LI

F - Type

S - Type

4.5

O

£} to

25

30

12

12

L |15

20

25

30

8. Type of Taper (See Taper Chart Page 220)

9. Resistance Value

10. Number of Clicks : Blank -None,

11. Serial No.

10 11

1C - Center Click , 41C - 41 Clicks

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

27M1HB-B 27M2HB-B

Outline Drawing Features individual specifications
27M1HB-B

Not specified slotting angle

27
15.3 25 10
7
) o 5_ Mounting surface
15 3-@1.2Holes ——-L,
[ | L
o ] — — ) (& ! o
ol g \NB) _43
| ) 0
\ \ 8 S o
M8x0.75 €05 o - Mounting Hole Dimensions
R1 2 1 2[] 3 ¥
— 1
27M2HB-B
Not specified slotting angle
) 25.3 20 27
| E—
_ 7
—
1.6 o 6-@1.2Holes
I‘Li‘i“l Mounting surface
o JEE © AR f S—-—b
N 7 ~+ \ YW | | 0
\ 8 o ("2 _e.p <1|3
— [Te]
\M8x0.75 €0.5 o = _€||9 9!3
RZL R1 2 1 2[] 3 < Mounting Hole Dimensions
1

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 125



T.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

JT Series Code Explanation

JT9 S -1P-B 10K C-11- P 10 - P -A-O GR-JJJ -
I e e A e e e e A e e e R
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

1. Product Lines of JT
2. Switch : Blank-Without Switch , S-With Switch

3. Code
4. Type of Taper (See Taper Chart Page 220)

5. Resistance Value

6. Resistance Tolerance Code

Code Blank b C
Resistance
Tolerance +20% +10% +15%

7.Carbon Angle

cArBON)

A A(CARBO/\/) A(CARBON)
A
M((:ARE%“)/ 2(CARBON) B(SILVER) ALCHREQPH A(CARBON)
T

O) (D) (O O [D) (O
ANGLE CODE. ANGLE CODE.| [ANGLE CODE. ANGLE CODE.
Al A1l NO. A| B | NO. Al B NO. Al c| NO.
g - 609 6° 1 60910°] 16 T ao
25° 6°| 36 28 NE Sed sl 17 35° 8°| 38
20°] 3°| 23 389 8°] 4 509 3°| 18 45° 5°| 28
509 6°| 5 45915°] 19 40°[12°] 31
o (<] 6 q o o [}
ANGLE| CODE. e e 42T 25
Al A2 NO. 3293°]_8 | [35]6°| 26 o e T 29
25° 6°| 37 53 8°[ 9 401 3°| 30
200 30 24 45O 50 10 470 30 32
s 301 6°] 11 | [701 6°| 33 20°] 257 287 307 32°[33.51
20° 0°] 21 509 8°| 12 | [2816° 34 T8 207 257 50° 53°
20°(40° 2 859 8° 13 359 8° 35 ANGLH 35°| 38°| 40°| 45
100 8°[ 14 | [3296°] 37 A | 607659 70°| 90°] 95°120°
80410°[ 15
147°1180°|300°

126 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



" TOP-UP INDUSTRY CORP.
http /lwww.top-up.com.tw

JT Series Code Explanation

JT9 S -1P-B 10K C-11- P 10 - P -A-O GR - -
L e e e R e e N 1
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

8. Lever Material ( Blank - Metal , P - Insulated , C - Copper)
9. Lever length ( Blank - 7.2)

10.Lever Type

A
Code M N P
0 0.02 0
o ( Metal Lever) A | 119703 1107503 1.15700s
B | 1.80:003| 1.80+0.03( 1.85%0;

11. Type of Terminal ( Blank - P.C.B , A- Solder, T - SMT)
12. VR Case Color: (O-Orange Y-Yellow B-Black G-Green)
13. Bottom Basic Color: (GR-Grey B-Black W-White)

14. Serial No.

15. Switch life , Stick Controller Life , Operating force of lever
A Switch life : 1—-100,000 Cycles ; 2-—500,000 Cycles
B Stick Controller Life : 1—1,000,000 Cycles ; 2—500,000 Cycles ; 3—100,000 Cycle

C Operating force of Lever : 1—160+40gf ( Standard ) ; 2—220+40gf ; 3—110+40gf

With Switch

Code  Blank B D F G
Al+B1+C1| A1+B3+C1l| A2+B2+C2| A1+B1+C2| A1+B2+C2

Without Switch

Code Blank B H

B1+C1 B3+C1 B1+C3

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 127




F

’ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

JT8PS-6.6T

JT8P-3.2T

7
®

1

Outline Drawing
JT8P-3.2T

Features individual specifications

6-21¢9" Hole

—m
_H s
I-. T 2-91.5%* Hole
) ( T D
/¢ ; , .
AN W] o 2 &,
K\ Z = o~ ]
) e ( ) bl
= S N el
3 pe— :
249, H | 525 [09]§ : ! oo
28191 L 54 3 R i
175
JT8PS-6.6T
8-919'Hole
i 2-@1.5%*Hole Pyt
) i o o TO e
\ o9 # ©|
A= ¢ = [ 9 e
\N2/ ‘o S LE | ~ “_jl
Y =5 - _
S
] [ 06 j " 8.6 <
—H— = 6 6 6_
7 - TRAVL 5 >
2401 [ L 168] 0.25% | 7525 | 0.0|§ T oo Ly
28.1%T [H13 ] L 54 3 E-togy Cagiec
175 2
205
.
(9.5) _,_ 11.0 3.740.3
! 3.0+0.3 B
16 d
9.5 | |l & 15.5 2
>h S 9 9
VR © 8 5
o i4 Py “Pbd o
= 7.8 A\ =
; x| eof | < 10 ﬁ/ @
« — ~ o o : 4026 o
| - 3 “"C” ] 123 123
2l z R2 R1
P 3 2 |2 |122:03 @ ®
> al <+ 4915
y 5l e 19.3+0.4
nl 2
x| >
203 37
16 5.0, By
95 aln || = 15.5 2
A el | 2 6-91.0 92 5
VR e !
| g1 VR] :% ?'
< oo o = ﬂ i
o = 2
=
x X 19| ©of ® </A& d i
=1 5 S @ % i
@ A " )
Oj : % 123 123
o o F 2 5 | o R2 R1
0 12.2+0.3 f
Y ol 5 <
L8 ol 19.440.4
1.2 =
x| >

128

The drawing and specification are for reference only.

For further detail, please contact Top-Up head office.



R

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

Outline Drawing
JT9-3

| g IVR2 § SV
o mo o , Z A
b _ 123 123
x 3 0| o @ = ’ = ! — R2 R1
@ [x E o 7 & Ol z ol A-A
> =] e] 12.240.3 = L
oo o |1:| 3| 5 ~ +0.2 |
e 19.450.4 42159
Y 111 al 8
1.2 el >
203
16 19+0.5 3.7
9.5 ko 15.5 2
Y, ala e 6-01.0 9?2 5
vRe o] & ~d
|+ = | S0 -
4 o | =T i © - —=
|
o 7~ \\Ei .
X 35 10| | ¥ < H— — = -@
A EE § N4 o 49]3 123 123
[ IJJ> ;li— o—L R2 R1
N Il
T i T ya — 9.
M 1.1 L3 g 4015792
o 12.2+0.3 < -
20.3
16 17.6+0.3
9.5 s 15.5 2
v ) B 6-01.0 5
. aln | AN
IFEEC a3 N 2
S _ b o
o oo o &
b VT
! -
) dd = lem L
_ Pl E g - == >4 - ¢ o & 123 123
Sk S 3%
ol | = f
o o F' L ) - D
= ————— - z 4-1.5%02 /
Y ™ | 7. ™) =
|
12 12.2+0.3 ~
37
203 13
16 o |
Ygf Ll - 15.5 2
(=]
i 5 k3 10-21.052
VR2 . ! i 3 10-91.05° | 5
- | A I =177 N i ol
o of o o 3 = <Y T =T
y; 2/ 22/ -5 © =
o) 2 o ;i\/
X H]Xg 4 5 he | )] 9l 8 2? '()_I'
g af %5l o EXS
N € . = b ] 123 123
o L=
° Sl Q| z 122403 b = h R2 R1
& o < D4-0.05
11 o £ 19.5+0.4 ©
Y & 8 +0.2
12 gl 4215
w a
x| >

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

129



R

F
J

JTOM

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

JTOMS-1

JTOMS-2

Outline Drawing

JTOM

16.7
(74 . 93 - 37
y Z0 3.0
130 s}
95 »%f &% a
w =—u | 2
28 010 = E
% &
< : C
a el N
A L
“ B —
] R <
3 / )
_ N
;_/ ]
=z
S = 3
5 (L) 11.0:0.3 ~
w
e H0.4
<0
= % I
= 3
o=
58
oo I~
%’
J \3 S -
i E = -
] W= 57l Ik
g
- A ’
o 9
B 8 I_
o =
g ]
4 6.1
o L 110403
s H+0.4
17 | L | 7.2 | 12 |
16.7
74 9.3 3.7
130 z3 30
95 gE -—I -
- £g | 3
T xa . niln <
[P q %’ :
]
B 0 of \ 3 ﬂ
x . & N :
o g 0 3 2
3 —F3
a | A &’ N )|
& By
3 g i 5
[ :] 72 | 12 8 3
4 6.1
SER 18.2 | 23 P ) 11.050.3
9.4 3
4 H0.4
JT9$'1 20.3 37
m 0-02 3
9.5 ala i
S 2
Y y / Ll T
R %ﬁ_‘:ﬂ
< —fi—
doo I "o Fx—4 N
3 AN o
< X | & % |
o O
@ ) )
= z(2 Ll:qﬁ-'l’
0 ! off El 2 3
= a2l o <
m_[' 111 S
© x 7.3
= B a
15 : ]
. RS gl > 12.240.3
94 4-0.7+0.1
112 10.4+0.4

130

6-1.0 Q2 5 8
Ne )
\P\\ h 4
4-01.2 +0.2
= | &
L ] 2
3
S
©
125 N
5 17 |37, o
10-1.0 ! § a e

v
T
|

-45 +

55
115
12.5 2
10-21.0 §2 5
4212 92 S~ &
P~ hd o
_ o
I-()-
T~ E
=1
<>—L S
n
<
I
6.5
155 N
5 17 |37 &

10-1.0

?i
T
|

-45 +

i

223 123
R2 R1

)
)

wo—LLW

iR
« l‘w
=

PN
N
N
[y

o

)
)

o

wo—, |

12 12
R2 R1
o
o
123 123
R2 R1

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

2 TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

Outline Drawing

JT9S-2
19:005

%t‘.ng
203 . . A-A a
16 1 apa 09| 3 k5
95 = — & 3
o N 1 [S]
x <+ NN ) 9 S S'ST z
f S ©| =1 IT'
VR <
| o . < \\?Iﬂ \ ! °
| o o) < T Ll TN - |
d O o == 7 9 I o
3 < /‘& = |
Y ;m | &) / //// ~ o
I R A N ] ' e
-
g = LIEIWE' . ,_(Hg_ 123 123
o o | of Of LLﬂErl_ - - o R2 R1
I = == o
=i 2k o 10
-% 101 g 73 F S - —|—— 2
x <) <
SW 8| 5|y 122w 5 o A
94 24.3:0.4 g 59
2
20.3 33;
16 ala ] =
(=]
9.5 | &
Y. L 01 0 | g
= VR N N
g o © O In _\4 il 2 ] °
b= > 4‘ T © 10-@1.0792
9 X 10| © 9| o /& T < -
= 2 9 ~ 4 - T = 7 X |
x o = Q y o o) o
> z ERE o9 - @
o o of » I_ - < 123 123
L O 1 5| 8 O == | P R2 R1
= _ a 2l —
S =l bk
e ol & 12.2:0.3 9
T > 19.4:0.4 — ® *
9.4 +02 b 3
11.2 4215 5 R o
<
6.5
JT9S-4 02"
20.3 3.7 d J 77K
18.4 13 ) %3 TR
16 adfn °f
9.5 = .
Yo . > 0.0 ! ; @405
VR?) X <
= | X AN ]
o = I : N = 155 2
< oo I o g . ——== ﬂ O - 10-@1.0%2 5
S — > — U
0| o & & él 3 - P9 =
X &i_axm' =5 @ © /\fé/ = ©
> ~ o = S ) 123 123
Bo o 8| _ T — N :[g._ R2 R1
RinaLin 5 & = g
= 3
\E B 8 E 5 12.2 ;2 °
M +
v = o - +0.2
9.4 SW E = 19.5:0.4 42150 <
>
1.2 65

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 131



132

’.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12P1P(R),16P1P(R),17P1P(R), 17M1P(R), 17M1X Series Code Explanation

1/P1P 10

TTTTTT ISR

1. Product Lines

5

V B-D

-19 F D-B 10K - 16C -0J0J0OJ

6

7

11

12 13

12P1P — 12mm Size Single Unit, Insulated Shaft With Dimmer SW.(Without Lock Push Type) Potentiometers
12P1R — 12mm Size Single Unit, Insulated Shaft With Dimmer SW.(Rotary Type) Potentiometers

16P1P — 16mm Size Single Unit, Insulated Shaft With Dimmer SW.(Without Lock Push Type) Potentiometers
16P1R — 16mm Size Single Unit, Insulated Shaft With Dimmer SW.(Rotary Type) Potentiometers

17P1P — 17mm Size Single Unit, Insulated Shaft With Dimmer SW.(Without Lock Push Type) Potentiometers
17P1R — 17mm Size Single Unit, Insulated Shaft With Dimmer SW.(Rotary Type) Potentiometers

17M1P— 17mm Size Single Unit, Metal Shaft With Dimmer SW.(Without Lock Push Type) Potentiometers
17M1R— 17mm Size Single Unit, Metal Shaft With Dimmer SW.(Rotary Type) Potentiometers

17M1X— 17mm Size Single Unit, Metal Shaft With Dimmer SW.(Without Lock Push Type) Potentiometers

2. Switch Rating

( Drawing 1)
12P1R, 16P1R, 17P1R, 17M1R 17P1P, 17M1P 17P1X, 17M1X
Code 4 10 10 2
Rating| 4A 250V A.C 10A 250V A.C 10A 250V A.C 2A 250V D.C
3. With Switch
4. Vertical Type "V " ; Horizontal Type "H"
5. Bushing Type ( Drawing 2)
B Bl
8 8
T I T I
s | Tum
M10*0.75 M10*1
6. Type of Terminal (See Drawing 5)
7. Shaft Length "L" (See Drawing 3)
8. Type of Shaft (See Drawing 3) ( Drawing 3)
Shaft -Type F (Insulated Shaft) R (Metal or Insulation Shaft)
L L
F % o
L S S B o S
e & =
Dimensions
L 19 17
L 15,5 | 17.75 19
F 8 8
FA Type: D=@6.35 RA Type: D=@36.0
9. Shaft Color ( Drawing 4)
Code B D L Y G A R w
Color Black |Dark Blue|Light Blue| Yellow | Green Ash Red White

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



"' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

12P1P(R),16P1P(R),17P1P(R), 17M1P(R), 17M1X Series Code Explanation

17P1P 10 V B-D-19 F D-B 10K - 16C -0
—TTTTTT ISHIRY ICOR]
5 6 11 12 13

10. Type of Taper (See Taper Chart Page 220)
11. Resistance Value

12. Number of Clicks: Blank- None, 16C- 16 Position Click

12P1R 16P1R 12P1P 16P1P
Vertical
P.C.B Terminal (D Type)
45,45 BI5575 55,55 15,75
. @ M | i JE | l@ - 2
= ﬁ._._iﬂ = ¢|_5“§j ° === 3.75¢ ¢|§.75 = ?_5-.5.?
17P1R , 17M1R 17P1P, 17M1P 17M1P
Vertical Vertical
P.C.B Terminal ( D Type) P.C.B Terminal ( D1 Type)
5.755.75 75 .75 75 .75
[ -$- = | .
= | j g ! S j = - ~
- T‘E""éjo - R R . 1
17P1R 17P1P 17M1P
Vertical Vertical Vertical
P.C.B Terminal ( DD Type) P.C.B Terminal ( DA Type) P.C.B Terminal ( DR Type)
5.75 5.75
& 5 1 75 .75 75 .75
- RSTEIR 1 e 1 1D
N 5 5T - i -~ teist
17M1X 17P1R
Vertical Horizontal

P.C.B Terminal (D2 Type) | P.C.B Terminal (B Type) |P.C.B Terminal (UB Type)|P.C.B Terminal (B Type)

i

75_175 C 75_ 715 125

o 15
12 § 4l = T RN o 0
~
) c pe @ 0|
o =
9

7.5
7.5
=

12.5
12.5

-
_[m

L8
_[m

Lo
L2

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 133



134

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17P1P Series, 17P1R Series Potentiometers

Mechanical Characteristics:

Total rotational angle 300°+5°
Shaft stopper strength 3.5Kgf.cm
Bushing mount strength 8Kgf.cm MIN.

Detent position

18°12° expt both end of 18°+6°(16 detents)

Detent torque

300 gf.cm MAX.

Electrical Characteristics:
Total resistance Nominal total resistance +20%
Power rating B taper:0.1W other:0.05W
Rated voltage 350V D.C
Resistance taper A, B, C, D, E, K, W, RD
Residual resistance 10Q0 MAX.
Slider noise 47mV MAX.

Insulation resistance

100MQ MIN. at DC 500V

Withstand voltage

1 minute at AC 500V between terminal and case

Durability:

| Rotational life

110,000 cycles

17PIP10SVB Series Switch Specifications

Mechanical Characteristics:

Switch operating method Push type
Switch contact arrangement SPDT
Switching stroke 3+£0.5mm
Switch operating force 2Kgf MAX.

Switch operating life

40,000 cycles

Electrical characteristics:

Switch rating

10A 250V A.C

Switch contact resistance

Initial:20m() MAX. at DC 5V 1A

Switch withstand voltage

A.C 1000V between terminals of open contacts for 1 minute

A.C 3000V between terminals and case for 1 minute

Switch insulation resistance

500M() MIN. at DC 500V

17P1RSVB Series Switch Specifications

Mechanical Characteristics:

Switch operating method

Rotary type

Switch contact arrangement

SPST

Switching angle

50°MAX.

Switch operating force

800 gf.cm MAX.

Switch operating life

40,000 cycles

Electrical Characteristics:

Switch rating

4A 250V A.C

Surge rating

20A (0.01sec)

Switch contact resistance

Initial:20m() MAX. at DC 5V 1A

Switch withstand voltage

A.C 1000V between terminals of open contacts for 1 minute

A.C 3000V between terminals and case for 1 minute

Switch insulation resistance

500M() MIN. at DC 500V

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




)

12P1R4SVB-

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

D 12P1P10SVB-D

12M1R4SVB-D

12M1P10SVB-D

Outline Drawing

12P1R4SVB-D

Features individual specifications

18.8 15.3 25
12.8 . [ AVE i4_5 " 1o, 4545
&y A e T e
- ™~ 7
A . 1 L= . N
TN ¢ T w : o
/| ]| J C e 7 =ttt w933
2832 NEF/ T - 3.75 |_ 375
< 3.75 3.75
SHAFT SHOWN IN o P.C.B. MOUNTING HOLE DETAIL
FULL C.C.W. POSITION
12P1P10SVB-D
&
18.8 15.3 s, 220
128 s s s |3 55 55 0% L
10
_l | 6
/ ] T ®
0 s1
© %% TE L w ﬁ’} R
AN s 0 gt ¢
© / / "~ 9 32 3.75 | 3.75
3/8"-32 NEF e ] t - : — s3 s2
< 375 | | 375 Switch o
SHAFT SHOWN IN S ' ' P.C.B. MOUNTING HOLE DETAIL
FULL C.C.W. POSITION
12M1R4SVB-D
19 153 <oy 45 45
12.8 80 s |3 4545 20, 45,4
4 | g B
f 0 @ + & | X T
= ~
ﬁﬁ _ bl N | 0 o SwW
1 & S—f — - T : 3 1z
0
° / g‘ oy 19" +
/ 1 - 30227375 | 375
THREAD M10X0.75 ‘
<| 375 3.75
SHAFT SHOWN IN S P.C.B. MOUNTING HOLE DETAIL
FULL C.C.W. POSITION
12M1P10SVB-D
6
SW Stroke 3.5 & 5.5, 5.5
12.8 5.5 55 G
19 15.3 S5, 5. N L
8.0 s |3, i a @
/ 0o —
10
e 5 - A
- ) T F+—- - 10 &/ o + @
0 S ~ o M | s3 s2
- - 3.75 3.75 Switch
*—l— ' ®
THREAD M10X0.75 / 875 | =45
SHAFT SHOWN IN ' P.C.B. MOUNTING HOLE DETAIL
FULL C.C.W. POSITION =
The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 135



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

16P1R4SVB-D 16P1P10SVB-D 16P1R4SVB-D3 16P1P10SVB-CD

Outline Drawing Features individual specifications
16P1R4SVB-D 68

M10X0.75

g

SHAFT SHOWN IN m [ .I = J P.C.B. MOUNTING HOLE DETAIL

FULL C.C.W. POSITION |LL| 025 4 11

5.75 5.75 10 5
16P1P10SVB-D o
=
‘S E M10X0.75
o — 75 75 Q
@“/“1‘.6 27 st

18.6
10

17

9.8

L -
° | /\
Q4 mm pe =L

o
T5 5 [ N\GE12
[ | ! —

SHAFT SHOWN IN i )
FULL C.C.W. POSITION L U 10 75 P.C.B. MOUNTING HOLE DETAIL

16P1R4SVB-D3

«,;?‘& 16.0
7 8.0 45 17.0 17.0:05 2923 25
py 2

IR

&/b\
I/6
8.0
2.2
il
|
26.35%0.05
12.5
2.2

1
|
¢ . | | ) SWo 123
\dj>:i:4:'h/ & \M10.0"1.0 1-—2(%)—-34;;
10.0 L e 10.0 3-n.2
SHAFT SHOWN IN R
FULL C.C.W POSITION
16P1P10SVB-CD
16.0
45 17.0 25.040.5
8.0 g
: %3
1 P .
N« M S Sz
— N 2 — /./ T
5 SWoo123

136 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



I

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17P1R4SVB-D

17P1P10SVB-D

17M1R4SVB-D

17M1P10SVB-D

Outline Drawing
17P1R4SVB-D

Features individual specifications

60°'OFF' POSITION
300°MECHANICAL
ROTATION.(CW)

1782 19 o ) 17
80 _  8FLAT| 33 8 AY/ £
o !
. : N$
— b T 4 g & /"\ w0
s Q o
6 = —_— ! y
o 3 S—-MET T X FX—]
E % T
s A\ i \THREAD M10X0.75 i -
x P 1
~ Y
= SEE NOTE 1 A B C
300°MECHANICAL
SW Stroke 3.5 ROTATION.(CW)
17782 19 . & 17
80_  gFlAT| 35 8A/E
+C'> Y
— 5 S,
5 - g W s
s o R o
I o D S
o I = —-HHer—-—H-—++4t xFq - Hox—]
[l ) H1S : —t
El X T 18
5 - = \0\_/ :
@ A } \THREAD M10X0.75 i -
x P +
= SEE NOTE 1 g’

17M1R4SVB-D

17*32 19
8.0

=

Qo 3
5« H | P =
o = — =T
= 2 K
pi = : \THREAD M10X0.75
< — i
hE SEE NOTE 1

By

17M1P10SVB-D

SW Stroke 3.5
1782 19
8.0
— =
o 3

I < H |2 B <
9 g -E-—-—:—c-—'—‘)'—fi' F s
[~ T
I =
0 Al —

g THREAD M10X0.75
Q éx U
- SEE NOTE 1

5.75 5.75
Y
! 8
S S
[Te) H
x—+-—-e—x -—o-
i j
o /,/'

|
- SWoo123
0137vp/ | 5 5_|

P. C. B PIERCING CENTRES
(COMPONENT SIDE)

S1
©
~

(=}
—

A C; s3 s2

8¢
vi Switch
81.3TYP/ | 5_|_5_| @]

P. C. B PIERCING CENTRES
(COMPONENT SIDE)

4

5.75 5.75
Y
s
¢ | |
[Te) H
x—+-—-e—x
! f
f=]

|

B C

e SW 123
2137ve/| 5|5

P. C. B PIERCING CENTRES
(COMPONENT  SIDE)

Q@
S1
te)
N
- X
=
A i c S3 S2
Switch
- witc ®

M
1251.3TYP/ 5_|.5

P. C. B PIERCING CENTRES
(COMPONENT SIDE)

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 137



F

17P1HB-A

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

17P1PRF20-10-6H

17P1R4SHB-B

17M1X2SVB-D2

Outline Drawing

17P1HB-A

60° START (CW)
300° MECHANICAL

17P1PRF20-10-6H

17P1R4SHB-B

17M1X2SVB-D2

7.5

ROTATION. 17.0
10.0 19.0 8 AIF
I 4 °
80 8FLAT| 33 N/ y/‘IY
S
2 Q ==
s 0
[ee]
1 = > N
| ==
— ~
=\ &
B THREAD.M10%0.75 !
- e JUTIT |
P |
7.45 @ o
2 A B C
MARK ON THIS SIDE 17
9.8 340.
Y
w
-
g & T o
& ! 0
- @
I
5 s
E - _
3 ==—-
© ©
E ! @
v
60° START (CW)
300° MECHANICAL
ROTATION. 17.0
20.0 19.0 8 AIF
" &
80 _ 8§ FLAT §§ & ST v
3 L
E SE
\ X X
— \% 9
— 3
— |
= | THREAD.M10*0.75 L.
W S s
5050
115 7.0 A B C
36.520.2 17
8
+0
17.2 8 04304
|
LT -
6 -

12.5

138

\ travel| 3
M10*0.75

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

Features individual specifications

NOTES: 1.ALL SOLDER PINS MUST BE

AT 90°+1° TO BASE

2.IDENTIFICATION COLOURS:-

10

BUSH- BLACK
SWITCH BODY-  BLACK
SYMBOL | SPINDLE COLOR
G GREEN
D DARK BLUE
7.5 7.5
Y
U
| )
N
X' l
X -—r—-b X'
Y
3613
HOLES
115 7
o
w0
o
w0
<
5615 :
HoLES  MOUNTING SURFACE
PCB.PIERCING CENTRES
(COMPONENT SIDE)
+0.1 /|C
: [t}
601.2-0 /, ~
i
15
0
| N
X ~ s3
A N S E

AN

-

S3

S1

Switch

SW

S1

Switch

S2

123




T.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

WW Series POT. Code Explanation

WW 24aM 1 H [ ] B - A -20 K-B 5K -0OC -O000O
T rerrorrrrrr

1 2 3 4 5 6 7 8 9 10 M 12 13

1. Product Lines of WW - Wire Wound Potentiomter

2. Series
22M — Metal Shaft, 22mm Size Series Wire Wound Potentiometer
24M — Metal Shaft, 24mm Size Series Wire Wound Potentiometer
28M— Metal Shaft, 28mm Size Series Wire Wound Potentiometer
40M — Metal Shaft, 40mm Size Series Wire Wound Potentiometer
50M — Metal Shaft, 50mm Size Series Wire Wound Potentiometer
60M — Metal Shaft, 60mm Size Series Wire Wound Potentiometer

3. Number of Unit : 1 - Single Unit, 2- Dual unit
4. Horizontal (H ) Type or Vertical (V) Type
5. Bushing Length
6. Bushing Type
Model WW24M Series| WW40M Series| WW50M Series | WW60M Series
7.7 - - - ' 8 -
l‘ (é) Standard ‘ zBo) " & ‘ _('\ (B)
B
(Standard) L % _____ ] L_ %‘ }%
“\M9X0.75 \.M9X0.75 ~\.M9X0.75 j \M9X0.75
other| L [16]19.5| 20 | 25 other| L [ 30| 33 other| L | 30 |40 other| L [16| 30
type| B[ 9 [10.5[ 12 |6.5 type | B|19 | 20 type| B| 20| 30 type| B[10| 19
7.7
c': ]_ (B) Standard
BL E—
15 ]— ;M9X0.75
D)
om0 100
7. Type of Terminal
Horizontal @ Horizontal %
A & A
(Solder Lug Type (Solder Lug Type —F
e

8. Shaft Length
9. Type of Shaft

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 139



T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

WW Series POT. Code Explanation

WW 24M 1 H [ ] B [] - A -20 K-B 5K -OC -OO0d
rrrrrrr ot
1 2 3 4 5 6 7 8 9 10 M 12 13 14
L
KM - Type ]:;J_G § K-Type | (I _II"&= T §

6.0

KT- Type %ﬁt §

=] —: =T
KMT - Type ];

I — g
S - Type SB- Type |
yp T I T I
L S L §
R - Type 7 S RB- Type S
L
F
F - Type e ==
11~ v ¥
F(standard) FD FG FH
30°
/'T\/\ 2.
(C.C.W) ) g Q o %o
€08 | s |as g
NGof_
FW FBW

600 ~ O
Q
c.w) ©
Q

10. Type of Taper (See Taper Chart Page 220)
11. Resistance Value

12. Number of Clicks : Blank - None
13. Serial No.

36.35

140 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



N

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

WW24M1H10.5BL-A WW40M1HB-A WW50M1HB-A WW60M1H10B-A

Outline Drawing
WW24M1H10.5BL-A 120 L

—
ol
i o
O
o Q
3 RESISTANCE RANGE 5Q0~5KQ
8 RESISTANCE TOIERANCE  +20%
RESISTANCE TAPER B
| E ROTATING ANGLE 300°5°
POWER RATING 5W
05 |
WW40M1HB-A —2& 16
10_(6)
RESISTANCE RANGE 5Q0~3KQ
| RESISTANCE TOIERANCE  +20%
‘E'_E;{_ ] RESISTANCE TAPER B
ROTATING ANGLE 300°+5°
18 POWER RATING 15W
——
M9X0.75
WW50M1HB-A
305 __ 16
10
RESISTANCE RANGE 50~50Q
A RESISTANCE TOIERANCE  +20%
T IE © RESISTANCE TAPER B
26 K18M ROTATING ANGLE 290°+5°
MIX0.75 POWER RATING 30W
WW60M1H10B-A
RESISTANCE RANGE 50~500)
RESISTANCE TOIERANCE  +20%
RESISTANCE TAPER B
ROTATING ANGLE 300°+5°
POWER RATING 50W

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 141



B

V" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

WW28M1HB-A WW40M2HB-A WW50M2HB-A WW60M2H10B-A

Outline Drawing

WW28M1HB-A
s |8 L [15]20[25
2+0.1 B|8[8]8 RESISTANCE RANGE 50~5K0
—I - RESISTANCE TOIERANCE  +20%
1.5 #1 a RESISTANCE TAPER B
1°® ROTATING ANGLE 300°+5°
B = R T POWER RATING 1.5W
\M9*0.75
T
WW40M2HB-A
46
RESISTANCE RANGE 50~3KQ
RESISTANCE TOIERANCE  +20%
RESISTANCE TAPER B
—H—= ROTATING ANGLE 300°+5°
POWER RATING 15W
48.5 16
10_ (6)
RESISTANCE RANGE 50~500
- RESISTANCE TOIERANCE  +20%
[ I R RESISTANCE TAPER B
ROTATING ANGLE 300°+5°
?6 K18M POWER RATING 50W
M9*0.75
m%a =J
WW60M2H10B-A
61 16
—[ 10 (6)
N RESISTANCE RANGE 50~50Q
{'_'_'_'_' RESISTANCE TOIERANCE  #20%
L ?6 K18M RESISTANCE TAPER B
[ M MS*0.75 ROTATING ANGLE 300°+5°
— POWER RATING 50W

142 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



T‘ TOP-UP INDUSTRY CORP.
. http://www.top-up.com.tw

WW22M1HB-A TP-WW3590S-2A

\
Outline Drawing
WW22M1HB-A 175 ) 20 .
\M10*0.75 _
10.0
TP-WW3590S-2A 25 $22.240.3
3/8" -32NEF
C0.5x45°

T ] 3590S-2
T ' 71 10K Q5%
1.0 ' 1 -

=]
o o =| «©
| L -3 T e
5 —[8.2:0.3 < !
2 |1 |3 |
3-0.3 8.9:0.4 '
1.5 9.4
5.1+0.4 5.1+0.4 12.2

The drawing and specification are for reference only. For further detail, please contact Top-Up head office. 143



R

V.' TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

8SL10AHF2-B T1SR1-T 28SR1V-B

Outline Drawing Features individual specifications
8SL10AHF2-B
10
38 3.6

v C0.3 6.0 :
== Travel \ E] ~

===

—
n
1 ™
= -] \
16 3-@1HOLES

0.3 P.W.B MOUNTING DETAIL
VIEWED FROM MOUNTING SIDE

........

o
o
Q

—1]

=Trencs
I | |
I IS S
X
14
15
8
4
|
10.7
1.8
| |

0.6

35
. ;T&HL

T1SR1-T

123
CIRCUIT

28SR1V-B

2.85

1 2 3
CIRCUIT

144 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



)

TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

15RS Series Position Sensor
Common Specifications

ltems Specifications
Total Resistance ( Q) 10K, 100K
Total Resistance Tolerance +30%
Rated Power (W) 0.15W @ 50°C
Linearity ( Absolute ) +3%
Taper Linear
Mechanical Life ( Without Load ) 100,000 Cycles
Operating Temperature Range ( °C) -40 ~ +85
Rotational Torque ( gf-cm) 100 Max.
Max Voltage DC 250V
Mechanical Angle 360° Endless
Electrical Angle 340° + 10°

Power Rating Curve :

o

T 100%

o

2 T5%

IS

o

® 35%

g s e

o |

a |

50°C 70°C 105°C

Reference Characteristic Curve
(%)

Ambient Temperature( °C)

100

90

80

ANSS

70

\\\ \\\

60

\\\\\\

50

40

30

\\\\\\

20

\\\\\\

10

TERM 1-3 Input Voltage

0

TERM 2-3 Output Volt
utput Voltage , 1.

OO

TERM.1

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.

Rotation Degree

TERM.3

145




T" TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

- I=
15RS-TU EC15-SMT
Position Sensor Encoder
Outline Drawing Features individual specifications
15RS-TU
@ 2 @ | 4.4 1.2
o] | 10] p” | Tl e
, A Tl . O - o
- p i |J'|_ = ¥
8 0 B ®
o] o] g | 0l
O 15 @ 445 12.540.05 12.5+0.1 ( Circuit Diagram )
P.C.B TERMINAL POSITION Viewed from direction A
EC15-SMT
© 2 © | 44 12 @25
0 o] M F al
) 7 il PR W -
S = - I g <
o] [0] é i M |
@ E || aase00s
15 12.5+0.05

P.C.B TERMINAL POSITION

EC15 Series Encoder

Common Specifications

ltems Specifications
Pulse 3
Number of Detent —_
Phase Difference ( mesc) =14
Chattering ( msec) =3
Insulation Resistance DC250V 100MQ MIN
Dielectric Strength 50V AC 1 min
Torque ( gf.cm) 40gf.cm MAX
Rotational Life ( Cycle) 15,000

146 The drawing and specification are for reference only. For further detail, please contact Top-Up head office.



R

T.‘ TOP-UP INDUSTRY CORP.

http://www.top-up.com.tw

TAPERS B SERIES TAPERS B WITH 50% TAP
100 — 100 —
>
90 /&0 o,@ 90 >, S
S/ /IS - 7AN
80 = $§’( 80 & [¥
5 /”’/“”w g / /
= 70 // = 70 //
8y 60 sly 60
EE EE
>S9 50 >89 50
= =
2|5 2|3
slz *° 7] sz *° /]
o o
o7 30 I 30
-3 / Z|E / /
=& 20 &/ =& 20 o
Gl ) (& %7 19 z| - 5/ 3
- 10 0,3 /& = 10 §§ Q$ w
%)
] 6]
0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
TERM. 1" ROTATION TRAVEL(%) —_ TERM. "3" TERM. 17 ROTATION TRAVEL(%) — TERM. "3”
TAPERS A SERIES TAPERS A & C WITH 50% TAP
100 100
90 90
80 80
: : \ /
o o
= 70 = 70
Wy // S| w
gy e R
3|5 8|3
>|Q 50 >|Q 50
= =
5|5 ] 5|5 /A
S 40 ole 40 <
2| Z2 oSz Y
5|z ] E 3
‘T ‘l_’ 30 ")QY \/ ‘(14 ‘I_' 30 {% l‘§
|3 Y \F & ”
S| w 20 PEER S| w 20
x|~ S N x| - S
w o 5\5‘9 e &
10 /(;‘;%\.34 10 ~
® C
¢ e | e “
] 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
TERM. "1 ROTATION TRAVEL(%) e TERM. *3" TERM, “1" ROTATION TRAVEL(%) —_— TERM. "3"
TAPERS C SERIES TAPER M & N
100 100 / \
90 ' ' 90
80 80
N pe pe / \
o o o
= 70 \\ S 2 70
gly 60 gle ¢lyeo
=Sl < sl 2| <
als \\ 51555
s|e 50 g1g 5|50 M N
55 N 55 2|3 / \
S 40 Pl e o)
8 Z \ 0 8 4 8 z
o7 30 B T | T30
& ;2-; \ %a ‘//5} ~— é’ o~ é’ / \
gle 2 o%o\ R
= o C(/?o = =
10 5 = 2 10
0 N\k& 0 / \
0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
TERM. "1" ROTATION TRAVEL(%) —_— TERM. "3" TERM. "1” ROTATION TRAVEL(%) —_— TERM. "3"

230

The drawing and specification are for reference only. For further detail, please contact Top-Up head office.




All rights reserved.



	VRCatalogue-封面
	VRCatalogue-浮水印
	VRCatalogue-1224-02
	VRCatalogue-1224

	VRCatalogue-封底



